

January 16, 2017

Charles Barnette
Purchasing Division
Department of Administration
2019 Washington Street, E
Charleston, WV 25303

Re: Solicitation No: SWC1700000008

1/19/17 13:30:00

Addendum 6 - Version 7 & Addendum Acknowledgement 1-6 with Revised Pricing Sheets

Hi Charles,

We have another addendum that came in again after our conversation. I did try to Fax it to your but it would not go through. We would appreciate it greatly if you would include this additional addendum and revised pricing in our bid binder which you have already received.

If you have any questions please feel free to contact me.

Thanks so much.

Regards,

Lucy Jarvis

Associate Marketing Manager

Sharp Electronics Corporation

100 Paragon Drive Montvale, NJ 07645

Phone: 201-529-6315

Email: jarvisl@sharpsec.com

01/17/17 08:46:54 WV Purchasing Division



Purchasing Divison 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

State of West Virginia Request for Quotation 28 — Office Equip.

Proc Folder: 275520

Doc Description: Addendum 6-Statewide Contract for Digital Copiers

Proc Type: Central Master Agreement

BID RECEIVING LOCATION

BID CLERK

DEPARTMENT OF ADMINISTRATION

PURCHASING DIVISION

2019 WASHINGTON ST E

CHARLESTON

WV

25305

VENDOR

US

Vendor Name, Address and Telephone Number:

Sharp Electronics Corporation

100 Paragon Drive

Montvale, NJ 07645

Contact: Nicki Calcagni Phone: 301-466-6219 Email: calcagnin@sharpsec.com

FOR INFORMATION CONTACT THE BUYER

Charles D Barnette (304) 558-2566

charles.d.barnette@wv.gov

Signature, X May Salew

FEIN# 13-1968872

DATE 1/13/17

ADDITIONAL INFORMAITON:

Addendum No. 6 -

- 1. Revised pricing prices attached to reflect the following changes:
- a. To revise the estimated quantity in the "Monthly Maintenance Charge Per Copier" column on through 7. See attached pricing pages.
 b. To revise the estimated quantity for the Purchase Monochrome Band 2 from 15 to 20.
 c. To revise the estimated quantity for the Purchase Monochrome Band 3 from 5 to 10.
 d. To revise the estimated quantity for the Purchase Monochrome Band 4 from 5 to 10.
 e. To revise the estimated quantity for the Purchase Monochrome Band 5 from 5 to 10.
 f. To revise the estimated quantity for the Purchase Monochrome Band 7 from 5 to 10.
 g. To revise the estimated quantity for the 24 Month Lease Monochrome Band 2 from 5 to 10.
 h. To revise the estimated quantity for the 36 Month Lease Monochrome Band 2 from 5 to 10. a. To revise the estimated quantity in the "Monthly Maintenance Charge Per Copier" column on Item No. 1 - Purchase - Monochrome for Bands 1

- 2. The bid opening has been extended from 01/17/2017 to 01/19/2017.

INVOICE TO		SHIP TO	
ALL STATE AGENCIE VARIOUS LOCATIONS	S S AS INDICATED BY ORDER	STATE OF WEST VII VARIOUS LOCATION	RGINIA NS AS INDICATED BY ORDER
No City	WV99999	No City	WV 99999
US		US	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
1	Statewide Contract for Digital Copiers	1.00000	LS		**

Comm Code	Manufacturer	Specification	Model #	
44101501		· · · · · · · · · · · · · · · · · · ·		

Extended Description:

Statewide Contract for Digital Copiers

SCHEDUL	E OF EVENTS		
Line	Event	Event Date	

Event Date **Deadline for Technical Questions** 2016-12-02

	Document Phase	Document Description	Page 3
SWC1700000008	Final	Addendum 6-Statewide Contract for Digital	of 3
		Copiers	

ADDITIONAL TERMS AND CONDITIONS

See attached document(s) for additional Terms and Conditions

ADDENDUM ACKNOWLEDGEMENT FORM SOLICITATION NO.: CRFQ SWC1700000008

Instructions: Please acknowledge receipt of all addenda issued with this solicitation by completing this addendum acknowledgment form. Check the box next to each addendum received and sign below. Failure to acknowledge addenda may result in bid disqualification.

Acknowledgment: I hereby acknowledge receipt of the following addenda and have made the necessary revisions to my proposal, plans and/or specification, etc.

Addendum Numbers Received:

(Check the box next to each addendum received)

[x]	Addendum No. 1	[x]	Addendum No. 6
[x]	Addendum No. 2]]	Addendum No. 7
[X]	Addendum No. 3]]	Addendum No. 8
[x]	Addendum No. 4	[]	Addendum No. 9
[x]	Addendum No. 5	[]	Addendum No. 10

I understand that failure to confirm the receipt of addenda may be cause for rejection of this bid. I further understand that that any verbal representation made or assumed to be made during any oral discussion held between Vendor's representatives and any state personnel is not binding. Only the information issued in writing and added to the specifications by an official addendum is binding.

Sharp Electronics Corporation

Company

Authorized Signature

1/13/17

Date

NOTE: This addendum acknowledgement should be submitted with the bid to expedite document processing

SOLICITATION NUMBER: CRFQ – SWC170000008 Addendum Number: 6

The purpose of this addendum is to modify the solicitation identified as CRFQ SWC1700000008 ("Solicitation") to reflect the change(s) identified and described below.

Applicable	Addendum	Category:
------------	----------	-----------

[X]	Modify bid opening date and time
[]	Modify specifications of product or service being sought
[]	Attachment of vendor questions and responses
[]	Attachment of pre-bid sign-in sheet
[]	Correction of error
۲X۱	Other

Description of Modification to Solicitation:

- 1. Revised pricing pages attached to reflect the following changes:
 - a. To revise the estimated quantity in the "Monthly Maintenance Charge Per Copier" column on Item No. 1 Purchase Monochrome for Bands 1 through 7.
 - b. To revise the estimated quantity for the Purchase Monochrome Band 2 from 15 to 20.
 - c. To revise the estimated quantity for the Purchase Monochrome Band 3 from 5 to 10.
 - d. To revise the estimated quantity for the Purchase Monochrome Band 4 from 5 to 10.
 - e. To revise the estimated quantity for the Purchase Monochrome Band 5 from 5 to 10.
 - f. To revise the estimated quantity for the Purchase Monochrome Band 7 from 5 to 10.
 - g. To revise the estimated quantity for the 24 Month Lease Monochrome Band 1 from 1 to 5.
 - h. To revise the estimated quantity for the 36 Month Lease Monochrome Band 2 from 5 to 10.
- 2. The bid opening has been extended from 01/17/2017 to 01/19/2017.

Additional Documentation: Documentation related to this Addendum (if any) has been included herewith as Attachment A and is specifically incorporated herein by reference.

Terms and Conditions:

- 1. All provisions of the Solicitation and other addenda not modified herein shall remain in full force and effect.
- 2. Vendor should acknowledge receipt of all addenda issued for this Solicitation by completing an Addendum Acknowledgment, a copy of which is included herewith. Failure to acknowledge addenda may result in bid disqualification. The addendum acknowledgement should be submitted with the bid to expedite document processing.

DIGCOP17 - Pricing Pages - Revised by Addendum No. 6

ltem No.	Order Type	Item Description	Brand Name of Item Bld	Model No. of Item Bld	Est. Quantity	Unit Price	Total Price				
1	Purchas e	Monochrome									
		Band 1									
		Copier	SHARP	MX-M266N	10	\$ 1,803.00	\$ 18,030.00				
	ì	Scanning	SHARP	INCLUDED	10	\$ -	\$ -				
		Network Printing	SHARP	INCLUDED	10	\$ -	\$ -				
		Fax	SHARP	MX -F X11	10	\$ 324.00	\$ 3,240.00				
		Monthly Maintenance Charge Per Copier (0-5,000 copies)	SHARP		360	\$ 21.50	\$ 7,740.00				
	ļ	Per Copy Maintenance Overage Charge (5,001 and up)	SHARP		18,000	\$ 0.01080	\$ 194.40				
		Total for Band 1					\$ 29,204.40				
					l						
		Band 2			<u> </u>						
		Copier	SHARP	MX-M266N SYSTEM	20	\$ 2,572.00	\$ 51,440.00				
		Scanning	SHARP	INCLUDED	20	\$ -	\$ -				
		Network Printing	SHARP	INCLUDED	20	\$ -	\$ -				
		Fax	SHARP	MX-FX11	20	\$ 324.00	\$ 6,480.00				
		Staple	SHARP	MX-FN26	20	\$ 520.00	\$ 10,400.00				
		Monthly Maintenance Charge Per Copier (0-15,000 copies)			720	\$ 25,00	\$ 18,000.00				
	ļ	Per Copy Maintenance Overage Charge (15,001 and up)			18,000	\$ 0.00630	\$ 113.40				
		Total for Band 2			·		\$ 86,433.4				
	1										
		Band 3									
		Copier	SHARP	MX-M316N SYSTEM	10	\$ 2,678.00	\$ 26,780.0				
	,	Scanning	SHARP	INCLUDED	10	\$ -	\$ -				
		Network Printing	SHARP	INCLUDED	10	\$ -	\$ -				
		Fax	SHARP	MX-FX11	10	\$ 324.00	\$ 3,240.0				
		Staple	SHARP	MX-FN26	10	\$ 520.00	\$ 5,200.0				
	1	Monthly Maintenance Charge Per Copler (0-30,000 copies)	SHARP		360	\$ 35.50	\$ 12,780.0				
		Per Copy Maintenance Overage Charge (30,001 and up)			18,000	\$ 0.00710	\$ 127.8				
		Total for Band 3					\$ 48,127.8				
				1		1	<u> </u>				
		Band 4		 	·	<u> </u>					
		Copler	SHARP	MX-M464N SYSTEM	10	\$ 3,963,00	\$ 39,630.0				
	1	Scanning	SHARP	INCLUDED	10	s -	\$ -				
		Network Printing	SHARP	INCLUDED	10	s	\$ -				
		Fax	SHARP	MX-FX11	10	\$ 324.00	\$ 3.240.0				
		Staple	SHARP	MX-FN17	10	\$ 520,00	\$ 5,200.0				
		Monthly Maintenance Charge Per Copier (0-45,000 copies)	SHARP		360	\$ 41,25					
		Per Copy Maintenance Overage Charge (45,001 and up)		+	18,000	\$ 0.00430	\$ 77.4				
		Total for Band 4				7 0.00430	\$ 62,997.4				
	1					I Utal IU Balio 4					

1	Purchase (cont.)	Monochrome						
		Band 5						
		Copier	SHARP	MX-M564N SYSTEM	10	\$ 4,281 00	\$	42,810.00
	Ì	Scanning	SHARP	INCLUDED	10	\$ -	\$	-
		Network Printing	SHARP	INCLUDED	10	\$ -	\$	-
		Fax	SHARP	MX-FX11	10	\$ 324,00	\$	3,240.00
		Staple	SHARP	MX-FN17	10	\$ 520.00	\$	5,200.00
		Monthly Maintenance Charge Per Copler (0-65,000 copies)	SHARP		360	\$ 73.00	\$	26,280.00
		Per Copy Maintenance Overage Charge (65,001 and up)			18,000	\$ 0.00440	\$	79.20
		Total for Band 5					\$	77,609.20
		Band 6						
		Copier	SHARP	MX-M654N SYSTEM	5	\$ 6,430.00	\$	32,150.00
		Scanning	SHARP	INCLUDED	5	\$ -	\$	-
		Network Printing	SHARP	INCLUDED	5	\$ -	\$	-
		Fax	SHARP	MX-FX11	5	\$ 324.00	\$	1,620.00
		Staple	SHARP	MX-FN17	5	\$ 520,00	\$	2,600.00
		Monthly Maintenance Charge Per Copier (0-80,000 copies)	SHARP		180	\$ 100.00	\$	18,000,00
		Per Copy Maintenance Overage Charge (80,001 and up)			18,000	\$ 0.00400	\$	72.00
1		Total for Band 6					\$	54,442.00
								-
		Band 7						
		Copier	SHARP	MX-M754N SYSTEM	10	\$ 6,961.00	\$	69,610.00
	1	Scanning	SHARP	INCLUDED	10	\$	\$	_
		Network Printing	SHARP	INCLUDED	10	\$	\$	
		Fax	SHARP	MX-FX11	10	\$ 324.00	\$	3,240.00
]		Staple	SHARP	MX-FN17	10	\$ 520.00	\$	5,200.00
1		Monthly Maintenance Charge Per Copier (0-150,000 copies)	SHARP		360	\$ 135.25	\$	48,690.00
		Per Copy Maintenance Overage Charge (150,001 and up)			18,000	\$ 0.00420	\$	75.60
		Total for Band 7		\$	126,815.60			
	Ì					T .	†	
				Total Purchase Price of	Monochrome Ba	nds 1 through 7	Ś	485,629.80

Item No.	Order Type	Item Description	Brand Name	Model No.	Est. Quantity	Ui	nit Price		Total Price
2	Purchase	Color							
		Band 1							
		Copier	SHARP	MX-C301W SYSTEM1	5	\$	1,828.00	\$	9,140.00
	Į.	Scanning	SHARP	INCLUDED	5	\$	-	\$	-
		Network Printing	SHARP	INCLUDED	5	\$	-	\$	
		Fax	SHARP	INCLUDED	5	\$	-	\$	-
		Per Copy Maintenance Charge (Color)	SHARP		72,000	\$	0.06000	\$	4,320.00
		Per Copy Maintenance Charge (Monochrome)	SHARP		144,000	\$	0.01500	\$	2,160.00
		Total for Band 1	<u> </u>	<u> </u>				Ś	15,620.00
								├ `	
		Band 2						 	
		Copier	SHARP	MX-C301W SYSTEM2	10	Ś	1,998.00	\$	19,980.00
		Scanning	SHARP	INCLUDED	10	\$	2,550.00	\$	13,300.00
	ı	Network Printing	SHARP	INCLUDED	10	\$		\$	
		Fax	SHARP	INCLUDED	10	\$		Ś	
		Staple	SHARP	n/a	10	۲		\$	
		Per Copy Maintenance Charge (Color)	SHARP	11/4	72,000	۱.	0.04000	\$	2,880.00
			SHARP	 		\$		-	<u>-</u>
	1	Per Copy Maintenance Charge (Monochrome)	SHARP	1	144,000	\$	0,00700	\$	1,008.00
		Total for Band 2		Τ		_		\$	23,868.00
				ļ		_		 -	
		Band 3				 			
		Copier	SHARP	MX-3050N SYSTEM	5	\$	4,056.00	\$	20,280.00
	1	Scanning	SHARP	INCLUDED	5	\$	-	\$	-
		Network Printing	SHARP	INCLUDED	5	\$	-	\$	
		Fax	SHARP	MX-FX15	5	/\$	324.00	\$	1,620.00
		Staple	SHARP	MX-FN27	5	\$	573.00	\$	2,865.00
		Per Copy Maintenance Charge (Color)	SHARP		72,000	\$	0.04000	\$	2,880.00
	1	Per Copy Maintenance Charge (Monochrome)			144,000	\$	0.00700	\$	1,008.00
		Total for Band 3	<u> </u>					\$	28,653.00
								<u>L</u> ,	
	ì	Band 4							
		Copier	SHARP	MX-4050N SYSTEM	10	\$	5,118.00	\$	51,180.00
		Scanning	SHARP	INCLUDED	10	\$	-	\$	-
		Network Printing	SHARP	INCLUDED	10	\$	-	\$	-
		Fax	SHARP	MX-FX15	10	\$	324.00	\$	3,240.00
		Staple	SHARP	MX-FN27	10	\$	573.00	\$	5,730.00
		Per Copy Maintenance Charge (Color)	SHARP		72,000	\$	0.04000	\$	2,880.00
		Per Copy Maintenance Charge (Monochrome)	SHARP		144,000	\$	0.00700	\$	1,008.00
		Total for Band 4		•	-			\$	64,038.00
						L^-		Ė	
				Total F	urchase Price of	Colo	Bands 1-4	\$	132,179.00

item No.		Description	Brand Name	Madel No.	Est. Quantity	Unit Price Per Month	Total Price Per Month (including Maintenance)
3	24 Month Lease	Monochrome					
	<u> </u>	Band 1					
		Copier (Including maintenance for 0 - 5000 copies)	SHARP	MX-M266N	5	\$ 101.56	\$ 507.80
		Scanning	SHARP	INCLUDED	5	\$ -	\$ -
	<u> </u>	Network Printing		INCLUDED	5	\$ -	\$ -
		Fax	SHARP	MX-FX11	5	\$ 14.39	
		Per Copy Maintenance Overage Charge (5001 and up)	SHARP		500	\$ 0.01080	
	Į	Total for Band 1	SHARP				\$ 585.15
		Band 2					
		Copier (including maintenance for 0 - 15,000 copies)	SHARP	MX-M266N SYSTEM	5	\$ 139.21	\$ 696.05
		Scanning	SHARP	INCLUDED	5	\$ -	\$ -
		Network Printing	SHARP	INCLUDED	5	\$ -	\$ -
		Fax	SHARP	MX-FX11	5	\$ 1439	\$ 71.95
	ľ	Staple	SHARP	MX-FN26	5	\$ 23.09	\$ 115.45
		Per Copy Maintenance Overage Charge (15,001 and up)	SHARP		500	5 0.00630	\$ 3.15
		Total for Band 2					\$ 886.60
	ł						
		Band 3					
		Copier (including maintenance for 0 - 30,000 copies)	SHARP	MX-M316N SYSTEM	5	\$ 154.42	\$ 772.10
		Scanning	SHARP	INCLUDED	5	\$ -	\$ -
		Network Printing	SHARP	INCLUDED	5	\$ -	\$ -
		Fax	SHARP	MX-FX11	5	\$ 14.39	\$ 71.95
1		Staple	SHARP	MX-FN26	5	\$ 23.09	
		Per Copy Maintenance Overage Charge (30,001 and up)	SHARP		500	\$ 0.00710	\$ 3,55
		Total for Band 3					\$ 963.05
Į.							

3	24 Month Lease (cont.)	Monochrome							
		Band 4							
		Copier (Including maintenance for 0 - 45,000 copies)	SHARP	MX-M464N SYSTEM	5	\$	217 23	\$	1,086.15
		Scanning	SHARP	INCLUDED	5	\$	-	\$	
		Network Printing	SHARP	INCLUDED	5	\$	-	\$	
	ł	Fax	SHARP	MX-FX11	5	\$	14.39	\$	71.95
		Staple	SHARP	MX-FN17	5	\$	23.09	\$	115.45
		Per Copy Maintenance Overage Charge (45,001 and up)	SHARP		500	\$	0.00430	\$	2.1
		Total for Band 4						\$	1,275.70
	ì	Band 5				Ĺ.,			
		Copier (Including maintenance for 0 - 65,000 copies)	SHARP	MX-M564N SYSTEM	5	\$	263.10	\$	1,315.5
		Scanning	SHARP	INCLUDED	5	\$	-	\$	-
		Network Printing	SHARP	INCLUDED	5	\$	-	\$	-
		Fax	SHARP	MX-FX11	5	\$	14.39	\$	71.9
	Ì	Staple	SHARP	MX-FN17	5	\$	23.09	\$	115.4
		Per Copy Maintenance Overage Charge (65,001 and up)	SHARP		500	\$	0 00440	\$	2.2
		Total for Band 5						\$	1,505.1
						Г			
		Band 6			T				
		Copier (including maintenance for 0 ~ 80,000 copies)	SHARP	MX-M654N SYSTEM	5	\$	385.53	\$	1,927.6
		Scanning	SHARP	INCLUDED	5	\$	-	\$	-
		Network Printing	SHARP	INCLUDED	5	\$		\$	-
		Fax	SHARP	MX-FX11	5	\$	14.39	\$	71.9
		Staple	SHARP	MX-FN17	5	\$	23.09	\$	115.4
		Per Copy Maintenance Overage Charge (80,001 and up)	SHARP		500	\$	0.00400	\$	2.0
		Total for Band 6						\$	2,117.0
						П			
		Band 7				Г			
		Copier (including maintenance for 0 - 150,000 copies)	SHARP	MX-M754N SYSTEM	5	\$	444.35	\$	2,221.7
		Scanning	SHARP	INCLUDED	5	\$	-	\$	-
		Network Printing	SHARP	INCLUDED	5	\$	-	\$	-
		Fax	SHARP	MX-FX11	5	\$	14.39	\$	71.9
		Staple	SHARP	MX-FN17	5	\$	23 09	\$	115.4
		Per Copy Maintenance Overage Charge (150,001 and up)	SHARP		500	\$	0.00420	\$	2.1
	1	Total for Band 7				T		\$	2,411.2
						T		T	
			Total Month	y Lease Price of Monochrome Bands	1 through 7 for	A M	onth Lease		9,743.9

item No.	Order Type	Item Description	Brand Name	Model No.	Est. Quantity	Unit Price Per Month	Total Price Per Month (Including Maintenance)
4	24 Month Lease	Color					
				_			
	ì	Band 1					
		Copier	SHARP	MX-C301W SYSTEM1	5	\$ 81.18	\$ 405.90
		Scanning	SHARP	INCLUDED	5	\$ -	\$ -
		Network Printing	SHARP	INCLUDED	5	\$ -	\$ -
		Fax	SHARP	INCLUDED	5	\$ -	\$ -
	l .	Per Copy Maintenance Charge (Color)	SHARP		2,000	\$ 0.06000	\$ 120.00
		Per Copy Maintenance Charge (Monochrome)	SHARP		4,000	\$ 0.01500	\$ 60.00
		Total for Band 1					\$ 585.90
		Band 2					
		Copier	SHARP	MX-C301W SYSTEM2	5	\$ 88.73	\$ 443.65
	1	Scanning	SHARP	INCLUDED	5	\$ -	\$ -
		Network Printing	SHARP	INCLUDED	5	\$ -	\$
		Fax	SHARP	INCLUDED	5	5 -	\$ -
		Staple	SHARP	n/a	5	1	\$ -
		Per Copy Maintenance Charge (Color)	SHARP	-	2,000	\$ 0.04000	\$ 80.00
	1	Per Copy Maintenance Charge (Monochrome)	SHARP	 	4,000	\$ 0.00700	\$ 28.00
		Total for Band 2			7		\$ 551.65
		Band 3			<u> </u>	 	<u> </u>
		Copier	SHARP	MX-3050N SYSTEM	5	\$ 180.11	\$ 900.55
		Scanning	SHARP	INCLUDED	5	\$ -	\$ -
	1	Network Printing	SHARP	INCLUDED	5	\$ -	\$ -
		Fax	SHARP	MX-FX15	5	\$ 14,39	\$ 71.95
		Staple	SHARP	MX-FN27	5	\$ 25.44	
		Per Copy Maintenance Charge (Color)	SHARP		2,000	\$ 0.04000	\$ 80.00
		Per Copy Maintenance Charge (Monochrome)	SHARP		4,000	\$ 0.00700	
		Total for Band 3				1 2,22,30	\$ 1,207.70
		-	+		 	<u> </u>	-,207.70
		Band 4			 -		
	1	Copier	SHARP	MX-4050N SYSTEM	5	\$ 227.26	\$ 1,136,30
		Scanning	SHARP	INCLUDED	5	\$ -	\$ -
		Network Printing	SHARP	INCLUDED	5		\$ -
		Fax	SHARP	MX-FX15	5	\$ 14.39	
		Staple	SHARP	MX-FN27	5	\$ 25.44	
		Per Copy Maintenance Charge (Color)	SHARP		2,000	\$ 0.04000	
		Per Copy Maintenance Charge (Monochrome)	SHARP		4,000	\$ 0.00700	
		Total for Band 4		 	1,,000	\$ 3.00,00	\$ 1,443.45
			 -	 	+	+	2,443,43
	T				4.1		
			Total Monthly	Lease Price of Color Bands	1 through 4 for 2	24 Month Lease	\$ 3,788.70

Item No.		Description	Brand Name	Model No.	Est. Quantity	Unit Price Per Month	Total Price Per Month (including Maintenance)
5	36 Month Lease	Manachrome					
		Band 1					
		Copier (including maintenance for 0 - 5,000 copies)	SHARP	MX-M266N	30	\$ 77.76	\$ 2,332.80
	1	Scanning	SHARP	INCLUDED	30	\$ -	\$ -
		Network Printing	SHARP	INCLUDED	30	\$ -	\$ -
		Fax	SHARP	MX-FX11	30	\$ 10 11	\$ 303.30
		Per Copy Maintenance Overage Charge (5,001 and up)	SHARP		500	\$ 0.01080	\$ 5.40
		Total for Band 1	SHARP				\$ 2,641.50
		Band 2					
		Copier (including maintenance for 0 - 15,000 copies)	SHARP	MX-M266N SYSTEM	10	\$ 105.25	\$ 1,052.50
	l	Scanning	SHARP	INCLUDED	10	\$ -	\$ -
		Network Printing	SHARP	INCLUDED	10	\$ -	\$ -
		Fax	SHARP	MX-FX11	10	\$ 10.11	\$ 101.10
		Staple	SHARP	MX-FN26	10	\$ 16.22	\$ 162.20
		Per Copy Maintenance Overage Charge (15,001 and up)	SHARP		500	\$ 0.00630	\$ 3.15
		Total for Band 2					\$ 1,318.95
		Band 3					_
		Copier (including maintenance for 0 - 30,000 copies)	SHARP	MX-M316N SYSTEM	40	\$ 119.05	\$ 4,762.00
		Scanning	SHARP	INCLUDED	40	s -	\$ -
		Network Printing	SHARP	INCLUDED	40	\$ -	\$ -
		Fax	SHARP	MX-FX11	40	\$ 1011	\$ 404,40
		Staple	SHARP	MX-FN26	40	\$ 16,22	\$ 648.80
		Per Copy Maintenance Overage Charge (30,001 and up)	SHARP		500	\$ 0.00710	\$ 3.55
		Total for Band 3					\$ 5,818.75
		Band 4					
		Copier (including maintenance for 0 - 45,000 copies)	SHARP	MX-M464N SYSTEM	40	\$ 164.90	\$ 6,596.00
		Scanning	SHARP	INCLUDED	40	\$ -	\$ -
		Network Printing	SHARP	INCLUDED	40	s -	\$ -
		Fax	SHARP	MX-FX11	40	\$ 10.11	\$ 404.40
		Staple	SHARP	MX-FN17	40	\$ 16.22	\$ 648.80
		Per Copy Maintenance Overage Charge (45,001 and up)	SHARP		500	\$ 0.00430	
		Total for Band 4		 			\$ 7,651.35
					 	†	

5	36 Month Lease (cont.)	Monochrome							
		Band 5							
	\	Copler (including maintenance for 0 - 65,000 coples)	SHARP	MX-M564N SYSTEM	40	\$	206.57	\$	8,262.80
		Scanning	SHARP	INCLUDED	40	\$	-	\$	-
		Network Printing	SHARP	INCLUDED	40	\$		\$	
	i	Fax	SHARP	MX-FX11	40	\$	10.11	\$	404.4
		Staple	SHARP	MX-FN17	40	\$	16.22	\$	648.8
		Per Copy Maintenance Overage Charge (65,001 and up)	SHARP		500	\$	0,00440	\$	2.2
		Total for Band 5			· ·	_		\$	9,318.2
		Band 6		-		╁			
		Copier (including maintenance for 0 - 80,000 copies)	SHARP	MX-M654N SYSTEM	20	\$	300.61	\$	6,012.2
	Y	Scanning	SHARP	INCLUDED	20	\$	_	\$	-
		Network Printing	SHARP	INCLUDED	20	\$		\$	-
		Fax	SHARP	MX-FX11	20	\$	10.11	\$	202.2
	ì	Staple	SHARP	MX-FN17	20	\$	16.22	\$	324.4
		Per Copy Maintenance Overage Charge (80,001 and up)	SHARP		500	\$	0.00400	\$	2.0
		Total for Band 6				F		\$	6,540.8
		Band 7				+-			
		Copier (including maintenance for 0 - 150,000 copies)	SHARP	MX-M754N SYSTEM	10	\$	352 43	\$	3,524.3
	1	Scanning	SHARP	INCLUDED	10	\$	-	\$	-
		Network Printing	SHARP	INCLUDED	10	\$	-	\$	
		Fax	SHARP	MX-FX11	10	\$	10.11	\$	101.1
	4	Staple	SHARP	MX-FN17	10	\$	16 22	\$	162.2
		Per Copy Maintenance Overage Charge (150,001 and up)	SHARP		500	\$	0.00420	\$	2,:
		Total for Band 7						\$	3,789.
	+		Total Mont	hly Lease Price of Monochrome Bands	1 through 7 for	36 M	ooth Lases		37,079.
	1	<u> </u>	TOTAL MONT	IIIÀ FEUSE LLICS OI MONOCHLOME DANCS	T PROPERTY LOS	30 IVI	milli rega	- >	37,079.

item No.	Order Type	item Description	Brand Name	Model No.	Est. Quantity	Unit Price Per Month	Total Price Per Month (Including Maintenance)
6	36 Month Lease	Color					
		Band 1			1		
	Ì	Copier	SHARP	MX-C301W SYSTEM1	5	\$ 57.03	\$ 285.1
		Scanning	SHARP	INCLUDED	5	\$ -	\$ -
		Network Printing	SHARP	INCLUDED	5	\$ -	\$ -
		Fax	SHARP	INCLUDED	5	\$ -	\$ -
		Per Copy Maintenance Charge (Color)	SHARP		2,000	\$ 0.06000	\$ 120.0
		Per Copy Maintenance Charge (Monochrome)	SHARP		4,000	\$ 0.01500	\$ 60.0
		Total for Band 1					\$ 465.1
		Band 2	- <u>-</u> -				
		Copier	SHARP	MX-C301W SYSTEM2	5	\$ 62.33	\$ 311.6
		Scanning	SHARP	INCLUDED	5	\$ -	\$ -
		Network Printing	SHARP	INCLUDED	5	\$ -	\$ -
		Fax	SHARP	INCLUDED	5	\$ -	\$ -
		Staple	SHARP	n/a	5		\$ -
		Per Copy Maintenance Charge (Color)	SHARP		2,000	\$ 0.04000	\$ 80.0
		Per Copy Maintenance Charge (Monochrome)	SHARP		4,000	\$ 0.00700	\$ 28.0
	-	Total for Band 2			1 -		\$ 419.6
		Band 3					
		Copier	SHARP	MX-3050N SYSTEM	40	\$ 126.55	\$ 5,062.0
		Scanning	SHARP	INCLUDED	40	\$ -	\$ -
		Network Printing	SHARP	INCLUDED	40	\$ -	s -
	1	Fax	SHARP	MX-FX15	40	\$ 10.11	\$ 404.4
	1	Staple	SHARP	MX-FN27	40	\$ 17.88	\$ 715.2
	1	Per Copy Maintenance Charge (Color)	SHARP		2,000	\$ 0.04000	
		Per Copy Maintenance Charge (Monochrome)	SHARP		4,000	\$ 0.00700	\$ 28.0
		Total for Band 3					\$ 6,289.6
	1	Band 4					
	ł	Copier	SHARP	MX-4050N SYSTEM	40	\$ 159.69	\$ 6,387.6
	ĺ	Scanning	SHARP	INCLUDED	40	\$ -	\$ -
		Network Printing	SHARP	INCLUDED	40	\$ -	\$ -
		Fax	SHARP	MX-FX15	40	\$ 10.11	\$ 404.4
		Staple	SHARP	MX-FN27	40	\$ 17.88	\$ 715.2
		Per Copy Maintenance Charge (Color)	SHARP		2,000	\$ 0.04000	\$ 80.0
		Per Copy Maintenance Charge (Monochrome)	SHARP		4,000	\$ 0.00700	\$ 28.0
		Total for Band 4		_			\$ 7,615.2
	 	-		<u> </u>			
			Total Monti	ily Lease Price of Color Band:	1 through 4 for 3	6 Month Lease	\$ 14,789.6

item No.		Description	Brand Name	Model No.	Est. Quantity	Unit Price Per Month	Total Price Per Month (Including Maintenance)
7	48 Month Lease	Monochrome					
		Band 1	<u> </u>	 	 		
		Copier (Including maintenance for 0 - 5,000 copies)	SHARP	MX-M266N	30	\$ 65.87	\$ 1,976.10
	ļ		SHARP	INCLUDED	30	\$ -	\$ -
		Scanning	SHARP	INCLUDED	30	\$ -	\$ -
		Network Printing	SHARP	MX-FX11	30	\$ 7.97	\$ 239.10
		Fax	SHARP		500	\$ 0.01080	\$ 5.40
		Per Copy Maintenance Overage Charge (5,001 and up)	SHARP		+	,	\$ 2,220.60
		Total for Band 1	SHARF		 	-	
	1	Band 2		-			
		Copler (Including maintenance for 0 - 15,000 copies)	SHARP	MX-M266N SYSTEM	30	\$ 88.30	\$ 2,649.00
		Scanning	SHARP	INCLUDED	30	\$ -	\$ -
		Network Printing	SHARP	INCLUDED	30	\$ -	\$
	Į	Fax	SHARP	MX-FX11	30	\$ 7.97	\$ 239.10
l		Staple	SHARP	MX-FN26	30	\$ 12.80	\$ 384.00
	[Per Copy Maintenance Overage Charge (15,001 and up)	SHARP		500	\$ 0.00630	\$ 3.15
		Total for Band 2					\$ 3,275.25
Ì							
		Band 3					
1		Copier (including maintenance for 0 - 30,000 copies)	SHARP	MX-M316N SYSTEM	80	\$ 101 41	\$ 8,112.80
	Ì	Scanning	SHARP	INCLUDED	80	\$ -	\$ -
1		Network Printing	SHARP	INCLUDED	80	\$	\$ -
	ì	Fax	SHARP	MX-FX11	80	\$ 7.97	\$ 637.60
1		Staple	SHARP	MX-FN26	80	\$ 12.80	\$ 1,024.00
	}	Per Copy Maintenance Overage Charge (30,001 and up)	SHARP		500	\$ 0.00710	\$ 3.55
1		Total for Band 3				1	\$ 9,777.95
	1						
1		Band 4					
		Copier (including maintenance for 0 - 45,000 copies)	SHARP	MX-M464N SYSTEM	40	\$ 138.79	\$ 5,551.60
		Scanning	SHARP	INCLUDED	40	\$ -	\$ -
1		Network Printing	SHARP	INCLUDED	40	\$ -	\$ -
1		Fax	SHARP	MX-FX11	40	\$ 7.97	\$ 318.80
		Staple	SHARP	MX-FN17	40	\$ 12.80	\$ 512.00
	}	Per Copy Maintenance Overage Charge (45,001 and up)	SHARP		500	\$ 0.00436	\$ 2.15
'		Total for Band 4					\$ 6,384.55
							_

7	48 Month Lease (cont.)	Monochrome					i	
		Band 5						
	Į.	Copier (including maintenance for 0 - 60,000 copies)	SHARP	MX-M564N SYSTEM	30	\$ 178.37	\$	5,351.10
		Scanning	SHARP	INCLUDED	30	\$ -	\$	
		Network Printing	SHARP	INCLUDED	30	\$ -	\$	•
		Fax	SHARP	MX-FX11	30	\$ 7.97	\$	239.10
	1	Staple	SHARP	MX-FN17	30	\$ 12.80	\$	384.00
		Per Copy Maintenance Overage Charge (60,001 and up)	SHARP		500	\$ 0.00440	\$	2.20
		Total for Band 5					\$	5,976.40
		Band 6						
		Copier (including maintenance for 0 - 80,000 copies)	SHARP	MX-M654N SYSTEM	35	\$ 258.25	\$	9,038.75
		Scanning	SHARP	INCLUDED	35	\$ -	\$	
		Network Printing	SHARP	INCLUDED	35	\$ -	\$	-
		Fax	SHARP	MX-FX11	35	\$ 7.97	\$	278.95
		Staple	SHARP	MX-FN17	35	\$ 12.80	\$	448.00
		Per Copy Maintenance Overage Charge (80,001 and up)	SHARP		500	5 0.00400	\$	2.00
		Total for Band 6					\$	9,767.70
	Ì	Band 7						
		Copier (including maintenance for 0 - 150,000 copies)	SHARP	MX-M754N SYSTEM	25	\$ 306.57	\$	7,664.25
		Scanning	SHARP	INCLUDED	25	\$ -	\$	-
		Network Printing	SHARP	INCLUDED	25	\$ -	\$	-
		Fax	SHARP	MX-FX11	25	\$ 7.97	\$	199.25
		Staple	SHARP	MX-FN17	25	\$ 12.80	\$	320,00
		Per Copy Maintenance Overage Charge (150,001 and up)	SHARP		500	\$ 0.00420	\$	2.10
		Total for Band 7					\$	8,185.60
						1	T -	
			Total Monti	nly Lease Price of Monochrome Bands	1 through 7 for	18 Month Leas	\$	45,588.05

item No.	Order Type	item Description	Brand Name	Model No.	Est. Quantity	Unit Price Per Month	Total Price Per Month (including Maintenance)
8	48 Month Lease	Color					
		Band 1					
i	Ì	Copier	SHARP	MX-C301W SYSTEM1	5	\$ 44.99	\$ 224.95
		Scanning	SHARP	INCLUDED	5	\$ -	-
		Network Printing	SHARP	INCLUDED	5	\$ -	\$ -
	}	Fax	SHARP	INCLUDED	5	\$ -	\$ -
		Per Copy Maintenance Charge (Color)	SHARP		2,000	\$ 0.06000	\$ 120.00
		Per Copy Maintenance Charge (Monochrome)	SHARP		4,000	\$ 0.01500	\$ 60.00
		Total for Band 1					\$ 404.95
		Band 2					
		Copier	SHARP	MX-C301W SYSTEM2	10	\$ 49.17	\$ 491.70
		Scanning	SHARP	INCLUDED	10	\$ -	\$ -
		Network Printing	SHARP	INCLUDED	10	\$ -	\$ -
		Fax	SHARP	INCLUDED	10	\$ -	\$ -
		Staple	SHARP	n/a	10		\$ -
	ŀ	Per Copy Maintenance Charge (Color)	SHARP		2,000	\$ 0.04000	\$ 80.00
		Per Copy Maintenance Charge (Monochrome)	SHARP		4,000	\$ 0.00700	\$ 28.00
		Total for Band 2					\$ 599.70
		Band 3	<u> </u>		 	<u> </u>	<u> </u>
		Copier	SHARP	MX-3050N SYSTEM	20	\$ 99.82	\$ 1,996.40
		Scanning	SHARP	INCLUDED	20	 	5
		Network Printing	SHARP	INCLUDED	20		\$ -
	ì	Fax	SHARP	MX-FX15	20	\$ 7.97	\$ 159.40
		Staple	SHARP	MX-FN27	20	\$ 14.10	
		Per Copy Maintenance Charge (Color)	SHARP		2,000	\$ 0.04000	
		Per Copy Maintenance Charge (Monochrome)	SHARP		4,000	\$ 0.00700	
		Total for Band 3	STIPM		4,000	-	\$ 2,545.80
	1	100.10.0010					, a,5-13-15-16-1
		Band 4					
		Copier	SHARP	MX-4050N SYSTEM	50	\$ 125.96	\$ 6,298.00
		Scanning	SHARP	INCLUDED	50	\$ -	\$ -
		Network Printing	SHARP	INCLUDED	50	\$ -	\$ -
		Fax	SHARP	MX-FX15	50	\$ 7,97	\$ 398,50
		Staple	SHARP	MX-FN27	50	\$ 14.10	
		Per Copy Maintenance Charge (Color)	SHARP		2,000	\$ 0.04000	
		Per Copy Maintenance Charge (Monochrome)	SHARP		4,000	\$ 0,00700	
	1	Total for Band 4					\$ 7,509.50
	1		<u> </u>	1	<u> </u>	<u> </u>	

Purchasing Price of Monochrome Bands 1 through 7 Purchas Price of Color Bands 1-4	\$	485,629.80
Purchas Price of Color Bands 1-4		
	,	132,179.00
Monthly Lease Price of Monochrome Bands 1 through 7 for 24 Month Lease	\$	9,743.90
Monthly Lease Price of Color Bands 1 through 4 for 24 Month Lease	\$	3,788.70
Monthly Lease Price of Monochrome Bands 1 through 7 for 36 Month Lease	\$	37,079.25
Monthly Lease Price of Color Bands 1 through 4 for 36 Month Lease	\$	14,789.60
Monthly Lease Price of Monochrome Bands 1 through 7 for 48 Month Lease	\$	45,588.05
Monthly Lease Price of Color Bands 1 through 4 for 48 Month Lease	\$	11,059.95
	Monthly Lease Price of Color Bands 1 through 4 for 24 Month Lease Monthly Lease Price of Monochrome Bands 1 through 7 for 36 Month Lease Monthly Lease Price of Color Bands 1 through 4 for 36 Month Lease Monthly Lease Price of Monochrome Bands 1 through 7 for 48 Month Lease	Monthly Lease Price of Color Bands 1 through 4 for 24 Month Lease \$ Monthly Lease Price of Monochrome Bands 1 through 7 for 36 Month Lease \$ Monthly Lease Price of Color Bands 1 through 4 for 36 Month Lease \$ Monthly Lease Price of Monochrome Bands 1 through 7 for 48 Month Lease \$ \$

<u>Vendor Information:</u> Vendor Name: Sharp Electronics Corporation
Contact Name: Nicki Calcagni
Address: 100 Paragon Drive Montvale, NJ 07645
Phone No.: 301-466-6219 Fax No.:

SHARP,

State of West Virginia - Accessory Pricing Solicitation # SWC1700000008-DIGCOP17

			Purchase	24	36	48
Category	Model	Description and Machine Compatibility	Pricing	Month	Month	Month
Black &					N 150	
	MX-M266N	26 PPM Advanced Digital Duplex Copier				
3	MX-M316N	31 PPM Advanced Digital Duplex Copier				
	MX-AMX2SPC	Sharp OSA Application Communication Module Requires MX-HD15	\$197.00	\$8.75	\$6.15	\$4.85
	MX-AMX3SPC	Sharp OSA External Accounting Module Requires MX-HD15	106.00	4.71	3.31	2.61
	MX-CS12	1 x 500 drawer 4th Tray only (Requires MX-CS13)	106.00	4.71	3.31	2.61
	MX-CS13	1 x 500 drawer motorized 3rd Tray only	245.00	10.88	7.64	6.03
	AR-DS20	Deluxe Copier Cabinet - (1 Door, for use with MX-CS12/CS13)	101.00	4.48	3.15	2.49
	AR-DS19	Deluxe Copier Cabinet with Door - (For use with base model)	128.00	5.68	3.99	3.15
	MX-FN26	2 - Tray Staple/Stacker Finisher	520.00	23.09	16.22	12.80
	MX-FR50U	Data Security Kit (NOT Common Criteria Certified) (requires MX-HD15)	249.00	11.06	7.77	6.13
	MX-FWX1	Internet Fax Kit requires HD15	218.00	9.68	6.80	5.37
	MX-FX11	Facsimile Expansion Kit	324.00	14.39	10.11	7.97
	MX-HD15	Hard Drive Expansion Kit	154.00	6.84	4.80	3.79
	MX-PF10	Bar Code Font Kit	271.00	12.03	8.46	6.67
	MX-PK11SPC	PS3 Expansion Kit	175.00	7.77	5.46	4.31
	MX-TR17	Exit Tray Requires FN26	80.00	3.55	2.50	1.97
	MX-TR18	Job Separator Tray	27.00	1.20	0.84	0.66
	AR-SU1	Stamp Unit (requires AR-SV1 Stamp Cartridge)	82.00	3.64	2.56	2.02
	AR-D5133NT	15 AMP Power Filter	114.00	5.06	3.56	2.81
4	MX-M464N	46 PPM Multifunctional Digital Copier/Printer		_		
5	MX-M564N	56 PPM Multifunctional Digital Copier/Printer	\$97.00	\$4.31	\$3.03	\$2.39
	MX-36ABD	Deluxe Copier Cabinet	276.00	12.26	8.61	6.79
	MX-DE12	1 x 500 Sheet Paper Drawer	329.00	14.61	10.27	8.10
	MX-DE13	2 x 500 Sheet Paper Drawer	516.00	22.91	16.10	12.70
	MX-DE14	3 x 500 Sheet Paper Drawer	701.00	31.13	21.87	17.25
	MX-DE20	2500 Sheet Tandern Paper Drawer	552.00	24.51	17.22	13.59
	MX-LC11	3,500 Sheet Large Capacity Tray	85.00	3.77	2.65	2.09
	MX-LT10	Long Paper Tray (For use with Banner Paper)	520.00	23.09	16.22	12.80
	MX-FN17	3 Tray Saddle Stitch Finisher Requires MX-RB22	1,210.00	53.73	37.75	29.78
	MX-FN10	4k Stacking Finisher Requires MX-RB22	1,371.00	60.88	42.78	33.74
	MX-FN11	4K Saddle Stitch Finisher requires MX-RB22	2,752.00	122.20	85.86	67.73
	MX-FN18	Paper Pass Unit Required with MX-FN10 / FN11 / FN18	220.00	9.77	6.86	5.41
	MX-RB22 MX-PNX5B	3 Hole Punch Module for MX-FN10	286.00	12.70	8.92	7.04
	MX-PNX6B	3 Hole Punch Module for MX-FN11 / FN18	286.00	12.70	8.92	7.04
	MX-PN11B	3 Hole Punch Module for MX-FN17	286.00	12.70	8.92	7.04
	MX-TR13N	Exit Tray Unit	80.00	3.55	2.50	1.97
	MX-TU12	Center Exit Tray	43.00	1.91	1.34	1.06
	MX-FWX1	Internet Fax Kit	218.00	9.68	6.80	5.37
	MX-FX11	Facsimile Expansion Kit with 8MB Memory	324.00	14.39	10.11	7.97
	MX-PUX1SPC	XPS Expansion Kit (requires MX-565XPS1GB / SHP2GBXPS Memory Upgrad	303.00	13.45	9.45	7.46
	MX-PF10	Bar Code Font Kit	271.00	12.03	8.46	6.67
	AR-SU1	Stamp Unit (Requires AR-SV1)	82.00	3.64	2.56	2.02
	MX-EB12N	Mirroring Kit	377.00	16.74	11.76	9.28
	MX-FR45U	Data Security Kit MX-M464N / M564N	249.00	11.06	7.77	6.13
	MX-SHP2GBXPS	2 GB Memory Upgrade (required for MX-PUX1) MX-M464N / M564N	213.00		6.65	5.24
	MX-AMX2SPC	Sharp OSA Application Communication Module MX-M464N / M564N	197.00			4.85
	MX-AMX3SPC	Sharp OSA External Accounting Module MX-M464N / M564N	106.00		3.31	
	MX-AM10	Web Browsing Kit MX-M365N / M465N	218.00			
	MX-KB14N	Key Board Kit MX-M464N / M564N	298.00	13.23	9.30	
	MX-PK11SPC	PS3 Expansion Kit MX-M464N / M564N	175.00	7.77	5.46	
	AR-D5133NT	15 AMP Power Filter	114.00	5.06	3.56	2.81

1

SHARP.

State of West Virginia - Accessory Pricing Solicitation # SWC170000008-DIGCOP17

			Purchase	24	36	48
Category	Model	Description and Machine Compatibility	Pricing	Month	Month	Month
6	MX-M654N	65 PPM Monochrome Workgroup Document System				
7	MX-M754N	75 PPM Monochrome Workgroup Document System	4=50.00	#04 E4	647.00	\$13.59
	MX-LC15	13 500-sheet Large Capacity Cassette (Letter)	\$552.00		\$17.22	33.22
	MX-LC16	3,000-sheet Large Capacity Cassette (Letter, Letter-R, Legal, Ledger or 12" x 18")	1,350.00		42.12	2.09
	MX-LT10	Long Paper Feeding Tray (for use with Banner Paper)	85.00	-	2.65	12.80
	MX-FN17	Inner Finisher (requires MX-RB24) (No Hole Punch Capability)	520.00		16.22	35.69
	MX-FN19	50-sheet Stanle Finisher (4,000-sheet output capacity; requires MX-RB23)	1,450.00		45.24	54.00
	MX-FN20	50-sheet Staple/15-sheet Saddle Stitch Finisher (4,000-sheet output capacity; requires MX-RB23)	2,194.00		68.45 97.38	76.81
	MX-FN21	100-sheet Staple Finisher (4,000-sheet output capacity; requires MX-RB23	3,121.00			108.31
	MX-FN22	100-sheet Staple/20-sheet Saddle Stitch Finisher (4,000-sheet output capacity; requires MX-RB23 and MX-RB15)	4,401.00		137.31	
	MX-CF11	2 Tray Inserter Unit	1,628.00		50.79	159.55
	MX-FD10	Multi-folding Unit	6,483.00		202.28	
	MX-RB13	Relay Unit	467.00		14.57	11.49
	MX-RB15	Curl Correction Unit (required for MX-FN21 and MX-FN22)	467.00		14.57	11.49
	MX-RB23	Paper Pass Unit (required for MX-FN19 / FN20 / FN21 / FN22)	220.00			
	MX-RB24	Paper Pass Unit (required for Inner Finisher)	220.00		6.86	
	MX-TM10	Trimmer Unit (Optional with MX-FN22 Saddle Finisher)	2,776.00		86.61	68.32
	MX-PN12B	3-Hole Punch Unit (for use with MX-FN19 and MX-FN20)	393.00			
	MX-PN13B	3-Hole Punch Unit (for use with MX-FN21 and MX-FN22)	420.00			
	MX-TR16	Right Side Exit Tray	80.00			
	MX-TU15	Center Exit Tray (required if no finishing options are selected)	43.00		1.34	
	AR-SU1	Stamp Unit (requires AR-SV1 Stamp Cartridge)	82.00		2.56	
	MX-PF10	Barcode Font Kit	271.00		8.46	
	MX-PUX1SPC	XPS Expansion Kit	303.00		9.45	
	MX-565XPS1GB	1 GB Memory Upgrade (required for MX-PUX1)	213.00			
	MX-FX11	Fax Expansion Kit	324.00			
	MX-FWX1	Internet Fax (i-Fax) Expansion Kit	218.00			
	MX-EB12N	Mirroring Kit	377.00			
	MX-FR47U	Data Security Kit (Commercial version)	249.00			
		15 AMP Power Filter MX-FN21 and MX-FN22	114.00			
	AR-D5133NT AR-D5143NT	20 AMP Power Filter	125.00	5.55	3.90	3.0
Neo Ser	ries					
1C / 2C	MX-C301W	30 PPM B&W / Color - Desktop Color Workgroup Document System			T	1 40
10720	MX-25ABD	Deluxe Copier Cabinet	73.00			
	MX-CS11	500 Sheet Paper Feed Unit	170.00			
	MX-FR46U	Data Security Kit	342.00			
	MX-PUX1SPC	XPS Expansion Kit	303.00			
[1GB Memory (Required for MX-PUX1)	213.00			
	MX-SHP2GBXPS	Barcode Font Kit	271.00	12.03		
	AR-PF1	Internet Fax Expansion Kit	218.00	9.68		
	MX-FWX1 AR-D5133NT	15 AMP Power Filter	114.00	5.06	3.56	2.8

SHARP.

State of West Virginia - Accessory Pricing Solicitation # SWC1700000008-DIGCOP17

Description and Machine Compatibility	Purchase Pricing	24 Month	36 Month	48 Month
			M.E. E''	
30 PPM B&W / 30 PPM Full-Color Workgroup Document System				
40 PPM B&W / 40 PPM Full-Color Workgroup Document System		40.04	00.50	\$2.0
Stamp Unit	\$82.00	\$3.64	\$2.56	
Deluxe Copier Cabinet	129.00	5.73	4.02	3.1
Sharo OSA Application Communication Module (MX-3050N / 4050N)	197.00	8.75	6.15	4.8
Sharp OSA External Accounting Module (MX-3050N / 4050N)	106.00	4.71	3.31	2.6
1 x 550 Sheet Paper Feed Desk Unit	276.00	12.26		6.7
2 x 550 Sheet Paper Feed Desk Unit	329.00	14.61	10.27	8.1
3 x 550 Sheet Paper Feed Desk Unit	516.00	22.91	16.10	12.
550+2100 Sheet Tandem Paper Drawer	701.00	31.13		17.
1 x 550-sheet Paper Drawer (wheelchair access)	276.00	12.26	8.61	6.
Enhanced Compression Kit (MX-3050N / 4050N)	307.00	13.63	9.58	7.
Wireless LAN Adaptor (MX-3050N / 4050N)	207.00	9.19	6.46	5.
Inner Finisher 50 Sheet Stapler 500 Sheet Capacity	573.00	25.44	17.88	14.
1K Stacking Finisher (requires MX-RB25)	998.00	44.32	31.14	24.
1K Saddle Finisher (requires MX-RB25)	1,210.00	53.73	37.75 42.78	29.
MX-FN29 1K Saddle Finisher (requires MX-RB25) MX-FN30 3K Stacking Finisher (requires MX-RB25)				33.
3K Saddle Finisher (requires MX-RB25)	2,646.00	117.49	82.56	65.
Data Security Kit (Commercial Version) MX-3050N / 4050N)	342.00	15.19	10.67	8.
Internet Fax Kit	218.00	9.68	6.80	5.
	324.00	14.39	10.11	7.
Facsimile Expansion Kit 3,000 Sheet Large Capacity Tray Requires MX-DE25 / DE26 / DE27 / DE28 (Not compatible with MX-60ABD)	552.00		17.22	13
Long Paper Tray (For use with Banner Paper)	85.00	3.77	2.65	
Bar Code Font Kit	271.00	12.03		
Post Script Expansion Kit (MX-3050N / 4050N)	175.00	7.77	5.46	
3 Hole Punch Module for MX-FN27	286.00	12.70		
3 Hole Punch Module for MX-FN28 / FN29	286.00	12.70	8.92	
3 Hole Punch Module for MX-FN30 / FN31	286.00	12.70		
Direct Print Expansion Kit (MX-3050N / 4050N)	456.00	20.25	14.23	11
Paper Pass Unit Required with MX-FN28 / FN30 / FN31	220.00	9.77	6.86	
	80.00		2.50	
Exit Tray Unit (right side)	27.00	1.20	0.84	
Job Separator	43.00			1
Center Exit Tray Unit (Required if Finisher not installed)				
Utility Table				
Utility Ta		ble 80.00	ble 80.00 3.55	ble 80.00 3.55 2.50

SHARP

State of West Virginia



Sharp Electronics Corporation Solicitation No. CRFQ SWC170000008-DIGCOP17

Contact Information

Nicki Calcagni

Industry & Government Account Manager

Sharp Electronics Corporation

Phone: 301-466-6219

Email: CalcagniN@sharpsec.com

01/09/17 09:39:54
WW Purchasine Division



Cover Letter	1
Addendum Confirmations	2
Pricing	3
Purchasing Affidavit	4
Designated Contact	5



January 6, 2017

Department of Administration, Purchasing Division Mr. Charles Barnette, Buyer 2019 Washington Street East Charleston, WV 25305

RE: Sharp Electronics Corporation's response to Solicitation: SWC1700000008 - DIGCOP17 Statewide Contract for Digital Equipment

Dear Mr. Barnette:

Sharp Electronics is pleased to respond to the State of West Virginia's open end statewide contract, DIGCOP17, for digital copiers. Sharp realizes the need for products to meet the requirements in the areas of technology, service, and the overall mission of the State to its end users.

The proposed wide spectrum of products will assist end users in their everyday office environment while providing a cost effective solution.

Many of Sharp's 'state of the art' digital products include technological advancements and functionality, as well as energy saving features such as (1) the first and only manufacturer to offer edge to edge printing on light production MFPs; (2) Scan² Technology enabling users to scan two sided documents in a single pass; (3) Fiery® Command Workstation at the MFP panel; (4) Motion Sensor offered on selected models which automatically turns on the MFP from sleep mode as it detects and end user approaching; and (5) Eco Mode setting controlling the machine's power consumption.

In addition, Sharp offers some very unique managed services and solutions including:

- Remote Device Manager (SRDM) facilitates centralized management of Sharp MFPS and printers
- Remote Front Panel a powerful tool that enables users and support staff to remotely view the MFP's
 operation panel and control its features and functions from anywhere via a network.
- MFP Home Page makes it easy for users and IT managers to administer the MFP through a browser.
- Document Management solutions and software designed to streamline business processes.
- MICAS (Machine Intelligence Call Assistance System) a cloud based, real-time device management
 application that uses Sharp's Remote Email Diagnostics (R.E.D.). This unique service tool is able to
 collect device data; real time service alerts; monitor and track the status of each unit; and generates
 automated meter data

We look forward to your consideration and are confident we will be able to provide exceptional products and service throughout the state.

For questions or clarifications to our proposal, please don't hesitate to contact me.

Sincerely.

Wicki Calcagni

Industry and Government Account Manager

Sharp Imaging and Information Company of America

C: 301-466-6219 | calcagnin@sharpsec.com | www.sharpusa.com



Addendum Confirmations

ADDENDUM ACKNOWLEDGEMENT FORM SOLICITATION NO.: CRFQ SWC17*08

Instructions: Please acknowledge receipt of all addenda issued with this solicitation by completing this addendum acknowledgment form. Check the box next to each addendum received and sign below. Failure to acknowledge addenda may result in bid disqualification.

Acknowledgment: I hereby acknowledge receipt of the following addenda and have made the necessary revisions to my proposal, plans and/or specification, etc.

Addendum	Numbers	Received:

(Check the box next to each addendum received)

[X]	Addendum No. 1	[·]	Addendum No. 6
[x]	Addendum No. 2	[]	Addendum No. 7
[x]	Addendum No. 3	[1	Addendum No. 8
[]	Addendum No. 4	[]	Addendum No. 9
[]	Addendum No. 5	[]	Addendum No. 10

I understand that failure to confirm the receipt of addenda may be cause for rejection of this bid. I further understand that any verbal representation made or assumed to be made during any oral discussion held between Vendor's representatives and any state personnel is not binding. Only the information issued in writing and added to the specifications by an official addendum is binding.

Sharp Electronics Corporation

Company

Jaun Jolachue

Authorized Signature

1/4/17

Date

NOTE: This addendum acknowledgement should be submitted with the bid to expedite document processing.

Revised 6/8/2012



Purchasing Divison 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130 State of West Virginia Request for Quotation 28 — Office Equip.

Proc Folder: 275520

Doc Description: Statewide Contract for Digital Copiers

Proc Type: Central Master Agreement

D	Date Issued Solicitation Closes		Solicitation No			Version
2	2016-11-18	2016-12-14 13:30:00	CRFQ	0212	SWC1700000008	1

BID RECEIVING LOCATION

BID CLERK

DEPARTMENT OF ADMINISTRATION

PURCHASING DIVISION 2019 WASHINGTON ST E

CHARLESTON

WV 25305

US

VENDOR

Vendor Name, Address and Telephone Number:

Sharp Electronics Corporation

100 Paragon Drive

Montvale, NJ 07645

ntact: Nicki Calcagni Phone: 301-466-6219 Email: calcagnin@sharpsec.com

FOR INFORMATION CONTACT THE BUYER

Charles D Barnette (304) 558-2566

charles.d.barnette@wv.gov

FEIN# 13-1968872

DATE 1/4/17

All offers subject to all terms and conditions contained in this solicitation

Blackner

Page: 1

FORM ID: WV-PRC-CRFQ-001

	Document Phase	Document Description	Page 3
SWC1700000008	Final	Statewide Contract for Digital Copiers	of 3

ADDITIONAL TERMS AND CONDITIONS

See attached document(s) for additional Terms and Conditions



Purchasing Divison 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130 State of West Virginia Request for Quotation 28 — Office Equip.

Proc Folder: 275520

Doc Description: Addendum 1-Statewide Contract for Digital Copiers

Proc Type: Central Master Agreement

BID RECEIVING LOCATION

BID CLERK

DEPARTMENT OF ADMINISTRATION

PURCHASING DIVISION

2019 WASHINGTON ST E

CHARLESTON

WV 25305

US

VENDOR

Vendor Name, Address and Telephone Number:

Sharp Electronics Corporation

100 Paragon Drive

Montvale, NJ 07645

Contact: Nicki Calcagni Phone: 301-466-6219 Email: calcagnin@sharpsec.com

FOR INFORMATION CONTACT THE BUYER

Charles D Barnette (304) 558-2566

charles.d.barnette@wv.gov

nature x aura + Blackny

FEIN# 13-1968872

DATE

14/17

offers subject to all terms and conditions contained in this solicitation

Page: 1

FORM ID: WV-PRC-CRFQ-001

ADDITIONAL INFORMATION:

Addendum 1-1 - To extend the bid opening date from December 14, 2016 to December 21, 2016 at 1:30 PM, EST.

Responses to vendor questions will be issued under a separate addendum.

No other changes.

The West Virginia Purchasing Division is soliciting bids on behalf of all state agencies and political subdivisions to establish an open-end contract for digital copiers per the attached documentation.

BIVOICE TO		SHIPTO	
ALL STATE AGENCII	ES IS AS INDICATED BY ORDER	STATE OF WEST VIII	RGINIA NS AS INDICATED BY ORDER
No City	WV99999	No City	WV 99999
US		us	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
1	Statewide Contract for Digital Copiers	1.00000	LS		
1					

Comm Code	Manufacturer	Specification	Model #	
44101501				

Extended Description:

Statewide Contract for Digital Copiers

SCHEDULE OF EVENTS

<u>Line</u> 1

Event

Deadline for Technical Questions

Event Date

2016-12-02

	Document Phase	Document Description	Page 3
SWC1700000008	Draft	Addendum 1-Statewide Contract for Digital	of 3
		Copiers	

ADDITIONAL TERMS AND CONDITIONS

See attached document(s) for additional Terms and Conditions

SOLICITATION NUMBER: CRFQ SWC1700000008 Addendum Number: 1

The purpose of this addendum is to modify the solicitation identified as ("Solicitation") to reflect the change(s) identified and described below.

and the second s		
A R* T- T .		C-4
Anniicanii	Addendum	I SIPUARY:
~~DDUU~~~~	· TYMMOTIM MITT	~~~~

[v		Modify bid opening date and time
[]	Modify specifications of product or service being sought
[j	Attachment of vendor questions and responses
]	1	Attachment of pre-bid sign-in sheet
[]	Correction of error
ſ	1	Other

Description of Modification to Solicitation:

1 - To extend the bid opening date from December 14, 2016 to December 21, 2016 at 1:30 PM, EST.

Responses to vendor questions will be issued under a separate addendum.

No other changes.

Additional Documentation: Documentation related to this Addendum (if any) has been included herewith as Attachment A and is specifically incorporated herein by reference.

Terms and Conditions:

- 1. All provisions of the Solicitation and other addenda not modified herein shall remain in full force and effect.
- 2. Vendor should acknowledge receipt of all addenda issued for this Solicitation by completing an Addendum Acknowledgment, a copy of which is included herewith. Failure to acknowledge addenda may result in bid disqualification. The addendum acknowledgement should be submitted with the bid to expedite document processing.



Purchasing Divison 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130 State of West Virginia Request for Quotation 28 — Office Equip.

Proc Folder: 275520

Doc Description: Addendum 2-Statewide Contract for Digital Copiers

Proc Type: Central Master Agreement

 Date Issued
 Solicitation Closes
 Solicitation No
 Version

 2016-12-19
 2017-01-04 13:30:00
 CRFQ
 0212 SWC1700000008
 3

GID RECEIVING LOCATION

BID CLERK

DEPARTMENT OF ADMINISTRATION

PURCHASING DIVISION 2019 WASHINGTON ST E

CHARLESTON

WV 25305

US

VENDOR

Vendor Name, Address and Telephone Number:

Sharp Electronics Corporation

100 Paragon Drive

Montvale, NJ 07645

Contact: Nicki Calcagni Phone: 301-466-6219 Email: Calcagnin@sharpsec.com

FOR INFORMATION CONTACT THE BUYER

Charles D Barnette (304) 558-2566

charles,d.barnette@wv.gov

nature & Mu & Joseph Gallero FEIN #

FIN# 13-1968872

DATE 1/4/17

FORM ID: WV-PRC-CRFQ-001

Page: 1

-	William William To				Commence of the last	AND DESCRIPTION OF REAL PROPERTY.	400
m.	seed was making to	ARR- 45-45	84 6	War of outside	ANN BOAR A	E della Marie I	۲
a	POIT		AL.	10129	1000	2 3 5 U U 7 E	53

Addendum 2-

- To extend the bid opening date from December 21, 2016 to January 4, 2017 at 1:30 PM, EST.

Responses to vendor questions will be issued under a separate addendum.

No other changes.

The West Virginia Purchasing Division is soliciting bids on behalf of all state agencies and political subdivisions to establish an open-end contract for digital copiers per the attached documentation.

INVOICE TO		Star 10	
ALL STATE AGENCIES VARIOUS LOCATIONS AS INDICATED BY ORDER		STATE OF WEST VII VARIOUS LOCATION	RGINIA NS AS INDICATED BY ORDER
No City	WV99999	No City	WV 99999
us		us	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
1	Statewide Contract for Digital Copiers	1.00000	LS		·

Comm Code	Manufacturer	Specification	Model #	
44101501				

Extended Description:

Statewide Contract for Digital Copiers

SCHEDULE OF EVENTS

<u>Line</u>	
1	

Event

Deadline for Technical Questions

Event Date 2016-12-02

Page: 2

	Document Phase	Document Description	Page 3
SWC1700000008	Draft	Addendum 2-Statewide Contract for Digital	of 3
		Copiers	

ADDITIONAL TERMS AND CONDITIONS

See attached document(s) for additional Terms and Conditions

SOLICITATION NUMBER: CRFQ SWC1700000008 Addendum Number: 2

The purpose of this addendum is to modify the solicitation identified as ("Solicitation") to reflect the change(s) identified and described below.

Applicable Addendum Category:

I 🗸		Modify bid opening date and time
[]	Modify specifications of product or service being sought
[l	Attachment of vendor questions and responses
]]	Attachment of pre-bid sign-in sheet
Į.	ļ	Correction of error
ſ	1	Other

Description of Modification to Solicitation:

1 - To extend the bid opening date from December 21, 2016 to January 4, 2017 at 1:30 PM, EST.

Responses to vendor questions will be issued under a separate addendum.

No other changes.

Additional Documentation: Documentation related to this Addendum (if any) has been included herewith as Attachment A and is specifically incorporated herein by reference.

Terms and Conditions:

- 1. All provisions of the Solicitation and other addenda not modified herein shall remain in full force and effect.
- 2. Vendor should acknowledge receipt of all addenda issued for this Solicitation by completing an Addendum Acknowledgment, a copy of which is included herewith. Failure to acknowledge addenda may result in bid disqualification. The addendum acknowledgement should be submitted with the bid to expedite document processing.



Purchasing Elvison 2019 Washington Street East Post Office Box 50130 Charteston, VPV 25205-0130

State of West Virginia Request for Quotation 28 — Office Equip.

Proc Folder: 275	520		
Doc Description:	Addendum 3-Statewide	e Contract for Digital Copier	8

	Solicitation Closes	Version	
			4
2016-12-23	2017-01-10	CRFQ 0212 SWC1700000008	*
	13:30:00		

WO RECEIVING LOCATION

BID CLERK

DEPARTMENT OF ADMINISTRATION

PURCHASING DIVISION

2019 WASHINGTON ST E

CHARLESTON

WV 25305

บร

VENIE NO

Vendor Name, Address and Telephone Number;

Sharp Electronics Corporation

100 Paragon Drive

Contvale, NJ 07645

Contact: Nicki Calcagni Phone: 301-466-6219 Email: Calcagnin@sharpsec.com

FOR INFORMATION CONTACT THE BUYER

Charles D Barnette (304) 558-2566

charles.d.barnette@wv.gov

simatura & Mila I Blackne

13-1968872

DATE 1/4/17

ffers subject to all terms and conditions contained in this solicitation

Page: 1

FORM ID: WV-PRC-CRFQ-001

or or the succession

tendum No. 3 - to extend the bid opening date from 01/04/2017 to 01/10/2017 and provide responses to vendor questions.

INVOIGE TO		SMP TO	The state of the s
ALL STATE AGENCIES VARIOUS LOCATIONS AS INDICAT	ED BY ORDER	STATE OF WEST VIRGINIA VARIOUS LOCATIONS AS INDICAT	ED BY ORDER
No City	WV99999	No City	WV 99999
us		US	

Line	Comm Ln Desc	Qity	Unit Issue	Unit Price	Total Price
1	Statewide Contract for Digital Copiers	1.00000	LS		· · · · · · · · · · · · · · · · · · ·

Comm Code	Manufacturer	Specification	Medel #	
44101501				

Extended Description:

Statewide Contract for Digital Copiers

SCHEDULE OF EVENTS

Line Event Event Event Date
1 Deadline for Technical Questions 2016-12-02

SWC1700000008	Document Phase	Document Description Addendum 3-Statewide Contract for Digital	Page 3
		Copiers	

ADDITIONAL TERMS AND CONDITIONS

See attached document(s) for additional Terms and Conditions

SOLICITATION NUMBER: CRFQ SWC1700000008 Addendum Number: 3

The purpose of this addendum is to modify the solicitation identified as ("Solicitation") to reflect the change(s) identified and described below.

Applicable	Addendum	Category:
------------	----------	-----------

[]	Modify bid opening date and time
[]	Modify specifications of product or service being sought
[1]	Attachment of vendor questions and responses
[]	Attachment of pre-bid sign-in sheet
[🗸]	Correction of error
[]	Other

Description of Modification to Solicitation:

Addendum 3-

1 - To extend the bid opening date from January 4, 2017 to January 10, 2017 at 1:30 PM, EST.

2 - To respond to vendor questions.

3 - To attach Exhibit 1 WV Code 5A 3 37, Exhibit 2 Revised pricing pages, and Exhibit 3 FY15 and FY16 reports for DIGCOP12 copier.

No additional questions will be accepted on this CRFQ.

No other changes.

Additional Documentation: Documentation related to this Addendum (if any) has been included herewith as Attachment A and is specifically incorporated herein by reference.

Terms and Conditions:

- 1. All provisions of the Solicitation and other addenda not modified herein shall remain in full force and effect.
- 2. Vendor should acknowledge receipt of all addenda issued for this Solicitation by completing an Addendum Acknowledgment, a copy of which is included herewith. Failure to acknowledge addenda may result in bid disqualification. The addendum acknowledgement should be submitted with the bid to expedite document processing.

SOLICITATION NUMBER: CRFQ SWC1700000008 Addendum Number: 3

The purpose of this addendum is to modify the solicitation identified as ("Solicitation") to reflect the change(s) identified and described below.

Applicable Addendum Category:

[🗸]	Modify bid opening date and time
[]	Modify specifications of product or service being sought
[🗸]	Attachment of vendor questions and responses
[]	Attachment of pre-bid sign-in sheet
[√]	Correction of error
[./]	Other

Description of Modification to Solicitation:

Addendum 3-

- 1 To extend the bid opening date from January 4, 2017 to January 10, 2017 at 1:30 PM, EST.
- 2 To respond to vendor questions.
- 3 To attach Exhibit 1 WV Code 5A 3 37, Exhibit 2 Revised pricing pages, and Exhibit 3 FY15 and FY16 reports for DIGCOP12 copier.

No additional questions will be accepted on this CRFQ.

No other changes.

Additional Documentation: Documentation related to this Addendum (if any) has been included herewith as Attachment A and is specifically incorporated herein by reference.

Terms and Conditions:

- 1. All provisions of the Solicitation and other addenda not modified herein shall remain in full force and effect.
- 2. Vendor should acknowledge receipt of all addenda issued for this Solicitation by completing an Addendum Acknowledgment, a copy of which is included herewith. Failure to acknowledge addenda may result in bid disqualification. The addendum acknowledgement should be submitted with the bid to expedite document processing.

ATTACHMENT A

Addendum No. 3 CRFQ SWC1700000008

Questions:

- Q1: Item 6: Response time Is a phone call to the customer confirming details of issue and expectation for technician arrival within two hours considered as a two hour response?
- A1: Yes.
- Q2: Contract Award what criteria is the State using to determine if a split award would occur? Would this be for all bands or individual bands?
- A2: It is the intent to award one contract to one vendor. However, if the State deems it necessary to split the award, the contracts will be awarded to the lowest vendor by band.
- Q3: Band Specs for Bands 2 & up Would you please clarify that a staple finisher is required and that electronic sorting or an off-line electric stapler does not meet the requirements for the specs?
- A3: Yes, the sorter and finisher are required for Bands 2, 3, 4, 5, 6 and 7 for monochrome copiers and required for Band 3 and 4 on the color copiers.
- Q4: 3.1.13.17 Removal of the HDD on leased systems. Would you consider allowing a format of the Dept of Defense standards? We can provide a security document to show the security of our HDD's. Otherwise this may cause an increase of cost to replace HDD's in returned equipment.
- A4: Specifications to remain as written.
- Q5: 6.1 Delivery Time Would you consider extending the delivery time to 30 to 60 days? Or since it looks like most of the systems are leased, could you require the agencies to process their orders at least 60 days before the equipment installation date required?
- A5: Specifications will remain as written.
- Q6: The specs require electronic sorter or finisher sorter. Almost all digital copiers will sort without a finisher. Please clarify if finishers and stapling are required.
- A6: The sorter and finisher are required for Bands 2, 3, 4, 5, 6 and 7 for monochrome copiers and required for Band 3 and 4 on the color copiers.

- Q7: Band 2 Color shows no requirement at all for stapling. Please confirm stapling is not needed here.
- A7: Not required for Band 2 Color
- Q8: Are stands required or optional for the machines?
- A8: Optional
- Q9: Do staples need to be included in the pricing?
- A9: Section 3.1.13.2, subsection C. Monthly Copy Allowance, states Service and maintenance costs include the cost of all inspections, lubrications, cleaning, adjustments, parts, repairs, travel expenses, and supplies (excepting paper) that are necessary to maintain satisfactory performance of the copier. Once the copy limit is exceeded, Vendor may charge a per copy service and maintenance fee that must include the cost of all inspections, lubrications, cleaning, adjustments, parts, repairs, travel expenses, and supplies (excepting paper).

Color Copiers do not include a copy limit and Vendor may charge a per copy service and maintenance fee that must include the cost of all inspections, lubrications, cleaning, adjustments, parts, repairs, travel expenses, and supplies (excepting paper).

- Q10: There is a preference for domestically sourced products listed in paragraphs 42 and 43. How will this be taken into consideration for award of the bid?
- A10: Sections 42 and 43 are not applicable to this CRFQ.
- Q11: Manuals-There is a requirement for manuals with each copier. Are electronic versions of the manuals permitted?
- A11: Electronic manuals are permitted.
- Q12: Will current placements stay through their current term or will they be removed upon award of this contract? If staying, will you provide a list of their expiration dates?
- A12: Current placements will remain under the DIGCOP12 contract. Once the lease period expires, the state agency will be required to procure a new machine on the new statewide contract. See Section 7.7 in the specifications. The State does not have a listing of the current expiration dates.
- Q13: Bid states (1) year initial term with (3) successive (1) renewals. Will final award include "Reasonable Time Extension" clause as found on page 4 of current contract?
- A13: No. See Section 3 in the General Terms and Conditions.

- Q14: Bid stipulates on P.34 that maintenance is optional on purchased copiers. If a copier is purchased with no maintenance agreement, a schedule for sustaining service is solely in the hands of the using agency. In this case, without a maintenance agreement—and preventive maintenance (PM's)—there is no provision for the vendor to provide proactive PM. A device could conceivably be in operation for an extended length of time without requiring service, and then a flurry of service calls to remedy what was certainly preventable had a maintenance agreement been in place. Does P.26 / paragraph H apply to those purchased copiers that elect not to enter into a recommended maintenance agreement?
- A14: Section 3.1.13.2 (H) for machines with maintenance agreements this section will apply to the machine for the life of the contract.

For machines without maintenance agreements, this section will apply for the first year of contract for any copier with the understanding that the machine adheres to the published copy volumes as provided by the vendor and/or manufacturer for that particular make/model copier.

- Q15: With the short time frame between the questions and answers and the due date we respectfully ask the State to extend the due date for two weeks.
- A15: The bid opening has been extended to January 10, 2017 at 1:30 pm.
- Q16: Section 13 of the instructions to vendor's mentions a \$125.00 registration fee is this fee that is required to be paid prior to the bid submission is this required and can it be paid via credit card?
- A16: The annual vendor registration fee is not required prior to bid submission. However, it is required prior to award of the contract. The annual vendor registration fee can be paid online through the Vendor Self Service portal available at wvoasis.gov.
- Q17: General terms and conditions section 12 states that pricing is fixed for the term of the contract. The State is requesting price quotes for leasing. Does the awarded vendor have the ability to increase lease pricing (monthly payment) for new placements if the financial markets increase interest rates? Our purchase price for the equipment will remain fixed for the life of the contract.
- A17: All pricing purchase price and leased price must remain the same for the life of the contract.

- Q18: Specifications 3.1.13.2 C Monthly copy allowance. Can a vendor offer a plan that does not include monthly/quarterly allowance so that the State can benefit from only paying for copies that they actually use?
- A18: No.
- Q19: Specifications 3.1.13.17 Information security for leased machines. States that if the agency chooses not to keep the machine at the end of the term that the vendor is required to remove the hard drive and leave it with the agency. There is a cost associated to the awarded vendor to provide this service. Can this cost be added to our price list?
- A19: The cost associated to remove the hard drive should be incorporated into the unit pricing.
- Q20: Specifications 3.1.13.19. Leasing of machines. Will the State sign a lease agreement with a vendors wholly owned subsidiary and make payments to that wholly owned subsidiary?
- A20: The State will only accept invoices from and make payments to the vendor awarded the contract. The State will not enter into a leasing agreement with a third party, or subsidiary.
- Q21: Miscellaneous Reporting. Can the State provide a template and format for the annual and quarterly reporting described in section 7.3. Along with the required due dates of these reports. We generally provide these reports 45 days after the end of the quarter/fiscal year.
- A21: The State does not have a template or format for reporting as described in the CRFQ. There is no set due date for the reports.
- Q22: Section 3.1.13.3 Training. We offer on line training to our customers. Is this an acceptable form of training as opposed to providing it on site?
- A22: The vendor may provide in-house at the agency location or online training to the customer.
- Q23: Section 4.1 optional accessories. We are the manufacturer is it expected that we are to disclose our cost and profit for optional accessories?
- A23: Subsection 4.1 under Accessories, does not require the vendor to disclose cost or profit for accessories. It states, Vendor shall provide all accessories, other than those listed on the pricing pages, to Agency at manufacturer's invoice price.

However, it continues, Prices for the listed copiers on the pricing pages should include the vendor's profit, shipping, setup cost and installation for all items.

- Q24: Per our call, I'd like to get some clarity on what constitutes a resident vendor for the purposes of an RFP (i.e., is it an entity organized in West Virginia, qualified to do business in West Virginia, headquartered in West Virginia, etc.)? Further, if an entity is required to be organized in West Virginia for the purposes of an RFP, is there a certain time period that that entity must have been in existence in order to qualify as a resident vendor?
- A24: See WV Code § 5A-3-37 copy attached as Exhibit 1.
- Q25: I was looking over the cost sheets for the DIGCOP17 bid. I not sure the calculations are correct on the purchase bands for the maintenance lines. For instance band 1 monochrome shows Monthly Maintenance Charge Per Copier (0-5000) = 3060 (estimated qty). Your formula for this cell is (=85*36) What is the 85? I'm assuming the 36 is # of months. And in each higher band this # is lower even though the copies included in each band increases.
- A25: Pricing pages have been revised. See attachment labeled as Exhibit 2.
- Q26: 10. LIQUIDATED DAMAGES: Vendor shall pay liquidated damages in the amount of for ______. This clause shall in no way be considered exclusive and shall not limit the State or Agency's right to pursue any other available remedy. What is the States intent for item 10, Liquidated Damages?
- A26: Not applicable to this CRFQ. If applicable, an amount would have been inserted in the section.
- Q27: 18. CANCELLATION: The Purchasing Division Director reserves the right to cancel this Contract immediately upon written notice to the vendor if the materials or workmanship supplied do not conform to the specifications contained in the Contract. The Purchasing Division Director may also cancel any purchase or Contract upon 30 days written notice to the Vendor in accordance with West Virginia Code of State Rules § 148-1-6.l.e. Does the 30 days written notice cancellation clause apply to individual leases that have been delivered, installed and accepted?
- A27: Yes, the agencies have the ability to cancel an order or lease by providing a 30-day cancellation notice to the vendor.
- Q28: If it applies to individual leases, does it allow for a cure period or is it the intent of the State to use this as cancellation for convenience clause?
- A28: See response A27 above.

- Q29: If it is the intent of the State to use this as a cancellation for convenience clause, would the State consider cancellation fees? This would allow for much more favorable financing rates when leasing.
- A29: See response A27 above.
- Q30: REPORTS: Vendor shall provide the Agency and/or the Purchasing Division with the following reports identified by a checked box below: Such reports as the Agency and/or the Purchasing Division may request. Requested reports may include, but are not limited to, quantities purchased, agencies utilizing the contract, total contract expenditures by agency, etc.
 - [] Quarterly reports detailing the total quantity of purchases in units and dollars, along with a listing of purchases by agency. Quarterly reports should be delivered to the Purchasing Division via email at purchasing reguisitions@wv.gov.

Could the State please provide examples of previous reports required from previous vendors so we can better understand format requirements?

- A30: Reports provided by the vendor for FY15 and FY16 are attached See Exhibit 3.
- Q31: It indicates that the Reports are not limited to those reports listed. Would the State consider restricting reports required to information the vendor has available?
- A31: If more information is needed from the vendor, the Purchasing Division buyer will contact the vendor to discuss. Normal information requested is listed in the General Terms and Conditions.
- Q32: BACKGROUND CHECK:
 Would this be required for Service Technicians who are servicing the copiers?
- A32: If the technician will be on the Capitol Complex grounds, a background check is required by law.
- Q33: PREFERENCE FOR USE OF DOMESTIC STEEL PRODUCTS:

 Does this item apply to this contract / solicitation? If it does, could the Director of Purchasing provide exceptions as all copiers are built outside of the USA.
- A33: See response A10 above.
- Q34: PREFERENCE FOR USE OF DOMESTIC ALUMINUM, GLASS, AND STEEL: Does this item apply to this contract / solicitation?
- A34: See response A10 above.

Q35: Specifications

3.1.13.2 Service of Material and

Full Service Requirement: Vendor must have the ability to provide on-site service and maintenance for all Contract Items. Vendor must enter into a full service and maintenance contract for all Contract Items that are leased or if the Contract Items are Purchased and Agency elects to include maintenance in the purchase price. Vendor must provide a copy of any maintenance agreement for approval prior to award of this Contract. Vendors must provide an 800 telephone number for service support prior to Contract award.

This item references a copy of the maintenance agreement be provided for approval prior to award. Will this also apply for Purchase Agreements, Lease Agreements, and other types of agreements, where if we are the intended awardee, we supply all the agreements for approval?

- A35: Yes, the agreements should be provided with bid submission, however, copies will be required prior to contract award.
- Q36: Supplies In many cases, the Staples are considered to be a consumable and are chargable. Does the State require that Staples be included in the maintenance pricing at no charge?
- A36: Section 3.1.13.2, subsection C. Monthly Copy Allowance, states Service and maintenance costs include the cost of all inspections, lubrications, cleaning, adjustments, parts, repairs, travel expenses, and supplies (excepting paper) that are necessary to maintain satisfactory performance of the copier. Once the copy limit is exceeded, Vendor may charge a per copy service and maintenance fee that must include the cost of all inspections, lubrications, cleaning, adjustments, parts, repairs, travel expenses, and supplies (excepting paper).

Color Copiers do not include a copy limit and Vendor may charge a per copy service and maintenance fee that must include the cost of all inspections, lubrications, cleaning, adjustments, parts, repairs, travel expenses, and supplies (excepting paper).

- Q37: 3.1.13.10 Published Specifications: All copiers quoted must have published copy volumes per month and copies per minute. Vendors must provide published descriptive literature to illustrate compliance with the minimum, mandatory band specifications, which include copy volumes per month, copies/minute data, available memory, paper sources and paper capacity prior to award. Vendor shall highlight all standard features on within the literature provided for each copier bid.
 - We wish to validate that these specifications are not required with bid submission and are only required if the Vendor is the intended awardee.
- A37: Published specifications as noted in Section 3.1.13.10 are not required with bid submission but are preferred to be included, however, this information is required prior to contract award.

Q38: 3.1.13.11 Parts Availability: Vendors must guarantee that all parts and service on all purchased units shall be available for a period of seven years from the date of purchase and for the term of the rental on all rental units. All parts SHALL be new.

"New" means manufactured in the current year and has not been used.

Parts are typically available for 7 years after last date of manufacture. However, while the parts are new, they are not normally manufactured in the current year. Can the State please remove the definition of New?

- A38: Only pertaining to section 3.1.13.11, New will be redefined as not been used.
- Q39: 3.1.13.17 Information Security: All stored information must be secured and rendered unreadable by Vendor whenever a copier is removed from service. Removal and rendering information unusable must be conducted in accordance with the policies and procedures of the Office of Technology or other entity that has authority over technology related matters for the Agency, specifically pursuant to NIST standards and provide a certificate of validation with all pertinent hard drive identification information such as the serial number. For purchased machines, the agency must dispose of the machine and hard drive per the policies of the WV State Agency for Surplus Property and the Office of Technology. For leased machines: At the end of the lease, if the agency does not choose to keep the machine, the vendor shall remove the machine's hard drive and leave it with the agency for disposition in accordance with procedures prescribed by the Office of Technology.

With new technology, the need to replace all hard drives is no longer necessary. The systems have sophisticated Data Overwrite Security System (DOSS) methods. Most State agencies who are not dealing with extremely sensitive documents, can utilize this function and render the hard drive unreadable which conforms with recommended methods for managing classified information. If the State was to change the requirement from removing the drive to wiping the drive prior to removal of the copier from the Agency, a considerable amount of money could be saved on each unit. The vendors could provide an option to remove the hard drive at a set cost if the Agency so desired. Would the State please change the requirement of all leased machines requiring hard drive removal.

- A39: The specifications will remain as written.
- Q40: G. Response Requirement: Vendors must respond to all requests for service within two (2) working hours of an Agency's request and be on site to complete the repair within eight (8) working hours of the request throughout

Does this completion of repair within 8 working hours apply to remote parts of the State.?

A40: Yes.

Q41: 3.1.13.15 Network Connection: All network connected units must include all cable, cards, etc. for connection to the Agency's network at no additional cost to the Agency. Vendor's equipment must be capable of connecting to an EthernetlFast-Ethernet network that has either Microsoft or Novell as the network operating system.

Could the State please provide a maximum distance that the vendor is required to provide cabling from the device?

- A41: The distances will vary per agency location.
- Q42: 3.1.13.19 Leasing of machines: If a third party leasing company is used, they will be held to the specifications of the contract. The State cannot permit payment to the leasing agency directly, the State can only pay the vendor who is awarded the contract. The State cannot sign lease documents if leased through another company meaning any other entity other than the awarded vendor.

When and where should the vendor present lease documentation for this bid that the Awarded Vendor would be requesting to be signed when a unit is leased?

- A42: Copies of lease agreements, etc. should be submitted with the vendor's bid, however, this information will be required prior to contract award.
- Q43: 5.1 Authorizing Documentation: Vendor is prohibited from filling orders without the proper documentation attached to the WV-39, Contract Release Order. The State Auditor will not authorize payment for any applicable purchase orders/invoices that do not have the proper authorization documentation. Any copier to be networked requires prior approval by the Office of Technology.

Can the State please identify what proper authorization documentation is required to be attached to the WV-39? Is the only authorization documentation network connection approval from Office of Technology?

- A43: To delete Section 5. 1 in its entirety and replace with the following language -
 - 5.1 Authorizing Documentation: Vendor is prohibited from filling orders without a fully executed WV39 or Agency Delivery Order (ADO). For agency purposes only, any copier to be networked requires prior approval by the Office of Technology. This documentation is for internal purposes only.

Q44: 6.5 Return of Unacceptable Items: If the Agency deems the Contract Items to be unacceptable, the Contract Items shall be returned to Vendor at Vendor's expense and with no restocking charge. Vendor shall either make arrangements for the return within five (5) days of being notified that items are unacceptable, or permit the Agency to arrange for the return and reimburse Agency for delivery expenses. If the original packaging cannot be utilized for the return, Vendor will supply the Agency with appropriate return packaging upon request. All returns of unacceptable items shall be F.O.B. the Agency's location. The returned product shall either be replaced, or the Agency shall receive a full credit or refund for the purchase price, at the Agency's discretion.

What would make product unacceptable and how long does the right to return last?

A44: Patent Defect - the right to return 10 business days after installation and testing; and

Latent Defect – the right to return 10 business days after discovery and confirmation that there is a defect.

Q45: 7.3 Reports: Vendor shall provide quarterly reports and annual summaries to the Agency showing the Agency's items purchased, quantities of items purchased, and total dollar value of the items purchased. Vendor shall also provide reports, upon request, showing the items purchased during the term of this Contract, the quantity purchased for each of those items, and the total value of purchases for each of those items. Failure to supply such reports may be grounds for cancellation of this Contract.

Are the quarterly reports and annual summaries the same reports identified in Item 40 Reports or these additional reports?

A45: Yes, they are the same report.

Q46: If these are additional reports, is it the expectation that reports will be provided to all Agencies that have acquired equipment from the vendor and continue until the equipment is removed from service? Or is the term Agency referring to State Purchasing?

A46: Agency is the WV Purchasing Division.

Q47: Will the State please provide last years quarterly reports and annual summaries received from the current vendor?

A47: Reports provided by the vendor for FY15 and FY16 are attached – See Exhibit 3.

- Q48: Pricing Sheet The current formula in purchasing Bands 1 thru 7 B&W, indicate to provide a monthly maintenance price to include up to 5,000 copies.. The estimated monthly quantities that the price is to be multiplied by appear to be excessive. Example. In Purchasing B&W Band 1, the estimated Monthly quantity is 3.060. If the unit of measure is months, 3060 would equate to 255 years of maintenance. This heavily burdens the Total Cost of Ownership towards maintenance pricing that is unrealistic.. Could you please define the calculation of how you arrived at the estimated quantities? We would request that these Monthly quantity numbers be more representative of actual usage to the estimated quantity of copier units identified.
- A48: See revised pricing pages Exhibit 2.
- Q49: The Purchase Color Bands 1 thru 4 and Leasing Bands 1 thru 7 all call for Cost per copy, which provides the cheapest method for the State to pay since you only are charged for usage.

The copier base machine does not require stapling included it is an options for agencies to choose. So do you want to have staple cost as a line item separate? It can be included in the maintenance cost but then agencies that do not need stapling will paying for The feature they are not using. Please clarify for us.

- A49: See response A36 above.
- Q50: Can you provide a complete listing of all copiers (with model #'s) placed throughout the State?
- A50: Reports provided by the vendor for FY15 and FY16 are attached- See Exhibit 3.
- Q51: Can you provide the average monthly volume of each unit currently in place?
- A51: Reports provided by the vendor for FY15 and FY16 are attached See Exhibit 3.
- Q52: Will all questions and answers be published to all? When will you publish the answers?
- A52: Responses to all vendor questions will be published by addendum and available on the WV Purchasing Bulletin on the wvOASIS system.
- Q53: Can you provide an extension of a minimum of 1 week for the due date? There was a Holiday since the solicitation was published and there were many people on vacation Thanksgiving week.
- A53: The bid opening has been moved to January 10, 2017.

- Q54: 3.1.13.2 H States there may be instances where the failure rate of a particular unit is deemed to be replaced or cancelled. Can you further explain the criteria for replacement/cancellation?
- A54: The criteria is provided in the first sentence of the specification.
- Q55: 3.1.13.2 C States that Service is to include everything except paper. Are staples to be included?
- A55: See response A36 above.
- Q56: Does band 2 Color require a finisher? 3.1.9.1 does not state it.
- A56: No.
- Q57: Section 3.1.13.17 for leased machines, if the agency does not choose to keep the equipment; will the agency be responsible for the removal and replacement of the hard drive.
- A57: As stated in the specification "the vendor shall remove the machine's hard drive and leave it with the agency for disposition in accordance with procedures prescribed by the Office of Technology."
- Q58: Leasing vs Rental: Sections 3.1.13.19, 4.2.15 and 4.2.16 use the term "Lease" Section 7.7 refers to both "Rentals" and "Leases". Are you using these terms to mean the same thing? Are there and specific terms and conditions for these Lease/Rentals?
- A58: Yes, lease and rental mean the same thing. All relevant terms and conditions are contained the CRFQ.
- Q59: Pricing pages Band 1 Monochrome Purchase: The evaluation for the Band 1 mono assumes that 10 units are purchased with 10 of each related accessory. The monthly maintenance calculation is "85*36"=3060 which appears to be maintenance for 85 units over 3 years. This seems unusual to evaluate on maintenance for 85 units and the purchase of only 10 units. This is repeated on other bands.
- A59: See revised pricing page Exhibit 2.
- Q60: Pricing pages Band 1 Monochrome Purchase: The evaluation for band 1 mono assumes 500 excess copies each month for 36 months. However the # of machines being acquired is 10. Is this accurate? Other categories have different # of machines being purchased but the same excess copy calculation.
- A60: Estimations for bid evaluation purposes only.

- Q61: Pricing pages Band 1 Color Purchase: The evaluation for band 1 color assumes 5 purchased units. The service evaluation assumes 2000 copies x 36 months (Color) and 4000 copies x 36 months (Mono). It appears that this represents the copy charges for only 1 unit over 36 months. Do you intend to evaluate on the purchase of 5 units but only the service of 1 units? Other bands have the same issue.
- A61: Estimations for bid evaluation purposes only.
- Q62: Pricing pages Leasing: The evaluation for all Mono Leases uses 500 copies even though there are different # of units being acquired in each band. This seems odd. Is this intentional?
- A62: Estimations for bid evaluation purposes only.
- Q63: Pricing Pages Leasing: The evaluation for all Color Leases use 2000 color and 4000 mono for all bands. This appears to evaluate for only 1 month of copies for 1 machine when the # units being evaluated is significantly different (example: band 3 36 month evaluates 40 units) Is this intentional?
- A63: Estimations for bid evaluation purposes only.
- Q64: In Section 3.1.13.17, you state that the removal and rendering of information unusable must be in accordance with the Office of Technology or other entities policies and procedures, what are some of the other acceptable entities?
- A64: The disposition must be in accordance with the Office of Technology.
- Q65: If our machines have standard security that will erase all images, address book entries, documents, files and faxes on demand at the end of term, would that be acceptable under section 3.1.13.17?
- A65: Methods must comply with the policies of the Office of Technology as stated in Section 3.1.13.17.
- Q66: Per section 3.1.13.17 stating "specifically pursuant to NIST standards", could the specific NIST standard be provided to ensure compliance? In addition, if an MFP product meets the specified NIST standard, but is not/has not yet been validated, is a manufacturers statement an acceptable alternative?
- A66: The National Institute of Standards and Technology, NIST, standards for media sanitization:

http://nvlpubs.nist.gov/nistpubs/SpecialPublications/NIST.SP.800-88r1.pdf

A manufacturer's statement is acceptable as long as the media sanitization method and statement meets all standards defined by the Office of Technology, or Agency authority, as-well-as NIST standards.

- Q67: Industry data show that less than 3% of all output is A3 and requires 11 x 17 capabilities. This is validated by both worldwide analysts and manufacturers. Cost differentials can be as much as half simply by changing this requirement. By allowing the right sizing of equipment to give the end user the same functionality and speed with added capabilities in a smaller footprint, can dramatically reduce your overall cost. Would the State consider removing the 11 x 17 requirement on Band 3? Band 4? Band 5? Band 6? And/or Band 7?
- A67: No, the 11 x 17 paper size requirement will remain in the specifications for the copier bands noted in the specifications.
- Q68: The document states the term contract is for 1 year which may be renewed for up to 3 (1) year periods. Do you intend to use the 24 month pricing if an agency chooses to lease for 1 year only?
- A68: The lease terms are 24, 36 or 48 months.
- Q69: We'd like to verify Lexmark's registration status. Whom do we need to work in West Virginia Purchasing Division? We like to confirm if our \$125 fee has been paid and that we are in fact properly registered.
- A69: You may check your registration status in VSS (Vendor Self Service) Portal in wvOASIS or contact our Vendor Registration office by contacting our Vendor Registration office at 304-558-2311.
- Q70: Is submitting a hard copy response mandatory? Or is submitting an electronic proposal through the online portal enough?
- A70: No, a hard copy bid is not mandatory. Please see Section 6 of the Instructions to Vendors Submitting Bids.

Other Information:

- 1. The bid opening has been moved from 01/04/2017 to 01/10/2017 at 1:30 pm.
- 2. Exhibits attached -

Exhibit 1 - WV Code §5A-3-37

Exhibit 2 - Revised pricing pages

Exhibit 3 - FY15 and FY16 reports for DIGCOP12 copier

3. No additional questions will be accepted on this CRFQ.

EXHIBIT 1

- §5A-3-37. Preference for resident vendors; preference for vendors employing state residents; preference for veteran residents; exceptions.
- (a) Effective beginning July 1, 1992, in any instance that a purchase of commodities or printing by the director or by a state department is required under the provisions of this article to be made upon competitive bids, the successful bid shall be determined as provided in this section. The Secretary of the Department of Revenue shall promulgate any rules necessary to: (i) Determine that vendors have met the residence requirements described in this section; (ii) establish the procedure for vendors to certify the residency requirements at the time of submitting their bids; (iii) establish a procedure to audit bids which make a claim for preference permitted by this section and to reject noncomplying bids; and (iv) otherwise accomplish the objectives of this section. In prescribing the rules, the secretary shall use a strict construction of the residence requirements set forth in this section. For purposes of this section, a successful bid shall be determined and accepted as follows:
- (1) From an individual resident vendor who has resided in West Virginia continuously for the four years immediately preceding the date on which the bid is submitted or from a partnership, association, corporation resident vendor, or from a corporation nonresident vendor which has an affiliate or subsidiary which employs a minimum of one hundred state residents and which has maintained its headquarters or principal place of business within West Virginia continuously for four years immediately preceding the date on which the bid is submitted, if the vendor's bid does not exceed the lowest qualified bid from a nonresident vendor by more than two and one-half percent of the latter bid, and if the vendor has made written claim for the preference at the time the bid was submitted: *Provided*, That for purposes of this subdivision, any partnership, association or corporation resident vendor of this state, which does not meet the requirements of this subdivision solely because of the continuous four-year residence requirement, shall be considered to meet the requirement if at least eighty percent of the awnership interest of the resident vendor is held by another individual, partnership, association or corporation resident vendor who otherwise meets the requirements of this subdivision, including the continuous four-year residency requirement: *Provided*, however, That the Secretary of the Department of Revenue shall promulgate rules relating to attribution of ownership among several resident vendors for purposes of determining the eighty percent ownership requirement; or
- (2) From a resident vendor, if, for purposes of producing or distributing the commodities or completing the project which is the subject of the vendor's bid and continuously over the entire term of the project, on average at least seventy-five percent of the vendor's employees are residents of West Virginia who have resided in the state continuously for the two immediately preceding years, and the vendor's bid does not exceed the lowest qualified bid from a nonresident vendor by more than two and one-half percent of the latter bid, and if the vendor has certified the residency requirements of this subdivision and made written claim for the preference, at the time the bid was submitted; or
- (3) From a nonresident vendor, which employs a minimum of one hundred state residents or a nonresident vendor which has an affiliate or subsidiary which maintains its headquarters or principal place of business within West Virginia and which employs a minimum of one hundred state residents, if, for purposes of producing or distributing the commodities or completing the project which is the subject of the vendor's bid and continuously over the entire term of the project, on average at least seventy-five percent of the vendor's employees or the vendor's affiliate's or subsidiary's employees are residents of West Virginia who have resided in the state continuously for the two immediately preceding years and the vendor's bid does not exceed the lowest qualified bid from a nonresident vendor by more than two and one-half percent of the latter bid, and if the vendor has certified the residency requirements of this subdivision and made written claim for the preference, at the time the bid was submitted; or
- (4) From a vendor who meets either the requirements of both subdivisions (1) and (2) of this subsection or subdivisions (1) and (3) of this subsection, if the bid does not exceed the lowest qualified bid from a nonresident vendor by more than five percent of the latter bid, and if the vendor has certified the residency requirements above and made written claim for the preference at the time the bid was submitted; or
- (5) From an individual resident vendor who is a veteran of the United States Armed Forces, the Reserves or the National Guard and has resided in West Virginia continuously for the four years immediately preceding the date on which the bid is submitted, if the vendor's bid does not exceed the lowest qualified bid from a nonresident vendor by more than three and one-half percent of the latter bid, and if the vendor has made written claim for the preference at the time the bid was submitted; or
- (6) From a resident vendor who is a veteran of the United States Armed Forces, the Reserves or the National Guard, if, for purposes of producing or distributing the commodities or completing the project which is the subject of the vendor's bid and continuously over the entire term of the project, on average at least seventy-five percent of the vendor's employees are residents of West Virginia who have resided in the state continuously for the two immediately preceding years and the vendor's bid does not exceed the lowest qualified bid from a nonresident vendor by more than three and one-half percent of the latter bid, and if the vendor has certified the residency requirements of this subdivision and made written claim for the

l of 2 12/16/2016 11:47 AM

preference, at the time the bld was submitted; or

- (7) Notwithstanding any provisions of subdivisions (1), (2), (3), (4), (5) or (6) of this subsection to the contrary, if any nonresident vendor that is bidding on the purchase of commodities or printing by the director or by a state department is also certified as a small, women or minority-owned business pursuant to section fifty-nine of this article, the nonresident vendor shall be provided the same preference made available to any resident vendor under the provisions of this subsection.
- (b) If the Secretary of the Department of Revenue determines under any audit procedure that a vendor who received a preference under this section fails to continue to meet the requirements for the preference at any time during the term of the project for which the preference was received the secretary may: (1) Reject the vendor's bid; or (2) assess a penalty against the vendor of not more than five percent of the vendor's bid on the project.
- (c) Political subdivisions of the state including county boards of education may grant the same preferences to any vendor of this state who has made a written claim for the preference at the time a bid is submitted, but for the purposes of this subsection, in determining the lowest bid, any political subdivision shall exclude from the bid the amount of business occupation taxes which must be paid by a resident vendor to any municipality within the county comprising or located within the political subdivision as a result of being awarded the contract which is the object of the bid; in the case of a bid received by a municipality, the municipality shall exclude only the business and occupation taxes as will be paid to the municipality: Provided, That prior to soliciting any competitive bids, any political subdivision may, by majority vote of all its members in a public meeting where all the votes are recorded, elect not to exclude from the bid the amount of business and occupation taxes as provided in this subsection.
- (d) If any of the requirements or provisions set forth in this section jeopardize the receipt of federal funds, then the requirement or provisions are void and of no force and effect for that specific project.
- (e) If any provision or clause of this section or application thereof to any person or circumstance is held invalid, the invalidity shall not affect other provisions or applications of this section which can be given effect without the invalid provision or application, and to this end the provisions of this section are severable.
- (f) This section may be cited as the "Jobs for West Virginians Act of 1990."

Note: WV Code updated with legislation passed through the <u>2016 Regular Session</u>

The West Virginia Code Online is an unofficial copy of the annotated WV Code, provided as a convenience, it has NOT been edited for publication, and is not in any way official or authoritative.

EXHIBIT

DIGCOP17 - Pricing Pages - Rawlsed by Addendum No. 3

em to.	Order Type	item Description	Brand Name of Item Bid	Model No. of Rum Bid	Est. Quantity	Unit Price	Total Price
1	Purchase	Manuchrame				<u> </u>	
		Bend 1					
	}	Copier					
	İ	Scanning			10		\$
		Notwork Printing			1.0		\$
		Fex			10		\$
	1	Monthly Maintenance Charge Per Copier (0-5,000 copies)			10		\$
		Per Copy Maintenance Overage Charge (5,001 and up)			3,060		\$
		Total for Band 1			18,000		\$
				T			\$
	- Andrews	Band 2		 			
		Copler					
		Scanning			15		\$
		Notwork Printing			15		\$
		Rex	- 	- 13	15		\$
		Shiple		0-	15		\$
		Monthly Maintenance Charge Fer Copier (0-15,000 copies)			15		\$
		Per Copy Meintenance Overage Charge (15,001 and up)			2,880		\$
	1	Total for Band 2			18,000		\$
							\$
		Bend 3					
]	Copler	<u> </u>				
		Scanning			5	-	\$
		Notwork Printing			5	`	\$
		Fex			5		\$
		Staple	<u> </u>		5		\$
			· · · · · · · · · · · · · · · · ·		5		\$
		Monthly Maintenance Charge Per Copier (0-30,000 copier)			1,800		\$
		Per Copy Maintenance Overage Charge (30,001 and up)			18,000		\$
		Total for Bend 3					\$
	İ	Band 4					
		Copier		i i	5		s
	1	Strateling	7		5		\$
		Network Printing			5		\$
	4	Fax			5		\$
		Staple			5		\$
		Monthly Maintenance Charge Per Copler (0-45,000 copler)			1,060		\$
		Per Copy Maintenance Overage Charge (45,001 and up)	,		18,000		\$
		Total for Band 4					\$

Purchase	- j	4		i	Ĭ		ì
i (coat.)	Monochrome			. [
	Band 5	· ···					
	Copier			5		<u> </u>	
	Scanning		<u> </u>	5			╌┤
	Network Printing			5			
	Feet		1	5			
. 1	Staple	(1 = 1)		5			
	Monthly Maintenance Charge Per Copier (0-65,000 copies)			700			
	Per Copy Maintenance Overage Charge (65,001 and up)			18,000			
	Yotal for Band 5		<u> </u>	<u> </u>		5	
					*	· · · · · ·	
	Band 5			i i			
	Copier			5		\$	
	Scanning		•	5		\$	
	Notwork Printing			5		\$	-
	Flex			5		\$	
	Staple			5		<u>-</u> \$	
1	Monthly Maintenance Charge Per Copier (0-80,000 copies)			150		5	
E .	Per Copy Maintenance Overage Charge (80,001 and up)			18,000		<u>\$</u>	
ĺ	Total for Band 6			<u> </u>		5	
			T			•	
	Bend 7						
	Copier		T	5		\$	
	Scanning			5		\$	
	Network Printing			5		\$	-
	Fex	.11		5		\$	
ŀ	Stapla			S		\$	-
	Monthly Maintenance Charge Per Copier (0-150,000 copies)			350		\$	-
	Per Copy Maintenance Overage Charge (150,001 and up)			18,000		<u> </u>	
	Total for Band 7		-	•		\$	-
			Total Parchase Price of I	Monockrome Bund	s 1 through 7	\$	

vena Vo.	Order Type	Rarn Description	Brand Nume	Model No.	Est. Quantity	Unit Price	Tota	i Price
2	Porchasa	Color					~	
				 -	 			
		Banti 1			+			
		Copier			5	75	\$	
		Scenning			5		\$	
		Notwork Printing			5		\$	
		Fex Control of the Co			5		\$	
		Par Copy Maintenance Charge (Color)			72,000		\$	
		Per Copy Melintanance Charge (Monochrome)			144,000		\$	
		Total for Band 1					\$	
		Charles and the charles are the charles and the charles are th					-	
		Band 2			╅			
		Copler			10		\$	
		Scanning			10		\$	
		Network Printing			10		\$	
		Fox			10		\$	
i		Staple			10		\$	
Ì		Par Copy Maintenance Charge (Color)			72,000		\$	
ļ		Por Copy Maintanance Charge (Monochrome)		12	144,000		\$	
i		Total for Band 2			51,,000		\$	
					T -		-	
		Band 3				~		
		Copier		-	5		\$	
		Scarning			5		\$	_
		Network Printing			5		\$	
		Priox			5		3 \$	
		Staple			5		\$	
		For Copy Maintanance Charge (Color)			72,000		\$	
		Per Copy Maintenance Charge (Monochroree)			144,000		<u> </u>	
		Total for Send 3					}	
	i				Т		-	
	1	Band 4			 			
		Copier			10		<u> </u>	
Ì		Scanning			10		\$	
		Network Printing			10		\$	
-		Fex			10		\$	
		Staple			10	-	\$	-
j		Per Copy Maintenance Charge (Color)		14	72,000		} _	
		Per Copy Maintenance Charge (Monochrome)			144,000		\$	
ļ		Total for Band 4			,,,,,		\$	
\dashv							-	
- 1			1		urchase Price of Co			

item No.		Description	Brand Name	Model No.	Est. Quantity	Unit Price Per Month	Total Price Per Month (Including Mointenance)
3	24 Month Lecon	Monochrome					
		Band 1			 		
	ļ						
		Capier (including maintenance for 0 - 5000 copies)			1	-	<u> </u>
	ļ	Scanning Network Printing			1		\$
	ļ	Pox			1		\$.
	1	the state of the s			1		\$ -
		Per Copy Maintenance Overage Charge (5001 and up) Total for Band 2			500		\$ -
		TOWN ICH DESIGN					\$ -
		Steed 2					
	1						
		Copier (including maintenance for 0 - 15,000 copies)		•	5	·	\$.
		Scanning			5		\$.
		Natwork Printing			\$		\$ -
		Frox			5		\$ -
		Stople			5		\$ -
		Prer Copy Maintenance Overage Charge (15,001 and up)	Ü		500		\$ -
		Total for Band 2					\$ -
		Send 3					<u> </u>
		Copier (Including maintenance for 9 - 30,000 copies)			5		\$ -
		Scenning			5		\$ -
		Network Printing Fex			5		\$ -
	ļ			34	5		\$ -
		Steple			5		\$ -
		Per Copy Maintenance Overage Charge (30,00), and up) Total for Band 3		13	500		\$ -
]	JOSH TOT BING 5					\$ -
	[

3 Loan	ilenth ie (c	Monochrome		0	Ì	1	
		Band 4			├ ──-		
- 1		Copier (including maintenance for 0 - 45,000 copies)			 		
		Scanning			5	\$	
		Network Printing			5	\$	
		Frox			5	\$	
		Skaple			5	\$	
ĺ		Par Copy Maintenance Overage Charge (45,001 and up)		 	5	\$	
ļ		Total for Bend 4			500	\$	
				-	 	\$	
		Bend 5		-	{		
		Copier (including maintenance for 0 - 65,000 copies)					
		Scanning			5	\$	
		Metwork Printing			5	\$	
i		Fax			5	\$	
-		Staple			5	\$	
ļ		Per Copy Maintenance Overage Charge (65,001 and up)		1	5	\$	_
		Total for Band 5			500	. \$	
						\$	
		Band 6					
į		Copier (including maintenance for 0 - 80,000 copies)					
		Sciening			5	\$	
		Network Printing			5	\$	
		Fex .			5	. \$	
		Staple			5	\$	
					5	\$	
		Per Copy Maintenance Overage Charge (80,001 and up)			500	\$	
		Total for Band 6	<u> </u>			\$	
Ì		Bend 7					
ļ							
1		Copier (including maintenance for 0 - 150,000 copies)			5	\$	
W. (2)		Sciening			5	5	
9		Nebwork Printing			5	\$	
Į		Fex			5	\$	
- 1		Staple		G 65	5	Š	-
		Por Copy Maintenance Overage Charge (150,001 and up)			500	\$	
- 1		Total for Band 7			 	\$	
					 		
			Total Monthly Lesse Pr	ice of Monochrome Bends	1 through 7 for 24 h	Aporth Longo C	

No.	Order Type							
à		item Description	Brand Name	Model No.	Est. Quantity	Unit Price Per Month	Total Price P Month (Includ Maintenano	Eng
	24 Month	Color						
		Band 1						
		Copier			5	_	\$	-
		Scanning			5		\$	-
		Network Printing	- 	1)	5		\$	•
	ŀ	Fex			5		\$	-
		Per Copy Maintenance Charge (Color)			2,000		\$	-
		Per Copy Meintenance Charge (Monochrome)			4,000		\$	▔
	1	Total for Band 1					\$	•
		Band 2		 				
	1	Copier			5			
		Scenning					\$	<u>.</u>
	Į	Hetwork Printing			5		\$	
		Fax		· · · · · · · · · · · · · · · · · · ·	5		\$	
		Staple		 	5		\$	-
		Per Copy Maintenance Charge (Color)			2,000		\$	•
		Per Copy Maintenance Charge (Monochrome)		<u> </u>	4,000		\$	
	1	Total for Bend 2		<u> </u>	4,000		\$	-
								_
		Banel 3			<u> </u>			_
	1	Copier			_ 5		\$	-
		Scanning			5		\$	
		Natwork Printing			5	,	\$	_
		Fax			5		\$	
		Staple			5		\$	-
	ĺ	Per Copy Maintenance Charge (Color)			2,000		\$	-
į		Per Copy Maintenance Charge (Monochrome)			4,000		\$	-
ı		Total for Band 3					\$	-
		Port 4		<u> </u>				
		Bend 4		 	 		ļ	
į		Copier		ļ	5		\$	-
		Scienting			<u> </u>		\$	-
		Metwork Printing			5		\$	-
		Feax Staple			5		\$	•
		Por Capy Maintenance Charge (Color)			5	_	\$	•
		Per Copy Meintenance Charge (Color)			2,000		\$	
		Total for Band 4			4,000		\$	
		I WALL THE PROPERTY OF THE PRO		+		-	\$	
			Total Blauchh	Lease Price of Color Des		A March !	 	

Item No.		Description	Wrand Name	odel No.	Est. Quantity	Unit Price Per Month	Total Price Per Month (Including Maintenance)
5	26 Moath Ledso	Manochrome				* * *	
		Band 1					
		Copier (including maintenance for 0 - 5,000 copies)			30		\$ -
		Scanning Notwork Printing			30		\$ -
		Fax			30		\$ -
	1				30		\$ -
	ļ	Per Copy Maintenance Overage Charge (5,001 and up) Total for Band 1.			500	-	\$ -
		I WANT TOT DRING 1				-	\$.
		Benri 2					
		Copier (including maintenance for 0 - 15,000 copies) Scanning		La Lagran	5		\$ -
		Natwork Printing	7.		5		\$.
	}			78.8	5		\$ -
		Fox		41	5		\$
	i .	Stople	3		5		s -
		Per Copy Maintenance Overage Charge (15,001 and up)			500	· ·	\$ -
		Yout for Band 2					\$.
	ļ						
		Barut 3			<u> </u>		
		Copics (including maintenance for 0 - 30,000 copies)			40		\$ -
	ĺ	Scanning	00 (2)		40		\$ -
		Natwork Printing			40	-	\$ -
		Fox		T-10	40		\$ -
		Staple			40		\$
		Per Copy Maintenance Overage Charge (30,001 and up)			500		s ·
	7	Total for Band 3					\$ -
	Ì	Bend 4					
		Copier (Including maintenance for 0 - 45,000 copies)					
		Scenning			40		\$ -
		Notwork Printing			40		\$ -
	ļ i	Fax			40		\$ -
		Staple			40		\$ -
	}	Per Copy Maintenance Overage Charge (45,001 and up)			40		\$.
		Total for Band 4			500		\$ -
		I SAME OF SAME A			1 1		\$ -

S James	Monochrome						
	Band 5	-					
	Copier (including maintenance for 0 - 65,000 copies)			40			
	Scanning				·	\$	-
1	Natwork Printing			40		\$	-
9	Fex			40	 	ş	_ •
and the same of th	Staple					\$	
	Per Copy Maintenance Overage Charge (65,000 and up)			40		\$	
ı	Total for Band 5			500		\$	
			-			\$	
	Band 6			- 			
}	Copier (including maintenance for 0 - 80,000 copies)						
December 1	Seanthing			20		\$	•
	Hatwork Printing			20		\$	•
	Fegs	**		20		\$	•
	Staple			20	<u> </u>	\$	-
	Per Copy Maintenance Overage Charge (80,00% and up)			20	;	\$	
	Total for Band 6	<u> </u>		500		\$	-
-	TOTAL IN DESIGN 0					55	-
	Sand 7						
- 1							
	Copier (including maintenance for 0 - 150,000 copies)			. 10		5	
Į	Scenning			10		\$	
	Nutwork Printing			10		\$	
I	Feex			10	***	\$	
ì	Staple			10		\$	
	Per Copy Maintenance Overage Charge (150,001 and up)			500		\$	
	Total for Sand 7					\$	
						-	
		Total Monthly Lease	Price of Monochrome Bar	rite 1 thereasth 7 day 20	Bennah Laure		

Beand 1 Copier Somming Notwork Printing Fex Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome) Total for Band 1 Band 2 Copier Somning Network Printing Fax Stople Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome) Total for Band 2 Band 3 Copier Somning Network Printing Fax Stople Per Copy Maintenance Charge (Monochrome) Total for Band 2 Band 3 Copier Somning Network Printing Fax Stople Per Copy Maintenance Charge (Monochrome) Total for Band 3 Copier Somning Network Printing Fax Stople Per Copy Maintenance Charge (Monochrome) Total for Band 3 Copier Somning Network Printing Fax Stople Per Copy Maintenance Charge (Monochrome) Total for Band 3 Copier Somning Network Printing Fax Stople Per Copy Maintenance Charge (Monochrome) Total for Band 3 Copier Somning Network Printing Fax Stople Per Copy Maintenance Charge (Monochrome)	Model No.	Est. Quantity	Unit Price Per Month	Total Price Per Month (Including Mainterance)
Copier Scenning Network Printing Pex Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome) Total for Band 2 Copier Scenning Network Printing Fax Stople Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome) Total for Band 2 Band 3 Copier Scenning Network Printing Fax Stople Per Copy Maintenance Charge (Monochrome) Total for Band 3 Copier Scenning Network Printing Fax Stople Per Copy Maintenance Charge (Monochrome) Total for Band 3 Band 4 Copier Scenning Network Printing Fax Stople Per Copy Maintenance Charge (Monochrome) Total for Band 3 Band 4 Copier Scenning Network Printing Fax Stople Per Copy Maintenance Charge (Monochrome) Total for Band 3 Band 4 Copier Scenning Network Printing Fax Stople Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Color)				
Copier Scenning Network Printing Pex Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome) Total for Band 2 Copier Scenning Network Printing Fax Stople Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome) Total for Band 2 Band 3 Copier Scenning Network Printing Fax Stople Per Copy Maintenance Charge (Monochrome) Total for Band 3 Copier Scenning Network Printing Fax Stople Per Copy Maintenance Charge (Monochrome) Total for Band 3 Band 4 Copier Scenning Network Printing Fax Stople Per Copy Maintenance Charge (Monochrome) Total for Band 3 Band 4 Copier Scenning Network Printing Fax Stople Per Copy Maintenance Charge (Monochrome) Total for Band 3 Band 4 Copier Scenning Network Printing Fax Stople Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Color)		 		
Scanning Notwork Printing Fax Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome) Total for Band 1 Band 2 Copier Scanning Network Printing Fax Staple Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Ronochrome) Total for Band 2 Band 3 Copier Scanning Network Printing Fax Staple Per Copy Maintenance Charge (Monochrome) Total for Band 2 Band 3 Copier Scanning Network Printing Fax Staple Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome) Total for Band 3 Staple Per Copy Maintenance Charge (Monochrome) Total for Band 3 Band 4 Copier Scanning Network Printing Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Color)				
Nickwork Printing Fox Per Copy Maintenance Charge (Color) For Copy Maintenance Charge (Monochrome) Total for Band 1 Band 2 Copier Scanning Network Printing Fax Stople Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome) Total for Band 2 Band 3 Copier Scanning Network Printing Pax Stople Per Copy Maintenance Charge (Monochrome) Total for Band 3 Copier Scanning Network Printing Pax Stople Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome) Total for Band 3 Band 4 Copier Scanning Network Printing Pax Stople Per Copy Maintenance Charge (Monochrome) Total for Band 3 Band 4 Copier Scanning Network Printing Pax Stople Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome)		5		\$ -
Pex Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome) Total for Band 3 Band 2 Copier Senning Network Printing Fax Simple Per Copy Maintenance Charge (Monochrome) Total for Basid 2 Band 3 Copier Senning Network Printing Fax Staple Per Copy Maintenance Charge (Monochrome) Total for Basid 2 Band 3 Copier Senning Network Printing Fax Stople Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome) Total for Band 3 Band 4 Copier Scanning Retwork Printing Fax Stople Per Copy Maintenance Charge (Monochrome) Total for Band 3 Band 4 Copier Scanning Retwork Printing Fax Stople Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Color)	ett	5		\$ -
Per Copy Maintenance Charge (Monochrome) Total for Band 2 Copier Scanning Network Printing Fax Stople Per Copy Maintenance Charge (Monochrome) Total for Band 2 Eand 3 Copier Scanning Network Printing Per Copy Maintenance Charge (Monochrome) Total for Band 2 Eand 3 Copier Scanning Network Printing Pax Stople Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome) Total for Band 3 Copier Scanning Network Printing Pax Stople Per Copy Maintenance Charge (Monochrome) Total for Band 3 Band 4 Copier Scanning Network Printing Pax Stople Per Copy Maintenance Charge (Monochrome) Total for Band 3		5		\$ -
Per Copy Maintenance Charge (Monochrome) Total for Band 1 Band 2 Copier Scanning Network Printing Pax Staple Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome) Total for Band 2 Band 3 Copier Scanning Network Printing Pax Staple Per Copy Maintenance Charge (Color) Par Copy Maintenance Charge (Color) Pax Staple Per Copy Maintenance Charge (Monochrome) Total for Band 3 Band 4 Copier Scanning Network Printing Pax Staple Per Copy Maintenance Charge (Monochrome) Total for Band 3 Band 4 Copier Scanning Network Printing Pax Staple Per Copy Maintenance Charge (Monochrome)		5		\$ -
Total for Band 1 Band 2 Copier Scanning Metwork Printing Fax Staple Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome) Yetal for Band 2 Band 3 Copier Scanning Network Printing Fax Staple Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome) Total for Band 3 Band 4 Copier Scanning Network Printing Fax Staple Per Copy Maintenance Charge (Monochrome) Total for Band 3 Band 4 Copier Scanning Network Printing Fax Staple Per Copy Maintenance Charge (Monochrome)	:	2,000	·	
Band 2 Copier Scanning Network Printing Fax Simple Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome) Total for Basid 2 Band 3 Copier Scanning Network Printing Fax Stople Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome) Total for Band 3 Band 4 Copier Scanning Network Printing Fax Staple Per Copy Maintenance Charge (Monochrome) Total for Band 3 Band 4 Copier Scanning Network Printing Fax Staple Per Copy Maintenance Charge (Color)		4,000		
Copier Scanning Network Printing Fax Staple Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome) Tetal for Basel 2 Band 3 Copier Scanning Network Printing Fax Staple Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome) Total for Basel 3 Band 4 Copier Scanning Network Printing Fax Staple Per Copy Maintenance Charge (Monochrome) Total for Basel 3 Band 4 Copier Scanning Network Printing Fax Staple Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Color)		-7		
Copier Scanning Network Printing Fax Strule Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome) Tetal for Based 2 Band 3 Copier Screening Network Printing Fax Stople Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome) Total for Band 3 Band 4 Copier Scanning Network Printing Fax Stople Per Copy Maintenance Charge (Monochrome) Total for Band 3 Band 4 Copier Scanning Network Printing Fax Stople Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Color)		 		<u>\$</u>
Scanning Network Printing Pax Staple Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome) Total for Based 2 Based 3 Copier Scanning Network Printing Pax Staple Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome) Total for Based 3 Based 4 Copier Scanning Network Printing Pax Staple Per Copy Maintenance Charge (Monochrome) Total for Based 3		 	L	
Network Printing Fex Simple Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome) Total for Band 2 Band 3 Copier Schning Network Printing Fex Stople Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome) Total for Band 3 Band 4 Copier Scanning Network Printing Fex: Stople Per Copy Maintenance Charge (Monochrome) Total for Band 3 Band 4 Copier Scanning Network Printing Fex: Stople Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Color)		5		4
Fax Stople Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome) Total for Based 2 Based 3 Copier Scorening Network Printing Fax Stople Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome) Total for Based 3 Band 4 Copier Scanning Network Printing Fax Stople Per Copy Maintenance Charge (Monochrome) Total for Based 3 Pand 4 Copier Scanning Network Printing Fax Stople Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome)		5	- 13	\$ -
Staple Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome) Total for Bassil 2 Bassil 3 Copier Sennning Network Printing Fax Staple Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome) Total for Bassil 3 Band 4 Copier Scanning Network Printing Fax Staple Per Copy Maintenance Charge (Monochrome) Fotal for Bassil 3				\$ -
Per Copy Maintenance Charge (Monochrome) Tetal for Basid 2 Band 3 Copier Senining Network Printing Faix Staple Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome) Total for Basid 3 Band 4 Copier Scanning Network Printing Faix Staple Per Copy Maintenance Charge (Monochrome) Total for Basid 3 Band 4 Copier Scanning Network Printing Faix Staple Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome)		5 5		\$ -
Per Copy Maintenance Charge (Monochrome) Total for Based 2 Based 3 Copier Sentning Network Printing Fax Stople Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome) Total for Based 3 Based 4 Copier Scanning Network Printing Fax Stople Per Copy Maintenance Charge (Monochrome) Total for Based 3 Per Copy Maintenance Charge (Monochrome) Per Copy Maintenance Charge (Monochrome) Per Copy Maintenance Charge (Monochrome)				\$ -
Per Copy Maintenance Charge (Monochrome) Total for Based 2 Based 3 Copier Sentning Network Printing Fax Stople Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome) Total for Based 3 Based 4 Copier Scanning Network Printing Fax Stople Per Copy Maintenance Charge (Monochrome) Total for Based 3 Per Copy Maintenance Charge (Monochrome) Per Copy Maintenance Charge (Monochrome) Per Copy Maintenance Charge (Monochrome)		5		\$.
Total for Basel 2 Basel 3 Copler Sconning Network Printing Fax Stople Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome) Total for Basel 3 Basel 4 Copler Scanning Network Printing Fax Stople Per Copy Maintenance Charge (Monochrome) Per Copy Maintenance Charge (Monochrome)		2,000		\$ -
Copier Schning Network Printing Fax Staple Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome) Total for Band 3 Band 4 Copier Scanning Network Printing Fax Staple Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome)		4,000		\$ -
Senning Network Printing Fax Stople Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome) Total for Band 3 Band 4 Copler Scanning Network Printing Fax Stople Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome)				
Senning Network Printing Fax Stople Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome) Total for Band 3 Band 4 Copler Scanning Network Printing Fax Stople Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome)		 _		
Network Printing Fax Stopin Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome) Total for Band 3 Band 4 Copier Scanning Network Printing Fax Stopie Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome)		40		\$ -
Fax Stople Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome) Total for Band 3 Band 4 Copler Scenning Network Printing Fax Stople Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome)		40		\$ -
Stopin Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome) Total for Band 3 Band 4 Copier Scanning Network Printing Fax Stopie Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome)		40		\$ -
Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome) Total for Band 3 Band 4 Copier Scanning Network Printing Fax Stopie Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome)		40		\$ -
Per Copy Maintenance Chargo (Monochrome) Total for Band 3 Band 4 Copler Scanning Network Printing Fax Staple Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome)		40		\$.
Total for Band 3 Band 4 Copier Scanning Network Printing Fax Staple Per Copy Maintenance Change (Color) Per Copy Maintenance Change (Monochrome)		2,000	0.1	\$ -
Band 4 Copler Scanning Network Printing Fax Stopie Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome)		4,000		\$ -
Copier Scanning Network Printing Fax Stopie Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome)		<u> </u>		\$ -
Copier Scanning Network Printing Fax Stripte Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome)				
Scanning Network Printing Pax Striple Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome)	,	<u> </u>		
Network Printing Fax Staple Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome)		40		\$ -
Fax Striple Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome)		40		\$.
Striple Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome)		40		\$ -
Per Copy Maintenance Charge (Color) Per Copy Maintenance Charge (Monochrome)		40	•	\$ -
Per Copy Maintenance Chargo (Monochrome)		40		\$ -
		2,000		\$ -
		4,000		\$ -
Total for Band 4				\$
	Monthly Lease Price of Color Bands			

tern Vo.		Description	Grand Name	lodel No.	Est. Quantity	Unit Price Per Month	Total Price Per Month (Includin Maintenence)
7	48 Silonoh Lesson	Monochrome					
		Bend 1					
		Copier (including maintanance for 0 - 5,000 copies)					
		Scanning			30		\$.
		Network Printing			30		\$.
		Fax			30	111	\$
		Por Copy Maintenance Overage Charge (5,001 and up)	•		30		\$
		Total for Sand 1			500		\$
					 		\$
		Bond 2			 		
		Copier (including maintenance for 0 - 15,000 copies)			 -	<u> </u>	
		Scanning			30		\$
		Retwork Printing	· · · · · · · · · · · · · · · · · · ·	· · · · · · · · · · · · · · · · · · ·	30		\$
		Fax		****	30	1 22	\$
	ł	Staple			30		\$
	draw-freeh	Par Copy Maintenance Overage Charge (15,001 and up)			30		\$.
		Total for Band 2			500		5
				 			\$.
		Band 3					
	are and a second	Copier (including maintenance for 0 - 30,000 copies)					
		Scattering			80		\$.
		Ketwork Printing		 	80		\$
		Fex			80		\$.
		Staple			80	ll.	\$
		Per Copy Maintenance Overage Charge (30,001, and up)	-		500		\$.
		Total for Rand 3			300		\$
							\$
		Band 4		 -	- 		
	-	Copier (including maintenance for 0 - 45,000 copies)			40		\$.
	Ì	Scattering			40		\$
	1	Rietwork Printing			40		\$
		Fex			. 40		\$
		Sizple			40	,	\$
		Per Copy Maintenance Overage Charge (45,001 and up)			500	-	\$
	1	Total for Band 4	1		+		\$

48 Month	Monochrome		0		Ì	
	Band 5					
	Copier (Including maintenance for 0 - 60,000 copies)		(2)	30		
1	Scanning			30	- \$	
į	Metwork Printing				. \$	-
	Feex			30	\$	
Ì	Skaple			30	\$	
1	Par Copy Maintenance Overage Charge (60,001 and up)		7.1	500	\$	<u> </u>
i	Total for Band 5			300	\$	
					\$	
	Bend 6					
	Copier (including maintenance for 0 - 80,000 copies)					
1	Scenning			35	\$	<u> </u>
4	Network Printing		<u> </u>	35	. \$	•
	Fax			35	. \$	-
	Staple			35		-
ŀ	Per Copy Maintenance Overage Charge (80,001 and up)			35	\$	
	Total for Band 6	- 10	- A	500	. \$	
	Tarante Marie &				\$	=
	Band 7					
	Copier (including maintenance for 0 - 150,000 copies)			25		
1	Scanning			25	\$	<u>-</u> -
	Metwork Printing			25	\$	
1	Fax	<u> </u>		25	\$:
1	Stuple			25	y \$	
	Per Copy Maintenance Overage Charge (150,001 and up)				\$	
	Total for Band 7			500	\$	
Į			- 	- 	<u> </u>	
		7-t-1 \$4	use Price of Monachrome Band			

	48 Microsia Linasa	Color Based 1 Copier Scanning Network Printing Fex Par Copy Maintenance Charge (Color)					
		Copier Scanning Network Printing Fax					
		Copier Scanning Network Printing Fax					
ALA - Lapin-ingertraling by order to the second sec		Scanning Network Printing Fox					
om propriedation of the state o		Metwork Printing Fox		A-W -	5		\$
the state of the s		Fax			5		\$
					5		\$
					5		\$
					2,000		\$.
		Per Copy Maintenance Charge (Monochrome) Total for Band 1			4,000		\$.
		I WALL WITH STREET					\$
		Bend 2					
		Capler					
					10	· · · · · · · · · · · · · · · · · · ·	\$.
	- 1	Scenning Network Printing			10		\$.
		Fix			1.0		\$ -
- 1		Staplo		5	10		\$.
	ŀ	Per Copy Maintenance Charge (Color)		<i>h</i> = =	. 10		\$.
	j				2,000		\$ -
- 1	ŀ	Per Copy Maintenance Charge (Monochrome) Total for Band 2			4,000		\$
	ŀ	TURN FOR BERGI 2					\$ -
	1	Band 3					
- 1		Copter			_		
-	-	Scanning			20		\$.
-	}	Network Printing		13	20		\$ -
1	ŀ	Frox	<u> </u>		29		\$ -
-	ŀ	Staple			20		\$
-	1	Por Copy Maintenance Charge (Color)			20		\$
	ŀ	Per Copy Maintenance Charge (Color)			2,000		\$
		Total for Band 3		12	4,000		\$
	ł						\$
	ŀ	Bend 4		<u> </u>			
ì	ŀ	Copies	- 	<u> </u>			
	ŀ	Scanning			\$0		\$ -
	- 1	Network Printing			50		\$ -
1	}	Fix			50		\$
	ŀ	Steple			50		\$ -
	}	Per Copy Maintenance Charge (Color)			50		\$ -
	ł	Por Copy Maintanance Charge (Monochrome)			2,000		\$ -
		Total for Band 4		<u> </u>	4,000		\$ -
	ŀ		l .				
				 	 		\$.

Aurehasing Price of Monochrome Bands 1 through 7 Aurehas Price of Color Bands 1-4	\$	-
urchas Price of Color Bands 1-4		
	\$	
Monthly Lease Price of Monachrome Bands 1 through 7 for 24 Month Lease	\$	
fortisty Lesse Price of Color Bands 1 through 4 for 24 Month Lessa	\$	
Monthly Losse Price of Monochrome Bands 1 through 7 for 36 Month Lesse	s	-
Monthly Leuse Price of Color Bands 1 through 4 for 36 Month Leuse	\$	-
Monthly Lease Price of Monochrome Bands 1 through 7 for 48 Month Lease	\$	
Vionthly Lease Price of Color Bands 1 through 4 for 48 Month Lease	\$	-
	Monthly Lesse Price of Color Bands 1 through 4 for 24 Month Lesse Monthly Lesse Price of Monochrome Bands 1 through 7 for 36 Month Lesse Monthly Lesse Price of Color Bands 1 through 4 for 36 Month Lesse Monthly Lesse Price of Monochrome Bands 1 through 7 for 48 Month Lesse Monthly Lesse Price of Color Bands 1 through 4 for 48 Month Lesse	Worthly Lesse Price of Color Bands 1 through 4 for 24 Month Lesse \$ Wonthly Lesse Price of Monochrome Bands 1 through 7 for 36 Month Lesse \$ Monthly Lesse Price of Color Bands 1 through 4 for 36 Month Lesse \$ Monthly Lesse Price of Monochrome Bands 1 through 7 for 48 Month Lesse \$

Vendor Information:
/endor Name:
Contact Name:
Address:
Phone No.:
Fax No.:
rex 190
Authorized Signature:

EXHIBIT 3

Q1 - FY-2015	July. Aug. a	ti.	Inder DIGCO	ystems Placeo P12 in FY-201
Hono Sends				48 months
1	2	0	1	2
2	0	0	3	6
3	1	0	2	26
4	0	0	3	7
5	0	0	0	4
ð	C	0	1	4
7	0	0	0	1
Cono Totals	3	(3)	10	50

	Color Bancis	Purchase	24 months	36 months	48 months
	1	0	0	0	0
Γ	2	0	0	0	1
Г	3	0	1	1	2
Γ	4	1	1	2	7
-	Color rotals	1	2	3	10

ule Date	Customer Name	1	Poliar Amount	Tom	Payment		Numba
07/07	DHHR	\$	6,315.84	48	131.58	2 Mono - 48	-
07/07	DHHR	\$	14,273.76	48	297.37	4 Color - 48	-
07/07	DHHR	\$	12,281.28	48	255.86	6 Mono - 48	4
07/07	Highways	\$	6,326.64	36	175.74	2 Mono - 36	1
07/07	Insurance Commission	\$	9,699.36	48		4 Mono - 48	4
07/07	Insurance Commission	S	12,082.08	48		6 Mono - 48	4
07/07	Insurance Commission	\$	7,990.08	48		4 Mono - 48	1
07/07	Insurance Commission	\$	7,990.08	48		4 Mono - 48	1
	Insurance Commission	\$	7,913.76	43		4 Mono - 48	1
	Insurance Commission	\$	7,512.00	48		3 Mono - 48	1
	WV Conservation Agency	\$	8,928.72	36		3 Color - 36	1
	WV Conservation Agency	\$	8,928.72	36		3 Color - 48	1
	WV Conservation Agency	\$	8,928.72	36		3 Color - 48	1
	Juvenile Services	\$	7,624.80	48		2 Color - 48	1
	DHHR		10,017.60	24		4 Color - 24	1
		\$					1
	Highways	\$	12,149.28	36		4 Color - 36 4 Mono - 36	1
d	DHHR	\$	8,619.84	36			
	DHHR	\$	8,619.84	36		4 Mono - 36	1
	Agriculture	\$	9,265.38	1		4 Color - P	1
	Insurance Commission	\$	7,913.76	48		4 Color - 48	ĵ
	DNR	\$	4,358.88	36		2 Mono - 36	1
	Insurance Commission	\$	16,981.92	48		7 Mono - 48	1
07/25	Secretary of State	\$	1,473.84	36	40.94	1 Mono - 36	1
		\$					
		\$	444		A de la constantina della cons		
		\$			1		
		\$	1991				
1		\$	-				
	THE PARTY LANGE MAKE A "TOPP OF THE PARTY AND ADMINISTRATION O	\$			Here as		
		\$	-				
1	me a commo ne metacoloris (E. M. Mariannica S. M. M. Palanica M. M. M. Mariannica M. P. M.	15	-				
4	I by the many a transmission of the last transmission of the same	\$	-				
		1 \$					
		53	•		1		
	manus	\$			1		
		\$					
		S					
		S					
	MATTER Excession in the Miller of State of the State of t	5	make married for the second processor and the second reservoir and the same	ener van verhausti e berd Verdebellindi. Mindfill (1941	page 100g 11 on person		A . 1-1 A . 111
		- F				- Apparelle 1	F 100 - 10 10 - 10 10 10 10 10 10 10 10 10 10 10 10 10
	and the second section of the second section of the second section of the second section secti	1 54	Anna da y y a ar ar a compa o m				
and the second s	manual language of the control of th						
	TO THE STATE OF TH	THE REST CONTRACTOR TO SERVICE STREET	e de la compresa del compresa de la compresa del compresa de la compresa del la compresa del la compresa de la compresa de la compresa de la compresa de la compresa de la compresa de la compresa de la compresa de la compresa de la compresa de la compresa de la compresa de la compresa de la	nonholistica ser han et et 111 - 1	,		** ** ** **
		<u>\$</u>				· · · · · · · · · · · · · · · · · · ·	
The second desired the second			- 1 1			,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	
No. 100 May 100 May 170 in a minimum research of the religion for the company of the compa	. 13	ST 2		====:		energia () in the second of the contract of	
		- 3	manner mener samerer i samere e i s			of some measure was class our district. 40000 state	- 14 - 14 1446-14
		1.3	The state of the s				
	complete to the 18 feet below to the terms of the terms o						
! 0	logal of July Sales	46	206,196,18	1		پېر د	23
number of the second se		Gordi	ued an neri stest				

le Date	Customer Name	1 0	ejia <u>r Amount</u>	Torm	Payment		No. pr
08/07	Veterans Nursing	\$	20,419.68	48		4 Color - 48	
08/07	Veterans Nursing	\$	-	48		2 Mono - 48]
08/07	Insurance Commissioner	\$	11,578.56	48		6 Mono - 48	
08/07	Insurance Commissioner	\$	11,578.56	48		6 Mono - 48	
08/07	Insurance Commissioner	\$	5,543.04	48		3 Mono - 48	
08/13	DMV	\$	65,775.36	48	1,370.32	3 Mono - 48	
08/22	Juvenile Services	\$	9,408.48	48		4 Color - 48	
08/22	Juvenile Services	\$	-	48		2 Mono - 48	
	Forestry	\$	5,952.00	24		3 Color - 24	
	Tax Dept	\$	7,315,92	36	203.22	4 Mono - 36	
		\$					
		\$	-				
		\$	_				
	The state of the s	S	-	i			[
		\$					
	- A MANUE AND MINISTER OF THE PARTY OF THE P	\$.14		-		-
	the same is a sum of the same to the same	\$					
		\$					S
		1\$					
1		\$					
		\$					
		\$				prysoner and the state of the s	i
		1 4					
and the campaigness of the	and the second section of the second section of the second			+			
		; ₍₂)	TO .				;
	The second of th						
	g pages come at common common		C W				
			2 1 E		a. See more a management for some Australia All See Australia	and the second s	i
	The state of the s	9					
Am American Constitution in Con-		1.0	AND AND AND AND AND AND AND ADDRESS OF THE PARTY OF THE P				
					American and a supplemental and a second		
	. W. C.		a		Francisco armed analysis (4) (1) (1) (1) (1)	and the mark to also a superior of	
						and the state of t	
	gapana — na ranganara makada (AN) (A) (gapana sanara mara — na na na na na na na na na na na na na		engang tipot we wante women want the contract was seen as				
	we will also a second of the s		to the streaming of the state o				
-		3				maner	
1		. 3	which is the same of the same				
						the Ballion of States of States of States	· · · · · ·
	Control of the control of the Contro		- ;				
		- 3					
		\$		i			Management Services, Services
o recommendado en estado en estado en estado en estado en estado en estado en entre entre en entre en entre en entre en entre en entre en entre en entre en entre en entre en entre en entre en entre	and the second s	1.					
		13					
	r name vann) - gyfrigggeninn am ha, am arannern vann - en ann dirhy. Ulterfyldd - gleffyr Pathall - ei Val All An - an - an - an - a - an - an - an -	8	Companies and manager (Advisor C. SAA B Antiques of As		The second section of the second section of the sec	4	
	Appearance on the first of the control of the contr	3	and the second of the second o		T		
		1.5			regularity of the common transfer of the contract of the contr	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	
	Case of the control o		I was your a many as grounds described as as one				
	where Military and the section of th	1.0					
	THE RESERVE OF THE PROPERTY OF						
			329 637 68				
A The second second black control of	local of Aug Sales	\$	137,571(80)				
		donky	บชร์ ยก กองปลโรรมี	i	Section of the Management of the		valar or effective to

io Date	Customer Name	Do	ljar Amount	Term	Payment	Banci	Numb
09/08	DHHR	\$	7,200.00	48	150.00	3 Mono - 48	
09/15	DHHR	\$	2,712.96	48	56.52	1 Mono - 48	
09/08	DHHR	\$	11,464.32	48	238.84	5 Mono - 48	
09/08	State Police	\$	700.00	1	700.00	1 Niono - P	
09/08	State Police	\$	700.00	1	700.00	1 Mono - P	
09/10	WorkForce WV	\$	3,200.00	4	3,200,00	3 Mono - P	
09/10	Juvenile Services	\$	14,720.16	48		4 Mono - 48	†
09/11	DHHR	\$	9,978.72	48		4 Mono - 48	
	Corrections	\$	22,082.68	48		5 Mono - 48	
	Corrections	\$	137,903.52	48		5 Mono - 48	
	Corrections	\$	-	48		3 Mono - 48	
	DHHR	\$	14,430.72	48		5 Mono - 48	
	Racing Commission	\$	8,112.96	48		4 Color - 48	
	Courthouse Facilities	\$	8,315.84	48		2 Mono - 48	
	Tax Dept	\$	8,493.60	48		4 Mono - 48	
	DHHR	\$	2,712.96	48		1 Mono - 48	
	Tax Dept	\$	5,848.12	36		3 Mono - 36	
	DHHR	\$	7,609.44	48		4 Color - 48	
	Tax Dept	\$	5,846.12	36		3 Mono - 36	
	DHHR	\$	13,350.60	36		3 Mono - 36	
						2 Mono - 36	
	Highways	\$	6,039.84	48 48		3 Mono - 48	
	DHHR	\$	7,200.00				
19/26	Highways	\$	14,196.98	38	384.30	4 Color - 36	and an area and a
		\$					man representative according to
	and the second second second second second second second second second second second second second second second	\$	Name .			1	
	CONTRACTOR OF THE PARTY OF THE	\$	ani.			- None to said, with the said of the said	nightonia didirikan sikka
	AND SECURITY OF SECURITY SECUR	- 5	-				
		\$	-		[
		\$				a confirmations or hitchicknesses as a district in	ments of color or by the color
		\$	-				-
		\$	68				
		S	=				
		\$	THE RESIDENCE OF THE PARTY AND ADDRESS OF THE				
secondary of the second		\$	June 1				
	Alta Micros seasons control manufactures and Microsin annula Microsin Albert — Alta Alta Alberta Seasons annual Arta Alberta Alberta Seasons annual Arta Alberta A	3	v [The state of the s	1		
		\$					uditiolookiloonise saaddonoonisekkeleideilidid
	The second secon	\$			2		Attorible consentration for the first terms
	our Philadelikushidi 1990 (Milakushida sa 1991 (Mil	\$	pad				
A STATE OF THE STA		\$					
	(BENDER) () BENDER STEEL PROGRAMMEN (BENDER) SEEDERS (BENDER) AND AN ALBANIAN NAME OF AMERICAN	\$			-	V	
	and the property and the second of the secon	S	we were arranged to the same of the same o		material and a second programme of the second secon		
	- Addition of the state of the	\$					man, de V. de-springer-monace
		\$					
		\$	all 1961 17 (All and All All all all all all all all all all	-			
	and proceedings and process and an arrangement of the second			1	Approximate a superior and the superior	And the same of th	
	and the second s	\$					
		\$		F			
	con it was consistent with translation to the training of which is a training over the constrained parameter and constrained to the constrained training of the constraine	\$	Programme and the contraction of			Market Market Market Market Market Market Market Market Market Market Market Market Market Market Market Market	*** -** ****
Ė		\$	-				
	otal of July Sales		312,817.72	men amazana	and in the case of		

Q2 - FY-2015 Mono Bands			Inder DIGCO	ystems Placed P12 in FY-2015
1	0	0	3	6
_ 2	0	0	2	3
3	3	0	6	5
4	0	0	4	7
5	0	0	2	14
6	0	0	3	7
7	0	0	2	6
Mono Totals	3	0	22	48

	Color Sands	Purchase	24 monits	35 months	48 months
	1	0	0	1	0
	2	0	0	2	2
	3	0	1	0	1
1 1 1 1 1	4	0	3	4	3
	Color Totals	0	ã.	7	6

Ila Date	Customer Name	Dol	ar Amount	Term	Payment		Number
10/07	Miner Health & Saftey	\$	7,989.60	48		4 Mono - 48	1
10/07	Miner Health & Saftey	\$	14,047.20	48		6 Mono - 48	1
10/07	Miner Health & Saftey	\$	14,047.20	48	\$ 292.65	6 Mono - 48	1
10/07	Miner Health & Saftey	\$	14,047.20	48			1
10/07	Miner Health & Saftey	\$	14,047.20	48	\$ 292.65	6 Mono - 48	1
10/07	Miner Health & Saftey	8	14,047.20	48	\$ 292.65	6 Mono - 48	1
10/08	DHHR	\$	3,331.20	48	\$ 69.40	1 Mono - 48	1
10/08	DHHR	\$	3,331.20	48	\$ 69.40	1 Mono - 48	1
10/08	DHHR	\$	3,331.20	48	\$ 69.40	1 Mono - 48	1
10/08	DHHR	\$	3,331.20	48	\$ 69.40	1 Mono - 48	1
10/08	DHHR	\$	15,612.00	48	\$ 325.25	6 Mono - 48	1
10/08	Disability Determination	\$	9,799.00	1		3 Mono - P	2
10/08	Disability Determination	\$	4,899.50	1		3 Mono - P	1
10/08	Tax:	\$	9,119.52			4 Color - 48	1
10/08	Tax	\$	8,493.60	48		4 Mono - 48	1
10/10	Auditor's Office	\$	21,421.44			7 Mono - 48	1
10/10	Insurance Commissioner	S	11,304.48	48		5 Wono - 48	1
	Insurance Commissioner	\$	11,304.48	48		5 Mono - 48	1
10/20	Insurance Commissioner	\$	11,304.48	48		5 Mono - 48	1
10/20_		\$	10,979.64			5 Mono - 36	1
10/21	Highways			36	¢ 744.59	3 Miono - 36	4
10/21	Highways	\$	25,614.72			3 Mana - 36	1
10/21	Highways	\$	6,846.12	36 48		2 Mono - 48	1
	DNR	\$	6,124.32			3 Mono - 48	
10/23	DNR	\$	7,200,C0	48	\$ 150.00	3 1910110 - 40	
\		\$	-				
		5	417				
		15	mt .				
and the last		S	w				
		\$				aviant-	
		\$	*				
		\$	-				
		\$	-			1	
	- distribution of the second o	\$	-				
		- 3	-				
	M. Management 1 and 1 an	\$	Febr				
		S	-				
		5	-				
	and the supplementary of the s	5					
	gas	\$	-	7			
		\$					
		\$	-				
	Market 41000	\$					
		S					
		\$			A =		
	The state of the s	\$					
		\$ \$					
		\$					
		\$					
	Total of October Sales		251,573.70				28
		continue	d on next sheet				

e Date	Customer Name		ler Amount	Tarm	kangeri	डेक्कर	Num
11/03	DHHR	\$	156,401.28	48		3 Wono - 48	<u> </u>
		\$	-62	48		4 wiono - 48	
		\$	-	48		5 Mono - 48	
11/03	Highways	\$	1,473.84	36		1 Mono - 36	
11/05	Library Commission	\$	7,200.00	48		3 Mono - 36	
11/06	DHHR	\$	13,727.04	48		6 Mono - 48	
11/06	Juvenile Services	\$	7,526.40	48		2 Color - 48	
11/07	Highways	\$	5,944.68	36		4 Color - 36	
	DHHR	\$	2,964.00	48		1 Mono - 48	
11/10	DHHR	\$	1,473.84	36		1 Mono - 36	
11/10	DHHR	\$	2,555.64	36	70.99	1 Mono - 36	
	DHHR	\$	18,049.44	48	376.03	7 Mono - 48	
	Tax	\$	7,913.76	48	164.87	4 Color - 48	
11/14	Public Service Commission	\$	42,346.56	48		7 Mono - 48	
	Juvenile Services	\$	7,528.80	48		2 Color - 48	
	Auditor	\$	21,421.44	48		7 Mono - 48	
	Highways	38	8,886.96	36		4 Mono - 36	
	Highways	\$	4,429.44	36		2 Mono - 36	
100-767		\$	", "2.0.17				
		\$				·	
		\$					
		\$	-				
		1 44	-7				
						*4 s ventore et an illustration set a teller	
				page 192 192 193 193 193 193 193 193 193 193 193 193			
	A manufacture of B-1. Valid All (All All All All All All All All Al	4	Les :		control of the section of the sectio		
	V 3 1 security (Section and Asia Parallemental and approximation a		The Committee of the American American Committee of the C	a grouphic No.			
general particles and an executive con-		7-25				security and course survaines web variable.	or company of the control of the con
		(-4)					
	A CONTRACTOR OF THE STATE OF TH		SCHOOL RECEIVED AND MINER SHAME LANGUAGE OF SHAME PROPERTY.	·			
	100 A 100 A	- 1 - 1	The second secon				100 C V 00 C V
	The second secon				2111 1979. 1 19 MA		
	White William P. C.		contrade the second second second		m. m. m. m. m. m. m. m. m. m. m. m. m. m	waxareaana wax	
	Market to considerate the construction of the		No. with case of the Aw Ar I select the second con-				era i danim stati atti casaliti
2 THE . PROPERTY OF S. P.						and accommon to the common of the common of	
				report and with a profit age of the contract o	a or a server server		
	and the second of the second o	· · · · · · · · · · · · · · · · · · ·		1 0 1 0 0 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1			
		3					
		\$					
		S					
		\$					
		\$	7/				
		S					
		5					
		5					
		5					
		S	-				
		S	-				
17	otal of Nov Sales		309,843.12				
	Viai di Hor Gales		ed on next sheet				

aie Date		Do	ilar Amount	Term	Payment		Numb
12/02	EPA	\$	17,612.64	36		7 Mono - 36	
12/02	EPA	\$	17,612.64	36	489.24	7 Mono - 36	
12/02	EPA	\$	8,570.88	36	238.08	4 Color - 36	
12/03	Highways	\$	20,560.32	36		6 Mono - 36	
12/03	Secretary of State	\$	19,139.40	36		6 Mono - 36	
12/03	Secretary of State	\$	-	36		2 Color - 36	
12/03	Secretary of State	\$		36		1 Color - 36	
12/03	Veterans Nursing	\$	8,207.52	48	170 99	4 Color - 48	
12/05	Insurance Commission	\$	15,804.96	48		7 Miono - 48	
12/08	Div. of Corrections	\$	4,382.64	36		2 Color - 36	
12/08	Forestry		5,952.00	24		3 Color - 24	
		\$		· .		5 Mono - 36	1
12/15	Div. of Corrections	\$	10,771.20	36			
12/15	Treasurers Office	\$	9,475.20	48		4 Niono - 48	
12/15	DHHR	\$	17,239.68	36		4 Mono - 36	
12/15	Volunteer WV	\$	6,315.84	48		2 Mono - 48	
12/15	Highways	\$	14,649.12	48		6 Mono - 36	
12/17	Div. of Corrections	\$	5,813.64	36		2 Mono - 36	
12/18	DHHR	\$	30,052.80	24		4 Color - 24	
12/23	Div. of Corrections	\$	2,772.48	48	57.76	1 Mono - 48	
12/31	Hatfield & McCoy Trails	\$	9,323.52	48	194.24	3 Color - 48	
12/31	DHHR	\$	28,802.16	36	800.06	4 Color - 36	
12/31	DHHR	3	7,490.88	36		4 Mono - 36	
12/31	DHHR	\$	11,544.48	48		5 Мопо - 48	
	DHHR	\$	6,315.84	48		2 Viono - 48	
	DHHR	\$	11,544.48	48		5 Mono - 48	
Commence of the second	DHHR	\$	11,544.48	48		5 Mono - 48	
12/31	Di II II V	\$	11,077.70	70	270.01	O MOLIO TO	
		\$	-				
		\$					
i	**************************************	\$					
		\$					
		\$	-			-	
		\$	044				
		\$	-				
		S	-				
		\$	-				
		\$	_				
		\$	_				
		\$					
		\$	-				
		\$					
		\$		1			
	processing of the Secretary and the Secretary of the Secr	\$					
	The state of the s		-				
		\$					
		\$				1	
		\$	-				
		\$	-				
		\$	_				_
1	fotal of Dec Sales	\$	301,498.80				
			ed on next sheet				

Q3 - FY-2015		larch 2015	Inder DIGCO	ystems Placed P12 in FY-2015
Liono Banda	Purchase	24 months	35 months	48 months
1	O	0	10	9
2	0	0	5	9
3	2	0	2	10
4	0	0	4	3
5	0	0	0	3
6	1	0	0	1
7	0	0	0	O
Hono Totals	3	0	21	35

	Color Bands	Purchase	24 months	36 months	48 months
Г	1	0	0	O	0
	2	0	0	1	4
	3	1	0	7	14
	4	1	0	12	7
	Color Totals	2	Đ	20	25

ale Date	Customer Name	D	ollar Amount	Term	Rayment	Banc	Numb
01/06	Geological & Economic Survey	\$	8,295.71	1		4 Color - P	
01/07	DNR	\$	7,859.88	36		2 Color - 36	
01/26	DHHR	\$	17,239.68	36		4 ivono - 36	
01/28	DHHR	\$	6,571.80	36		3 Mono - 36	
01/28	Corrections	\$	4,358.88	36		2 Mono - 36	
	DHHR	\$	4,527.00	36		2 Mono - 36	
	DHHR	\$	6,571.80	36		3 Mono - 36	-
	DHHR		4,527.00	36		2 Mono - 36	
	DHHR	\$		1			
	DHHR	\$	44,824.32	36	\$ 1,245.12		
		\$		36		4 Color - 36	
	DHHR	\$	-	36		2 Mono - 36	
	DHHR	\$	-	36		1 Mono - 36	
	Highways	\$	8,128.44	36		4 Color - 36	
	Highways	\$	5,944.68	36		4 Color - 36	
01/16	Highways	\$	154,404.48	48	\$ 3,216.76	4 Color - 48	
01/16	Highways	*	-	48		3 Color - 48	
	Highways	- 8	44	48		2 Color - 48	
		\$			VII-7-11-11-11-11-11-11-11-11-11-11-11-11-1		
		\$					
		\$	10		1		·
i	* A A TO THE REAL PROPERTY OF THE PARTY OF T	\$					
			-				
	TENTE : THE I'VE OF THE STATE O	3					
	The second secon		153				
-							
	erfellet i manuar relation en este filo (fundo our to como espera pero proceso esta face ou compete annuele						- comecu
	and the state of t	3	166				
· · · · · · · · · · · · · · · · · · ·	the control of the co				1	į,	
	model and the Manager of Manager of the Advance of Manager of Mana	1 4		i	1		
1			(#)				
	At 1 to 1 to 1 to 1 to 1 to 1 to 1 to 1	4			1		
	184 for the section of the section o	13					
1	one on the suggestion of the superior of the s	en en elle ennem i caraca. Elle	47			1	
-	The contract of the contract o	4.	N. W. D. B. B. Barrier W. G. St. St. St. St. St. St. St. St. St. St		TO SEE COMMON BY AND A CONTRACT OF SECURITION		THE STREET TO MAKE THE SECOND SECOND
							a wife a possible of Property
	ment of the term of the first of the second						
	grand and the second second second at the second se				******* *		
	Commence of the second section of the second	- 7	* 1				THE PERSON NAMED IN
	reference (B. 11 to a taken desirem and comment of the second of the sec	ato .	MATERIAL STATES OF PROPERTY OF PROPERTY OF A CONTRACTOR OF THE PROPERTY OF THE				
	the second secon	e, vender i salah serakanan sara	W. FERREN . O. W. A. P. / T		· · · · · · · · · · · · · · · · · · ·		
	The second and the second contract of the second se						. A February
manufferentias remains sale date of angle comm		- 15	PARTY TO THE PARTY THE PARTY TO				
era mar arranama anglasa.	made to the matter and technique process on a success on the contract of the c	3					
		5	TO WE WITH A Secretarian Control of the Control of			and the second dealers of the second	T. Samuel and Salar S. C.
	The many of page 1 to a	- 5		1		THE PROOF SHAPE SHAPE STATE OF STATE STATES	
= - 4	The same and the s	\$					
	THE COMMERCENCE AND THE CONTRACT COMMERCE AND CO. S.		27 E		A A CONTRACTOR OF THE PARTY OF		
			and the statement of th	harrier statement was been a			
		1				n	- Programme and a contract
	* * * * * * * * * * * * * * * * * * *	<u> </u>					
an and an appropriate the party	otal of January Salag	- 01	278,283.87				
	the state of the s	1987	T T T T T T T T T T T T T T T T T T T				51

ile Date	Customer Name		Polier Amount	<u>Term</u>	Payment		Rumb
02/02	Corrections	\$	8,816.76	36		4 Mono - 36	25, V
02/03	Corrections	\$	4,358.88	36		2 Mono - 36	
02/06	DHHR	\$	2,555.64	36	70.99	1 Mono - 36	
02/06	DHHR	\$	2,555.64	36		1 Mono - 36	
02/10	Conservation	\$	8,734.56	48	181.97	2 Color - 48	
02/13	WV Veterans Nursing	\$	8,207.52	48	170.99	4 Color - 48	
02/18	Lottery	\$	134,255.52	36		4 Color - 36	
	Lottery	\$	k ₁₉	36		3 Color - 36	
	Juvenile Services	\$	8,277.12	48		3 Color - 48	
	WorkForce VW	- \$	10,059.87	1		6 Nono - P	
William Res Coll	6402171 0100 504	\$	101000				
	had bloom after a MITM STREETWIND may meet a semanticum and accommon accommon and accommon ac	\$	The second secon			· Linkstein and State St	1
	CHARLES TOWNS THE PARTY AND ADDRESS AND SECURE AND SECU	\$	19	and the start Wallacton Annihamore arranged to		* / * * * * * * * * * * * * * * * * * *	
	gapangggggggggggggggggggggggggggggggggg		***		a facility library		
. market a manufallor	and an one of the contract that the state of a property of a specific contract to the contract	\$					
		\$	-				
	уру и тен другуунун үүдүү үүүн тоогоо тоогоо таанын тоогоо тоого	\$	1996				
	Consumpression on the contract of the contract	\$	AP				
idealine sintistis to commen	Judenson one a majoritation (Statemann) and Article desires and the majoritation of the same and	\$, , , , , , , , , , , , , , , , , , ,			-	
		\$			j		
1		\$					
		\$	мр	and the second			
A Comment of the Comm		\$	-				
	. M.L. & See Section of a State of the Section	3	the Manual of Principle propagation of the Principle				
		3	and the second s				
		- 5	The second secon		í		
		9					
1	American Ame	3	ar f				1 - 1 - 1
	in the first term of the section will be a section of the section				To the second se		
	, as more agree, pagings one in a more of the first terminal cohomo new of 2 Million, Advis 100 or 100 for the first first one	2			3		
		3				- a. ar , are wearestale 2 1996 68-1-2-000-1	
Management Section or release a					Mr.) are been mark that the second	Million Constitution of the constitution of th	
	in an of specimen were server as a single server was a little on a little galactic or specimen and a server was a server of the						W. 1
	21 - 44 - 5 - 5 - 5 - 5 - 5 - 5 - 5 - 5 -		10 10 10 10 10 10 10 10 10 10 10 10 10 1		uman minusidate in talk 20 pp man and man and a second		
	Seminary Seminary (1994) (1994	()	agramma income and income and a state of the				
was the second s	and the second second second second second second second second second second second second second second second						
	Section 1 to 1 to 1 to 1 to 1 to 1 to 1 to 1		and the second s		numerous most sales cardifficad old finalities, so for w		
	The second secon		· · · · · · · · · · · · · · · · · · ·				
	A STATE OF S	Ş					
		\$					
		\$					
		\$	- 1		i i		
		\$	-				
	4"	\$	-	T Addition			
		Ş	graf .				
		\$	_		- Company		
1		\$	-				
		\$	-				or or other six military
		\$	-				
		\$					
		make aw make	407 004 54				
FI	otal of February Sales	S	187,821.51			-	

ila Date	Customer Name	Do	lar Amount	Term	Payment	Band	Num
03/03	DHHR	\$	12,408.48	48		4 Color - 48	
03/03	Corrections	\$	148,304.64	48		2 Mono - 48	<u> </u>
03/03	Corrections	\$		48	5,555.65	3 Mono - 48	
03/03	Corrections	\$		48		3 Color - 48	
03/03	Corrections	\$		48		1 Mono - 48	
03/05	Corrections	3	19,660.32	48	400.50	3 Mono - 48	
	Corrections	\$	18,000.32	48		6 Mono - 48	
	State Police		C 400 00				
	DNR	\$	6,400.00	1		3 Mono - P	<u> </u>
	DNR	\$	10,911.24	36		4 Color - 36	
		\$	10,911.24	36		4 Color - 36	
	Division of Personnel	\$	22,928.64	48		5 Mono - 48	
	Corrections	38	6,124.32	48		2 Mono - 48	
	ABCA	\$	7,730.40	48		4 Miono - 48	
	ABCA	\$	9,195.84	48	191.58	4 Mono - 48	
	ABCA	\$	9,195.84	48	191.58	4 iVlono - 48	
03/17	Schools for Deaf & Blind	\$	7,977.26	1		3 Color - P	
03/20	Juvenile Services	\$	7,528.80	48		2 Color - 48	
03/31	DNR	\$	5,356.80	48		2 Color - 48	-
03/31	DHHR	\$	11,544.48	48		5 iMono - 48	
		\$				3 1710110	
		\$	45				
		\$					
	prove with meaning consistency and analysis of the constitution of	No.	A 18 17 18 18 18 18 18 18 18 18 18 18 18 18 18	t 11 tolet to more the regularity in the			
	The second secon						
e militar in the management of the management	Part & Res & Part & Control of the C		Mild Market and the second second second second second second second second second second second second second				
		1.3	more environmental management and a company of the second	de de colonia con referencia e e e e e e e e e e e e e e e e e e e			
	And a series of the series of	3	w				
	The state of the s			i_			
	· Takangamanamnya manganga pana sajah 1984 dikuka disebilikah kalibilikah kalibilikah kalibilikah kalibilikan kali			Transference recorded in white of F.			
		5		i	1	!	
		1.5	-				
{		, \$				2	
	A STATE OF THE STA					-	
	The transfer of the control of the c	- 6	9			1	
1	The second secon	3	***************************************				**** *** ** **** **** ****
	The state of the s	Pulled Wing San Protecting and State Committee of		an we have a consequent for the	A P V M P P R Wilder Pr M resonance or relevanters P Ann		
	THE THE PERSON NAMED IN TH	1 2	· · · · · · · · · · · · · · · · · · ·			. b	
	The state of the s	- 2		· · · · · · · · · · · · · · · ·	· · · · · · · · · · · · · · · · · · ·		
THE R. LEWIS CO., LANSING MICH.	gg, ygg gg sam mungugg pi, myn Aggand gi hyn hlaffer o Mhanddd Wiser-nys amer. 17 m - 1 a	a marin name or an area					
	the court of the quantity and party of the court of the c				e description comme de service de argentians		errection browns where
	The second secon	1.5					
	The second of th	1 2					
	THE STATE OF THE PARTY OF THE P		The second secon				
	grandplan , which the many the stay of all plants and the stay of					<u></u>	
ART OF THE CONTRACT	The second section is a second second section of the second section of the second seco						W 5 0 0 10 5 1 W 5. 5
	CONTRACTOR AND THE STATE OF THE	1.9		1			
		4.					
	,		re to arrest (1966) of the second of the sec				
	The second secon	1.3					
17	oki of Wardi. Sales		255,178.30	Vision Little to Transfer over - the seek the literature	6 9 h Justicella, ferminolist mensensor (1 Mar 2 Anni 4	TORRE SHE SHELLOW IN THE BARBO WHILE IN	- 1
	STEW STUDY OF STAFFER	1 40	ELCHART FIRST CHARLES	-			

	Number of Systems Pla Under DIGCOP12 in FY- Under DIGCOP12 in FY- Nono Banda Purchase 24 months 36 months 48 months									
Mono Bands	Purchase	24 mondes	36 months	48 months						
1	4	0	2	2						
2	5	0	1	7						
3	1	C	0	11						
- 4	1	0	10	2						
5	2	0	5	8						
6	1	0	1	3						
7	0	0	0,	3						
Mono Totals	16	0	19	36						

	Color Banda	Purchase	24 months	36 months	48 months
Ī	1	0	0	0	0
ſ	2	1	0	0	0
	3	0	0	1	3
	4	4	0	0	9
-	Color Totals	5	0	4	12

ale Date		Do	lar Amount	Term	Payane at	Band	Numbe
04/02	Rehab Services	\$	6,908.64	48		3 Color - 48	
04/03	ABCA	\$	4,658.88	48	\$ 97.06	2 Mono - 48	
04/03	ABCA	\$	7,150.56	48	\$ 148.97	4 Color - 48	
04/07	Schools For Deaf & Blind	\$	15,672.00	48	\$ 326.50	5 Mono - 48	Ţ
04/07	Schools For Deaf & Blind	\$	15,672.00	48	\$ 326.50	5 Mono - 48	
04/07	Schools For Deaf & Blind	\$	15,672.00	48	\$ 326.50	5 Mono - 48	
04/07	Schools For Deaf & Blind	\$	9,299.04	48	\$ 193.73	3 Color - 48	
04/07	Schools For Deaf & Blind	\$	4,850.40	48	\$ 101.05	2 Mono - 48	
	Schools For Deaf & Blind	\$	4,850.40	48		2 Mono - 48	
04/23	Center for Professional Dev	\$	31,278.82	1	\$ 31,278.82		
	Center for Professional Dev	\$	_	4		4 Color - P	
04/23	Highways	\$	4,429.44	36	\$ 123.04	2 Niono - 36	t
	DNR	\$	7,601.76	48		4 Color - 48	
04/27	DNR	\$	7,601.76	48		4 Color - 48	
	Public Retirement	\$	9,119.52	48		4 Color - 48	
04430	T BEAC I CHICKEL	\$	3,113.02	70	4 100.00	7 00101 10	
		\$	4				
		\$				<u></u>	
			-			<u> </u>	
		\$	-				
		\$	-				
		\$	9				
	page of the capping and to see the second of	\$					
	a managa ay managaman maga ay yang panan may ay				Market 19 11 Sept.		
						x 7	
		1.37				W. 1998 11	
						THE RESERVE AND ASSESSED ASSESSED ASSESSED.	
4			F4				
j		19					
ŀ	44.4	13					
		Š					
				1			
The rest is an elemental. Felt delicts of	AND THE RESIDENCE OF THE PARTY		Address a Martin				
as I seems from 1	and the second of the commence of the second	1		and the Cart of th)		
		2 2			3		
	makkatakan teresyattapan 1970 - 1971	18	n in the last Makes and Makes and American a				market and a second
mer mer hans milital Arrays, 11 of 11 of 12 and	and the second s	3					de militaria annihilati vitada Noti (190-a)
and a second	Administration and the second and th	1.5					
						errent servene err rennest 1884 (1. 814) (1919) (1847)	
		3				4	··
and the second of the State of	to a paralysis commissioner. It is a "amount course food way called all the NEXT TOWNS MADE, I WARRY IN A MAD I was considered.		** *** *** *** *** *** *** *** *** ***				
			A VALUE OF THE PROPERTY OF THE	manuscript of the section		and the same of the same of the same	# W Ant
<u>-</u>			and the second s		months of the second of the se		
						obdition the Albert Appropriate to most assessment.	The Control of the Co
	Appendix construction and the control of the contro						
	A SHEETING CONTROL OF THE PARTY		and the second s				
					a	**************************************	
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,							
	Telel of April Sales	9	144,765,22	ž			Ĭ
	, per commencement and the first concernment of the public confidence and the contract of the	trans films	ह्य स्थापकर इनेहरी				

ale Date			Dollar Amount	Torm	<u> Kavineni</u>		Mum
05/04	DHHR	\$	12,822.24	48		5 Mono - 48	1
05/04	DHHR	\$	3,010.32	36	83.62	1 iviono - 48	
05/04	Veterans Assistance	\$	2,800.00	1	2,800.00	2 Mono - P	1
05/04	Veterans Assistance	\$	2,800.00	1	2,800.00	2 Mono - P	
05/04	Veterans Assistance	\$	2,800.00	1	2,800.00	2 Mono - P	
05/04	Veterans Assistance	\$	2,800.00	1	2,800.00	2 Wono - P	
05/04	Veterans Assistance	\$	2,800.00	1	2,800.00	2 Mono - P	
05/04	Veterans Assistance	\$	4,658.88	48	97.06	2 Mono - 48]
05/04	DMV	- 8	24,665.76	48	513.87	3 Mono - 48	
05/05	Corrections	\$	36,798.12	36		5 Mono - 36	1
05/05	Corrections	\$	m.	36		1 Mono - 36	
05/06	DHHR	\$	45,236.16	48		7 iviono - 48	
05/06	DHHR	\$	-	48		1 Mono - 48	
05/06	DHHR	\$	_	48		5 Mono - 48	
05/07	DHHR	\$	5,734.56	48		3 Mono - 48	
	Agriculture	\$	5,131.20	48		3 Color - 48	
	DHHR	\$	6,571.80	36		3 Mono - 48	
05/26	PSC	S	66,576.00	48		6 Mono - 48	
	PSC	\$		48		3 Mono - 48	
	Highways	\$	14,928.84	38		5 Mono - 36	
	Homeland Security	\$	11,960.16	48		5 Mono - 48	
	Homeland Security	\$	7,660.54	1		5 Mono - P	
	EPA .	\$	8,655.48	36		4 Mono - 36	
	State Police	\$	3,200.00	1		3 íviono - P	
	Public Broadcasting	\$	6,817.90	1		Mono - P	
	WE WITH THE PERSON WESTERN ET AND A STREET AND ASSESSMENT OF THE PERSON	\$	0,017.00	•	0,017.80	7 MONUTE	
		\$					
		\$					
		\$					
		\$					
		\$					
		\$					
			-				
		\$					
		\$					
		\$					
		\$	-				
		\$	-				
	- Mariana - Mari	\$	-				
		\$	-				
		\$	**				
		\$					
		\$	-				
		\$	-				
	Maria	\$	- 1				
		\$					
		\$	18				
		\$	- 1				
		\$	٥				
To	otal of May Sales	\$	278,427.96			- A	ni 1 7.
			ued on next sheet				

Ale Date			cllar Amount	Term	Payment	1	Munis
06/03	EPA	\$	2,489.04	36		1 Mono - 36	
06/03	EPA	\$	8,655.48	36	240.43	4 Miono - 36	
06/03	EPA	\$	8,655.48	36	240.43	4 Miono - 36	
06/03	EPA	\$	8,655.48	36	240.43	4 Mono - 36	
06/03	EPA	\$	8,655.48	36	240.43	4 Niono - 36	
06/03	EPA	\$	8,655.48	36	240.43	4 Niono - 36	
06/03	EPA	69	8,655.48	36	240.43	4 Mono - 36	
06/03	EPA	\$	8,655.48	36	240.43	4 Mono - 36	
06/03	EPA	\$	8,655.48	36		4 Mono - 36	
06/03	EPA	\$	8,655.48	36	240.43	4 Mono - 36	
06/04	Rehab	\$	6,124.32	48		2 Mono - 48	
06/05	Auditors	\$	15,154.56	48		4 Color - 48	
06/05	Corrections	\$	8,623.68	48		4 Color - 48	
06/05	Corrections	\$	19,981.92	48		7 Mono - 48	
	State Police	\$	1,950.00	1		1 Mono - P	
06/05	State Police	\$	1,250.00	1	,	1 Mono - P	
	Fire Commission	\$	8,536.54			5 Mono - P	-
	DNR	\$	9,707.04	48		4 Mono - 48	
	DNR	\$	5,543.04	48		3 Mono - 48	
	DNR	\$	6,226.56	36		3 Color - 36	
	State Police		7,077.50	1		2 Color - 36	
		\$		- ;			
	Secretary of State	\$	11,057.40	36		6 Mono - 36	
	State Police	3	5,944.86	1		4 Color - P	
	Corrections	\$	955.70	1		1 Mono - P	
4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4	DHHR	\$	17,882.40	48		4 Mono - 48	
	DHHR	\$	-	48		2 Mono - 48	
	DHHR	\$	17,289.72	36		7 Mono - 48	
	Corrections	\$	10,771.20	36		5 Mono - 36	
	DHHR	\$	13,246.08	48		5 Mono - 48	
	DHHR	\$	15,407.04	48		3 Mono - 48	
	DHHR	\$	9,902.40	48		3 Mono - 48	
06/29	lighways	\$	25,088.48	48	543.51	Color - 48	
		\$	6.0				
		\$	-				
		\$	-				
		\$	PB				
			43				
		\$	90	can and to execute the section of th			
\$ 5	TO THE RESIDENCE OF THE SECOND	\$	THE THE PERSON OF THE PERSON NAMED TO A PARTY NAMED TO A				
		S				600-000- 00000-00 200 - AUDINORY 0000489-	
entre and in the distriction cames is 4-	The second section of the second section of the second section of the second section of the second section of the second section secti	\$	TAX		STORESTON STREET, STRE		and the same below of the form
N	19.7.4 c minutes on monomer is now contracted account of the monomer monomer management of the contracted of the contrac	\$	ghimmyamyagagama mans. mananagans - saman-sesamansans - qur- tage - 1	, squared von parts of the			derin der in Theodologie von St.
1	and accounting to the analysis of the control of th	S					. 4 - 100000- 1 1 10
	alianida spring principagosporomi i ren springsmonomente i in 1946, ihun i un in senso i nome i un i in monomente i in ancienti.	3		manded the Commission of the Commission	U . Hazarini, usakturininana innaeni si		to each to opposite
	e decomposition. Les entrementals d'estates es luci les annes l'exchange estat legisse l'estate destinée des entrementation de l'estate de	\$	Management Community of the Control		make also been also become a large and a l		
		\$				1	
	The state of the s	2					Wester 2777 Paris (Prop. 20.)
Professor Parks associated when the sales	nyyddiadaeth amaeunan a'r ar	- 4				erragger dan en erraggementster energementermentstaden me	medicar discount control actions and
	The Later Control	9	700 400 00		- 144 - 1744		
	otal of June Salas	\$	299,108.80		The second secon	hit hamman management and a second a second and a second	67
		contin	ued on next sheet		1		

Number of Systems Placed Under DIGCOP12 in FY-2016

Q1 - FY-2016 July, Aug, Sept 2015

_	Mono Bands	Purchase	24 months	36 months	48 months
L	1	0	0	0	1
	2	0	0	0	1
	3	1	0	1	7
L	4	0	O	1	0
L	5	0	0	3	4
L	6	0	0	2	2
L	7	0	0	0	5
	Mono Totals	-9	0	7	20

	Color Bands	Purchase:	24 months	36 months	48 mornins
	1	0	Ó	0	Ö
	2	0	0	0	3
E	3	C	0	3	0
	4	1	0	2	5
	Color Totals	1	0	5	8

ale Date	Customer Haine	Dollar Amount	Term	Payment	Band	Mumb
07/0/6	DHHR	\$ 69,479.04	48		7 Miono - 48	
07/10	DHHR	\$ 13,981.32	36		6 Mono - 36	
07/10	DHHR	\$ 13,981.32	36		6 Niono - 36	
07/10	DHHR	\$ 8,807.52	48		4 Color - 48	
07/22	Culture & History	\$ 11,148.12	36		4 Color - 36	-
07/22	Highways	\$ 5,356.80	48		2 Color - 48	
07/22	Juvenile Services	\$ 7,528.80	48		2 Color - 48	
07/22	Insurance Commission	\$ 12,742.58			5 Mono - 48	
	DHHR	\$ 6,819.36			2 Mono - 48	
	Regional Jail	\$ 23,682.96			5 Mono - 36	
	Corrections	\$ 7,720.32			2 Color - 48	
	Highways	\$ 15,351.12			3 Mono - 48	<u> </u>
	Highways	\$ 7,291.80			3 Color - 36	
	Schools For Deaf & Blind	\$ 15,672.00			5 Mono - 48	
	DHHR				3 Miono - 48	
	DHHR	\$ 7,200.00				
		\$ 7,200.00			3 Mono - 48	
	DHHR	\$ 13,727.04			6 Mono - 48	
07/31	Corrections	\$ 8,721.12	48	\$ 181.69	3 Mono - 48	
		\$ 				
		\$ 				
		\$ -				
	er ellleller en relikter en elle enner distribt sellet der Sterrengenstungting sekrirtig (1811 til delpte, systemplungsmisse	\$ *			man or or or or or or or or or or or or or	Australian di distributivo
		\$ -				
		\$ _	and the same of th			
1		\$ 	VALUE OF THE PARTY			
Ÿ		\$ - Mar		An ename		
		\$ -				
	THE PARTY CONTRACTOR C	\$ -		and the same of th		
		\$ -				
		\$ 				
	The state of the s	\$ lu lu				A-M-4- A - M N-M-
4		\$ _			and the second s	
		\$ -				
		\$ -	LIFE DESCRIPTION OF THE PERSON			
	a delight for your first the second s	\$				
		\$		1		
		\$ 				
		\$ 				
		\$ MI				
	the state of the s	\$ 			· 1	
		\$ 				
		\$ 				
- E	and the second s	\$				
	and the second s	\$				
na.		\$ -				·
		\$ 944				
		\$ _				
		\$ 72.				
T	otal of July Sales	\$ 256,411.20	1			2
- 1		 nued on next sheet				

ale Date			lief Amount	Term	Payment	Band	Numbe
08/06	Governor's Office	\$	10,123.39	1		4 Color - P	
08/11	Regional Jail	\$	13,209.12	36	366.92	4 Color - 36	
08/12	Regional Jail	\$	7,477.92	36	207.72	4 Mono - 36	
08/21	DHHR	\$	42,804.96	48		4 Color - 48	<u> </u>
08/28	Auditors Office	\$	13,727.04	48		6 Mono - 48	
08/28	DNR	\$	2,521.44	48		1 Mono - 48	
08/28	Corrections	\$	13,165.92	48		5 Mono - 48	
08/28	Corrections	\$	13,431.84	48	270 83	5 Mono - 48	
09/31	Stata Police	8	3,200.00	1		3 Mona - P	
	- The state of the commence of the state of	\$	-		4,400,00	O INDIA	
1		15		***************************************		C CONTRACTOR TO A CONTRACTOR OF THE PERSON O	MA A POR THE OR OTHER DE
	the 30 Mb, or No exists promoted option of the consequence of the cons	\$	the same a female is a second from the			and the second s	
	and the state of the state one is a manufacture of the state of the st	\$	water control or in the control of			Commence of the second	
	ment in the matter find the first of the second of the second find the second find the second of the	\$	What Man Province as surranged you		The same of the sa	APP 2001 NOW IN THE PROPERTY STREET,	
-		5			and the second section of the second		
- com our many as		\$		er some myramines des			v
3	and the second of the second o					The second second second second second	Commence and the control of the cont
	The second secon		The same of the sa				or construct to that attended it implies
The state of the s	and the same of th						
	The second state of the second	18					
	has the some consequential Management on summer that when it should save that we have all the so-	18	Section (N-do-sp-): Assistant N-doctor N-doctor			and the substitution of the same of the	40 april 20 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
THE STREET STREET, STR		\$				or or named to 4 met on 11 mm	PI
	The second secon		Section of Printed Commission of Printed Com				
Ar autoliterare utilitationesis mijeres		3					
	and the second s						
	A STATE OF THE STA			And bloken a survivor			
	and the second s				out the same amount and and and	AMERICANA A MATAINMAN W	
	and the state of t	mande de production de la constant	······································				
	All a read of the majority of the property of the second control of the property of the second control of the property of the second control of the property of the second control of the second contr	The same of the sa	the same and the same and the same as				
T. ATTENDED STORMS	4 15 A 400 100 101 114 11 A 1000 100 11 11 11 11 11 11 11 11 11 11	1 12	. The second of the second of		and the manner of the last		
		1 %	· · · · · · · · · · · · · · · · · · ·			Marity	
						ment recommend of the second o	
	A SECTION AS ASSESSMENT OF STATE OF A SECTION OF STATE OF	ATTENDED TO STATE OF)				
THE RESERVE OF STREET,	THE PROPERTY OF THE PARTY OF TH	42		e and the other spirit and the bridge of the spirit and the spirit	and the second s	A Propher and a second series and a second series	
			· · · · · · · · · · · · · · · · · · ·	100 - 10 - 10 - 10 - 10 - 10 - 10 - 10	name and the same and the same	distribution of the second of	
3	electric memory species and analysis of species and analysis of the species and a second state of the species and a second species are a second species and a second species and a second species and a second species are a second species and a second species and a second species are a second species and a second species are a second species and a second species are a second species and a second species are a second species and a second species are					The state of the s	
		\$					
		\$	-				
		5					
		5					
		S					
		6	*				
-		9					
		\$					
		\$					
100	11-11-01	\$	-				
1.0	otal of Aug Sales	\$ 1	19,661.63				11
		continues	on next sheet				

Ala Date	Customer Name	Do	ar Amount	Term	Payment	Band	Humbe
09/14	Highways	\$	9,311.04	48	193.98	4 Color - 48	
09/14	Culture & History	\$	5,237.64	36	145.49	3 Color - 38	
09/24	Insurance Comm	\$	17,369.76	48	361.87	7 Mono - 48	1
09/24	DNR	\$	5,237.64	36	145.49	3 Color - 36	
09/28	PSC	\$	7,703.52	48	160.49	3 Mono - 48	T
09/29	Highways	\$	7,701.12	36	213.92	3 Mono - 36	-
09/30	Highways	\$	11,963.52	38	332.32	5 Mono - 36	-
		8					
			- 1				1
	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$.,		e a como a ser or about the first of the sales	THE RESIDENCE OF B. 7
- 10		r. va					
		3					
		- 13				and the same reservations and	
	THE RESERVE OF THE PARTY OF THE					dir arabil rassor in tillabilarus – di sada 1 on 1916, dil bahadikia	
					* *************************************	THE SECOND SECON	
	Transfer description of a control to the second section of the section of the second section of the section of th	1		1		common respectables of the telephonographic control of	
					;		
		1.5	-				
		4					
		1.3					
	F reg (Min. 1986) A local (Alex) for the measurement extension, i. to (A 1971) have a communication of the contract of the con						
		- 5					
		\$	-				
_		\$					
) -		5					
		\$				***	
		\$					
		2					
		5					
		\$	- 7)				
		S	-				
		\$	-				
		3				11000 2170 00 0 10000	
		S					
		S					
		TS.					- w 20111100 H0001 17,0000000
dia di		\$	75			17	
AAAA		\$	-		-		
1		\$	de		William Co.	The last of the la	
		\$	-				AN THE PROPERTY AND PARTY
- 1 April 1		\$	- 1				
	enterview and the second secon	Ş	-	**************************************			
	The state of the s	\$					anihondonamentamentali* sis*****
	enterente de la company de destactor de la company de la c	1988 THE TAX SEC. 101 1 1					
	A contract of the contract of	\$					alamahari daraharaharaharaharaharah Maranahari adaman Maranah
	a see destruction of the set of the second destruction of the second second second second second second second	\$			wholesed sectors - electronomical and deliberation of the latest and the latest a		
-			-				and the state of t
		\$	-				
I	otal of Sept Sales	\$	64,524.24				7
1	to anomalia and a de la constantina della consta	agnimuge	on next sheet				The state of the s

Number of Systems Placed Under DIGCOP12 in FY-2016

Q2 - FY-2016 Oct, Nov, Dec 2015

Mono Bands	Purchase	24 months	36 months	48 months
1	1	0	Ō	13
2	0	0	0	1
3	0	0	5	26
4	0	0	0	14
5	0	0	2	3
6	0	0	1	2
7	0	0	1	7
Mono Totals	1	6	9	86

Color Banda	Purchase	24 months	36 months	48 months
1	0	0	0	0
2	0	0	1	1
3	0	0	0	0
4	2	1	2	4
Color Totals	2	1	3	5

de Date		D	ollar Amount	Term	P	ayment		Numb
10/05	Corrections	\$	9,224.16	48	\$	192.17	3 Mono - 48	
10/15	Education	\$	11,265.12	48	\$		5 Mono - 48	
10/16	Highways	\$	11,380.32	36		316.12	5 Mono - 36	
10/20	Treasurer	\$	9,467.52	48			4 Mono - 48	
10/20	Atty General	\$	20,408.04	36			7 Mono - 36	
10/21	Atty General	\$		36	~		4 Color - 36	
10/22	State Police	\$	16,537.06	1	\$	16.537.06	4 Color - P	1
10/26	Development Office	\$	53,455.68	48			3 Mono - 48	
10/26	Development Office	\$	16,252.80	48			6 Mono - 48	
10/26	State Police	\$	1,250.00	1			1 Mono - P	
10/26	Education	\$	9,890.88				4 Niono - 48	
10/26	Education	\$	9,890.88	48			4 Mono - 48	
10/26	Education	\$	9,890.88	48			4 Mono - 48	
10/26	Education	\$	9,890.88	48	\$		4 Wiono - 48	
10/26	Education	\$	9,890.88		\$		4 Mono - 48	
10/26	Education	\$	9,890.88		\$		4 Mono - 48	
10/26	Education	\$	9,890.88		\$		4 Miono - 48	
	Education	\$	9,890.88		\$		4 Mono - 48	
	Education	\$	9,890.88		\$		4 Mono - 48	
	Education	\$	9,890.88		\$		4 Mono - 48	
	Education	\$	9,890.88		\$		4 Miono - 48	
	Education	\$	32,555.52		\$		1 Mono - 48	
	Education	\$	160,367.04				3 Mono - 48	
	Education		17,818.56		\$		3 Mono - 48	-
	Parole Board	5		48			7 Mono - 48	
	Corrections	\$	20,062.08				1 Mono - 48	
	Rehab	\$	2,984.00	48			2 Mono - 48	
10/28	Renap	\$	6,124.32	48	4	127.08	Z MONO - 46	
		\$					2-12-2	
		Ş	-					
		\$						
		\$	-					
		\$	*					
		\$, and					
		\$	-					
		\$	-					
	a stringing patter A	\$						
		\$						
***************************************		\$	-					
		\$						
		\$						
		\$	H2 4				and the same of th	
		\$	-					
Í		\$	40					
		\$	-				-	
		\$						
		3	-					
		\$						
	AND THE RESIDENCE AND A CONTRACT OF THE PARTY OF THE PART	\$	_					·
T	otal of Oct Sales	6	497,931.90					
1.1	いは い いしい ひかばる	T T	- UG. CG. 15F			ř		

io Date	Customar Name	De	oliar Amount	Term	Payment	Band	Mumb
11/06	Board of Physical Therapy	\$	4,550.76	36		2 Color - 36	
11/10	Civil Air Patrol	\$	4,382.88	48		2 Color - 48	
	Ethics Commission	\$	7,814.40	24		4 Color - 24	
	Corrections	\$	11,853.36	36		5 Mono - 36	
	Corrections	\$	11,440.08	36		4 Color - 36	
	Regional Jail	\$	10,986.84	36		6 Mono - 36	
	DHHR	\$	18,407.04	48		4 Mono - 48	
	DHHR	\$	20.720.64	48		4 Color - 48	
	DHHR	\$	9,391.20	48		4 Color - 48	
	DHHR	\$	7,630.20	36		3 Mono - 36	
	DHHR	\$	16,332.96	48		6 Mono - 48	
***************************************	DHHR	\$	16,004.16	48		7 Mono - 48	
	DHHR	- 8	25,324.80	48		5 Mono - 48	
	DHHR	\$	51,984.00	48		7 Mono - 48	
11/20	DIGIN		51,804.00	40	1,083.00	/ R:Off0 - 48	
		\$					
		\$					
		\$	-				
		\$	-				
		\$	-				
		\$	4				
		\$	-				
		\$					
	The second section is a second section of the second section of the second section is a second section of the second section of the second section sec	\$	dat		- Market		
	The state of the s		a.				
			The state of the s			the second residence and	
· · · · · · · · · · · · · · · · · · ·							THE WAT THE SHEET STATES
	and the second s		wt.	. ,	The second of th		
· · · · · · · · · · · · · · · · · · ·			To the second se			b	-
		13			1	i	Ad S Relief Control
	manuruman , i um manurum manurum manungga yang kanggan kang Kanggan kanggan ka	1.3					
- mor House Have -	enter with Millians a manufact man parameter with mine time time time and a many and a m				-	į	
The same that send on the same		15		1	1	ŧ	
		\$:			and the second s	
annument and but they are	The second secon	3				1	
		- 5					
		- 3				empressi and out of the con-	
		\$				4	
	A STATE OF THE STA	5	province that is the second deviation of the second of the		Winner (Proc. or included and developed and or or or or or designation)	ACTOR TO A RESIDENCE OF STREET AND THE PARTY OF STREET	
		\$					
		\$					
		S					
		S					
		S					
		S					
		S					
		5					
		\$					
	W 11 - EMA-1	\$					
			-				
1907	otal of Nov Sales	S	216,823.32				1

ale Date	Customer Name	Do	ar Amount	Term	Payment	Band	Numbe
12/10	Port Authority	\$	15,955.92	36	443.22	3 Mono - 36	
12/10	DHHR	\$	19,334.88	48	402,81	7 Mono - 48	
12/10	DHHR	\$	19,334.88	48	402.81	7 Mono - 48	
12/17	Highways	\$	7,701.12	36	213.92	3 iviono - 36	
12/17	Highways	\$	7,701.12	36	213.92	3 Mono - 36	
12/17	Public Transit	\$	10,360.32	48	215.84	4 Color - 48	
		\$					
			-	······			
				• · · · · · · · · · · · · · · · · · · ·			
	To the temperature of the temperature of the second of the		- 44 - 41 pa pa pa - 44 - 44 - 44 - 44 - 44 - 44	death and a loss of the state of the	***************************************	MEA AMERICAN TO ST. ST. ST. MARKET WAS A RESERVED FOR AMERICAN	
	10 mm 1 mm 1 mm 1 mm 1 mm 1 mm 1 mm 1 m		The state of the s	# ********* Wall' Ma8'MA SAF			also and the state of the state of the state of
			V LT I STREET BATT STREET SALE IN THE STREET				
- wareholder van a namentel an al' rittarit he admire mellembelledelle	See 18 19 September 1980 1981 1981 1981 1981 1981 1981 1981		***************************************		DECLINATION OF SOMETHINGS OF STREET	a tree address of the sale of the sales and	-455 SEE AN BOOKS
					i	to the state of th	
. A . P . AMAR. No. 10. A . 100. A	The parameter with the country of the measurement of the second country of the first part of the second of the sec						
I see at Mandana	Manufacture per enterer				· · · · · · · · · · · · · · · · · · ·		
EL PRODUCTION TO THE CONTRACTOR	S. B. S. Grand C. Grand C. C. (1995) Anniel Christian C. C. Grand	- 5		10g - 10g - 10g - 10g - 1	The state of the s	gr 2 kg k 1 . 1 k1 km/d	
	.644.43	3	4 14 Kt 19 Ph. 1 Land Commission Commission (1991) 14				
		2 13	. [i			
		-1-3				d a	
		. 3					
	A IMPA	2001 C 2011 C 2020 C 1 A 114 118	TANK AVER THE TANK AND THE TANK			*	
		\$					
		8					
)		ş	-				
		5					
		S					
		S					
		5		_			
		S	-				
			-				
		3					
An his vivilandoness (a) I have	Service Service Control of the Contr	5					
		S	-				
		\$					
		5	-				
į						invaling of the second of the	main resourcements of the Paris
		\$	78				angreyer where the day
	AND MACHINE OF PERSONS AS EXPRESSED AS A SECOND AS A S	\$					
1	The second secon	\$	day of annual mate, a list this mountainster actor Ally-Indian polytical	1			
		\$	44	and the state of t	a	the state of the s	
Michigan and a second a second and a second	Analysis and the second	\$	-	- Time			nganbandilinginga (mgga - ng addinging
		\$					
	ts of transportunistational desirability of the community	\$	and the second s				h Chandrain bid (1994) and the Chandra Chandra Chandra Chandra Chandra Chandra Chandra Chandra Chandra Chandra
and the state of t		\$					
		\$					
	enannasannakkilikuriN K Magalah UNINK Wegap singhibi sebir danba damahan mes en en en en en i pres sepapapan	\$	N 1981 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	######################################	material control and the state of the state	AMERICAN . Pure Indicate Annia de Maria de Annia	num additionament datas mandadared
mana an amadela mentro					Octomisment during the latter and th	e nampaapaapaigann anningemerapain a es ses see	
		\$					
	otal of Dec Sales	\$	80,388.24			de de	
		continued	on next sheet				

Number of Systems Placed Under DIGCOP12 in FY-2016

Q3 - FY-2018 Jan, Feb, Mar 2016

įM	ono Bands	Purchase	24 months	38 months	48 months
	1	0	1	0	0
	2	0	0	1	5
	3	0	3	10	3
	4	0	0	4	0
	5	0	0	15	1
	6	0	0	1	2
	7	0	0	1	2
36	ono Totala	0	A.	32	13

	Color Bands	Purchase	24 months	33 months	48 months
	1	0	0	0	0
r	2	0	0	0	0
Г	3	0	0	10	2
	4	1	0	3	7
_	Color Totals	9	Û	13	9

le Date			ar Amount	Tenn	Payment	Sand	Num
01/06	Highways	\$	1,216.08	24	\$ 50.67	1 Mono - 24	
01/06	Public Retirement	\$	24,324.48	48		6 Mono - 48	
01/06	Board of Examiners	\$	7,200.00	48		3 Mono - 48	
01/26	Corrections	\$	4,850.40	48	\$ 101.05	2 Mono - 48	
01/26	Corrections	\$	6,315.84	48	\$ 131.58	2 Mono - 48	
- 1120		\$	-		4 101.00	2 1016116 -40	
		\$	- 00			1	-
		S	,				-
	The state of the s	***************************************			NAMES OF THE PERSON OF THE PERSON OF THE PERSON OF THE PERSON OF THE PERSON OF THE PERSON OF THE PERSON OF THE PERSON OF THE PERSON OF THE PERSON OF THE PERSON OF THE PERSON OF THE PERSON OF THE PERSON OF THE PERSON OF T	,	1
					A STAR SECURE	1	
		1.3			and the second s	, MARRIE, . S AND CARROLL P. S	
				A CHARLES AND A STATE OF THE ST		sun spanier er an ansam san , cas scale a	To the second se
		<u>\$</u>					A This sames and
	. 1075						
		<u> </u>					
							• ,
Arris de desarror de la compansión de la compansión de la compansión de la compansión de la compansión de la c							1
		\$15 					
		\$					
		1					
1	The state of the s	- 5	-	The second of th			
		, K).	_				AR 10 AL 10 LE AR1
	Commented to the Commen			*			
		\$	-				
		\$	-				c .
		S					
		S					
		\$	-				1
		\$	3111	-	_		
		\$					
		5					
		\$					
		3					
		\$					
		S					
		S	- 4				
		3					
		\$					
		S S					
		5					
		S					
		\$ \$ \$	-				
		S	-				
		\$					
		S					
		\$				and the second s	
	=======================================	\$		-			
		5					
	otal of Jan Sales		10.000.00				
		627	43,906.80				

la Date	Customer Name) 10-0-0-0	ar Ameunt	19Am	Payment		Number
02/02	Highways	\$	8,542.44	36		4 Mono - 36	
02/02	Corrections	\$	4,358.88	36		2 Mono - 36	
02/02	Port Authority	\$	7,977.96	36		3 Iviono - 36	1
02/02	Board of Occupational Therapy	\$	6,315.84	48		2 Mono - 48	1
02/02	Corrections	\$	5,117.04	36		3 Mono - 36	1
02/05	DHHR	\$	22,344.00	48		4 Color - 48	2
02/12	EEO	\$	8,277.12	48		3 Color - 48	1
02/16	DMV	\$	8,221.92	48		3 Mono - 48	1
02/17	Lottery	\$	7,219.03	36		3 Color - 36	1
02/24	Consolidated Public Retirement	\$	5,543.04	48		3 Mono - 48	1
02/29	Highways	\$	13,165.92	48		5 Mono - 48	1
02/29	Insurance Commissioner	\$	9,262.56	48	192.97	4 Co/or - 48	1
		\$	-		İ		
		S	-				
		\$	-				
		\$			***************************************		
-	The second secon	\$	M.p.				
		\$	-			-11 1 15	
		3	-				
	and the same set of the same s	\$	***				
	And the second s	\$	-				
		\$	w				
		1\$	49				
		\$					
		\$					
1	ngga miniringip di kababahar udik dinakharanak Miniri I . Baba mas iki dalah di mas mas k bana kemban 1970 dan haran bari	\$	819				
		\$	-				
		\$	*				
	The state of the s	\$	-				
		\$	-				
		\$	-				
		\$	-				
	According to the second of the	\$					
		\$	-				
		\$	-				
		S	61	<u></u>		-	
-		\$	- 1				
		S					
	Appendix of the Additional State of the Stat	\$					
		\$					
		\$					
		\$					
	galatina agamati agamati agamati agamati agamati agamati agamati agamati atamati atamati atamati atamati atamati	\$					
		\$					
		\$				1211	
		\$					
		\$	-				
		\$					
			0004500				
	Total of Feb Sales		106,345.80				13
		continue	d on next sheet				

le Date	Customer Name		Dollar Ameunt	Term	Paymont	Sand	Mumb
	Health Care Authority	\$	18,782.40	48		4 Color - 48	
	Lottery	\$	64,971.72	36	1,804,77	3 Color - 36	
03/04	Highways	\$	30,702.24	36	852.84	3 Niono - 36	
03/07	Real Estate Comm	\$	8,305.92	48		3 Color - 48	
03/08	Tax Dept	\$	9,646.86	1		4 Color - P	
	Highways	\$	7,701.12	36		3 Mono - 36	
	Highways	\$	7,468.92	36		3 Mono - 36	
	Treasurer	\$	21,473.28	48		4 Color - 48	
	Rehabilitation Services	\$	9,317.76	48		2 Mono - 48	
	Regional Jail	\$	29,846.88	36		4 Color - 36	1
	Regional Jail	\$	141,873.12	36		5 Mono - 36	
	Regional Jail	\$	35,468.28	36		5 Mono - 36	
	EPA	\$	10,811.88	36		6 Mono - 36	
	EPA	\$	17,814.24	36		7 Mono - 36	
	EPA	\$	8,655.48	36		4 Mono - 36	
	DHHR	\$	21,237.84	24		3 Mono - 24]
	DHHR	\$	42,804.96	48		7 Mono - 48	
	DHHR			48		4 Color - 48	
03/23	JANK	\$	-	40		4 60101 - 40	
		\$					
		**					
		\$	-				
			· · · · · · · · · · · · · · · · · · ·				
		12.	·				
			- 1				
	e a company of the second of t	. <u> </u>					
	and an extraord the second contract and a state of the second contract and the						
		1 6	PROTEIN STORE I BOOK AND THE SEASON AND AND AND AND AND AND AND AND AND AN				
	na ang ang ang ang ang ang ang ang ang a	1.3		1			. 17 11 1885 6
			70				rang r pro prosp
1		1 3		!		i	
		1 112		1	!		
		- 3					
	e a company of the co	3		1			
1		1 3		1			
and the comments and com-	TO THE PROPERTY OF A STANDARD CONTROL OF THE CONTROL OF THE STANDARD CONTROL OF THE CONTROL OF T	3	V 10 197 - 1981 1 12 1 12 1 10 1 10 1 10 1 10 1 10 1		*		
	The second discontinuous control of the second of the seco	1.5		maran manana manana mari ana		The MacMasses, all T. 1997 for the words, referentials arror in 4. Jan. 18	
	***		- 1		1	i	
						- 1	
	en promountaire ann ann an Aire ann an Aire ann an Aire ann an Aire ann an Aire ann an Aire ann an Aire ann an	5					
	and the second s		namena e ar es a sacrapena e a estada de des			Lie Tudos of The Lieute 2015	and a ratio and water was the first first and first
	and the state of t	3					T a 199 LEAN LEWIS ATMAR
		Ġ	Re Willer William Company and the company and a company are a company and a company and a company and a company				
	WV-10000 10 . 10 000, 1000, 111 11 11 11 11 11 11 11 11 11 11 11 1	<u> </u>		d - Production while made, a - 1 labore	or articulativativat, our excellentations is described to	destablishment M.E. album	
						THE STATE OF THE STATE OF THE STATE OF	
		12					
		· · · · · · · · · · · · · · · · · · ·	Andre JAME 7 19 409/1977 w John Commission Co	· · · · · · · · · · · · · · · · · · ·			
		2			market treatment and personned or given		
ž			1 P	i			
	ozal of March Sales	9	488,882.00				i i

Number of Systems Placed Under DIGCOP12 in FY-2016

Q4 - FY-2015 Apr, May, June 2016

	Mono Bands	Punchasa	24 months	33 months	AR mantha
ſ	1	0	0	15	1
	2	1	3	0	1
ſ	_ 3	0	1	2	7
Ε	4	0	0	3	4
	5	0	0	Ą	2
Ĺ	6	0	0	2	15
	7	C	Ō	0	1
	Mono Totala	4	6	26	31

-	Color Bands	Purchase	24 months	36 months	48 months
	1	0	0	9	0
L	2	2	0	f	2
	3	0	0	5	1
	4	1	3	8	8
	Color Totals	3	3	12	44

ie Date	Customer Name	i jos	lar Amount	TO:Th	Payment		Num
04/08	Military Authority	\$	4,550.76	36		3 Color - 36	
04/08	School Deaf & Blind	\$	10,727.01	1	\$10,727.01		1
04/08	Corrections	\$	7,200.00	48	\$ 150.00	3 Mono - 48	
04/08	Corrections	\$	6,315.84	48		2 Mono - 48	
04/15	DHHR	\$	9,127.20	48	\$ 190.15	4 Color - 48	
04/15	DHHR	\$	12,902.88	48	\$ 268.81	4 Color - 48	
04/15	DHHR	\$	10,440.48	48	\$ 217.51	4 Color - 48	Ī
04/15	DHHR	\$	9,391.20	48	\$ 195.65	4 Color - 48	
04/15	DHHR	\$	9,391.20	48		4 Color - 48	
	Highways	\$	8,296.56	36		4 Color - 36	
	Highways	\$	8,293.56	36		4 Color - 36	
	Highways	\$	8,213.04	36		4 Niono - 36	†
	Juvenile Services	\$	31,750.08	48		6 Mono - 48	
	Juvenile Services	\$	-	48	+ ••••••	1 Mono - 48	
	DHHR	\$	10,360.32	48	\$ 215.84	4 Color - 48	
	DHHR	\$	7,200.00	48		3 Mono - 48	
	DHHR	\$	9,827.04	48		3 Color - 48	
	DHHR	\$	8,970.84	36		4 Color - 36	
	Education	\$.	11,777.76	48		6 Mono - 48	
	DHHR	\$	14,246.40	48		6 Mono - 48	
J41Z1	DOOK	\$	14,240.40	40	Ф 290.00	0 MONO - 40	
	The same of the sa						
		- 5					
		\$					
		S					
		\$					
		\$					
		\$					
		\$					
		5					
		S	7				
		\$					
		3					
		- 5	-				
		S	-				
		\$	-				
		\$	-				
		S	÷:				
		\$	-				
		\$	-				
		5	-				
		S	-				
		\$	-				
		\$	1 1				
		\$					
		5					
		\$				discovered consequences for the collection of	way destricts
		S					
	otal of April Sales		198,985.17				
						4	

ale Date	Customer Name		Doilar Amount	Term	Payment	Band	Mumbe
05/10	Administration	\$	38,159.28	24		2 Iviono - 24	
	Administration	\$	_	24		4 Color - 24	
05/11	DHHR	\$	11,380.32	36	316.12	5 Mono - 36	·
05/11	DHHR	\$	11,380.32	36		5 Mono - 36	-
05/12	DHHR	\$	11,797.56	36		5 Mono - 35	
05/12	DHHR	\$	5,285.16	36		3 Mono - 36	
05/18	DHHR	\$	12,662.40	48		5 Mono - 48	
05/18	DHHR	\$	24,772.32	48	516 09	3 Mono - 48	
	DHHR	\$	21,112.02	48		4 Color - 48	
	DHHR	\$	9,387.36	48		4 iviono - 48	
	DHHR	\$	9,387.36	48		4 Mono - 48	
	DHHR	\$	9,707.04	48		4 Mono - 48	
	DHHR	\$	9,467.52	48		4 Mono - 48	
	DHHR	\$	7,630.20	36		3 Mono - 36	
	Highways	\$	6,734.52	36		3 Color - 36	<u></u>
	State Police	\$	3,933.50	1		2 Color - 36	
	State Police	\$	3,645.00	1		2 Mono - P	-
	State Police	\$	28,979.04	48		2 Mono - P 6 Mono - 48	
	State Police	\$	20,979.04				
	Corrections	\$		48		4 Color - 48	
03/23	JOHECHOUS_		5,117.04	36	142.14	3 Mono - 48	
		\$					
	THE COMMUNICATION OF MALE AND A SECOND SECON			***************************************			
		- 2					bi 1 5.8 5.
		- 5					
		5					
		5					
		2	-				
	THE CONTRACTOR OF THE CONTRACT	S	-		. 19. 9	a to the contribution of the first temperature and	W W T T W W T T T T T T T T T T T T T T
		\$					
	The state of the s	S	+ 1				
and the state of t	The second secon	5				1	
		S	4				
		S	-				
		S	-				
		S	2				
		5	-				
		1.5			5		
obsession of		\$	All the second control of the second control				erna acumus n minerolome di Abribbia
1	The state of the s	\$	ESE C. 1. S. Warry and described to the second seco	Minustena eri i ren a recono i di anti	andre LN + remove at 11 v		
	models, each factoring a page 4 on money at a country of a country of a country of the country	\$	-	The Title The TT and real late present age or year, as	are a recovering and recommender of a black to the constitution of the second of the constitution of the c		THE RESERVE OF STREET
	10 to the common complete made on the control of th	\$			Andrew Common Common William Common C	200 100 10 270 10 10 10 10 10 10 10 10 10 10 10 10	Carried Co. NET - SHERWAY
	Address Advances and Market and Address (1974-1986) Advances and Advances (1974-1986) Advance	1.5	TAP			and the state of t	HE WAS A STANSON OF THE STANSON
		S	Marie aller de la company de la company de la company de la company de la company de la company de la company Marie al company de la company de la company de la company de la company de la company de la company de la comp				
N. M. (1889)	OPENIN AND THE THEORY OF THE STATE OF THE ST	S	ng an armyring (program (progr		and the contract of the set flower than the contract of the co		
	and the state of t	\$	AN.	tre processes exercises and			
	The second secon	\$	TO AMERICAN AND AND AND AND AND AND AND AND AND A				
	MARTINE WAS ARRESTED TO THE PARTY OF THE PAR	\$					
AMAZON TAMBAN TITLE BE AN ARRANGA BAN AMAZON BAN AMAZON BAN AN ARRANGA BAN AN ARRANGA BAN AN ARRANGA BAN AN ARRANGA BAN ARRANG	The first decision of the first of the contrac	S	mg				
and the second second second	otal of May Sales	\$	209,425.94				-
	STATE OF BUILDING SERVICES	D		:	t t	4	25

ale Data	Customer Name	Do	iar Amount	Term	Payment	<u>Band</u>	Runab
06/03	Public Defender Services	\$	19,591.68	48		6 Mono - 48	
06/08	Highways	\$	10,875.24	36	302.09	5 Mono - 36	
06/08	Highways	\$	37,335.60	36	1,037.10	1 Mono - 36	
06/08	Highways	\$	4,382.64	36	121.74	2 Color - 36	
06/08	Highways	\$	14,569.92	36	404.72	3 Color - 36	
	Highways	\$	8,732.16	36		4 Color - 36	
	Highways	\$	17,332.20	36		4 Mono - 36	
	Tourism	S	13,165.92	48		5 Mono - 48	
	DHHR	\$	6,837.12	36		3 Color - 36	
	DHHR	\$	19,981.92	48		7 Mono - 48	
	DHHR	\$	7,200.00	48		3 Mono - 48	f
	Rehab Services	\$	8,221.92	48		3 Mono - 48	
	Fire Commission	\$	5,641.00	1		2 Color - P	
			24,428.18	36		4 Color - 36	
	Highways Juvenile Services	\$		48		2 Color - 48	
		\$	7,528.80	48		2 Color - 48	
	Juvenile Services	\$	7,528.80				i
	Mountaineer Challenge Academy	\$	6,896.28	1		3 Mono - 24	
	Auditor	\$	20,990.88	48		6 Mono - 48	
	Auditor	\$	20,990.88	48		6 Mono - 48	
*	DHHR	\$	10,986.94	36		6 Mano - 36	
	DHHR	\$	10,986.84	36		8 Mono - 35	
	DHHR	\$	14,865.60	48		6 Mono - 48	
06/30	DHR	\$	14,865.60	48	309.70	6 Mono - 48	
T T T T T T T T T T T T T T T T T T T		1.5	, as				
	delle comment of the	\$	-		Average and a second		
	The second second to the second secon	\$	-		**Artes		
		\$	And the second s		and the same of th		
		\$		Modernia Maria		- 30 2 10 10 10 10 10 10 10 10 10 10 10 10 10	
Tananaman afternoon part of	A membrane case common sector for Well Well - 1900/999 - 1860, sectors, provide first, sector was a sector of sectors.	\$	AND AND ADDRESS OF THE PARTY OF	And Andrew	n is on a sale sea macrossachuselishen 16900 Pi		man or a service of the second
	man apong a se man mentana a se man a man and a man a man a man a man a man a man a man a man a man a man a man	S	may appear on the second of th				कार क्षीपार्थ स्थाप अपूर व्यापक
-		\$				AND THE RESIDENCE	
1		\$					T
		- 13					And Management of Andrews Str. and
	A BANTA ATTA	\$			N N		
	The Street Stree	\$					to grapher to the same of the same of
		\$	<u> </u>			The statement and the statemen	of a service of the s
		S	-				
		\$	per				-
		3					
		S					
		S	-				
		S	-				
		S					
		\$	-				
		\$					
		S	1				
		S					
		5					
	otal of June Sales	5	313,845.98				

ADDENDUM ACKNOWLEDGEMENT FORM SOLICITATION NO.: CRFQ SWC17*08

Instructions: Please acknowledge receipt of all addenda issued with this solicitation by completing this addendum acknowledgment form. Check the box next to each addendum received and sign below. Failure to acknowledge addenda may result in bid disqualification.

Acknowledgment: I hereby acknowledge receipt of the following addenda and have made the necessary revisions to my proposal, plans and/or specification, etc.

	, pop, pop, p		•	
	Numbers Received: ox next to each addendum rec	ceive	I)	
[x]	Addendum No. 1	[.]	Addendum No. 6
[x]	Addendum No. 2	[]	Addendum No. 7
[X]	Addendum No. 3	Į	1	Addendum No. 8
[]	Addendum No. 4	[]	Addendum No. 9
[]	Addendum No. 5	[]	Addendum No. 10
further unders discussion hel	itand that any verbal represend d between Vendor's represen	ntation ntative the sp	n ma es a peci	Idenda may be cause for rejection of this bid. I ade or assumed to be made during any oral and any state personnel is not binding. Only the ifications by an official addendum is binding.
		and the second second		Company
				Authorized Signature
				Date

NOTE: This addendum acknowledgement should be submitted with the bid to expedite document processing. Revised 6/8/2012



Pricing

DIGCOP17 - Pricing Pages - Revised by Addendum No. 3

No.	Order Type	Item Description	Brand Name of Item Bid	Model No. of item Bid	Est. Quantity	Unit Price		Total Price
	Purch ase	Monochrome				' 	_	
		Band 1.				Γ	Т	
		Copier	SHARP	MX-M266N	10	\$ 1,803.00	\$	18,030.0
	-	Scanning	SHARP	INCLUDED	10	\$ -	\$	-
		Network Printing	SHARP	INCLUDED	10	\$ -	\$	
		Fax	SHARP	MX-FX11	10	\$ 324.00	\$	3,240.0
		Monthly Maintenance Charge Per Copier (0-5,000 copies)	SHARP		3,060	\$ 21.50	\$	65,790.6
		Per Copy Maintenance Overage Charge (5,001 and up)	SHARP		18,000	\$ 0.01080	\$	194.
		Total for Band 1					\$	87,254.4
		Band 2		_	-		1	
		Copier	SHARP	MX-M266N SYSTEM	15	\$ 2,572.00	\$	38,580.0
ı		Scanning	SHARP	INCLUDED	15	\$ -	\$	-
Ī		Network Printing	SHARP	INCLUDED	15	\$ -	\$	_
]		Fax	SHARP	MX-FX11	15	\$ 324.00	-	4,860.0
- !		Staple	SHARP	MX-FN26	15	\$ 520.00	+	7,800.0
		Monthly Maintenance Charge Per Copier (0-15,000 copies)			2,880	\$ 25.00	<u> </u>	72,000.0
- 1		Per Copy Maintenance Overage Charge (15,001 and up)			18,000	\$ 0.00630		113.4
		Total for Band 2					\$	123,353.4
- 1								
ı		Band 3						
l		Copier	SHARP	MX-M316N SYSTEM	5	\$ 2,678.00	\$	13,390.0
- 1		Scanning	SHARP	INCLUDED	5	\$ -	\$	-
- 1		Network Printing	SHARP	INCLUDED	5	\$ -	\$	-
- 1		Fax	SHARP	MX-FX11	5	\$ 324.00	\$	1,620.0
		Staple	SHARP	MX-FN26	5	\$ 520.00	\$	2,600.0
		Monthly Maintenance Charge Per Copier (0-30,000 copies)	SHARP		1,800	\$ 35.50	\$	63,900.0
0		Per Copy Maintenance Overage Charge (30,001 and up)			18,000	\$ 0.00710	\$	127.8
)		Total for Band 3					\$	81,637.8
20								
		Band 4						
		Copier	SHARP	MX-M464N SYSTEM	5	\$ 3,963.00	\$	19,815.0
		Scanning	SHARP	INCLUDED	5	\$ -	\$	
		Network Printing	SHARP	INCLUDED	5	\$ -	\$	-
	[Fax	SHARP	MX-FX11	5	\$ 324.00	\$	1,620.0
	[Staple	SHARP	MX-FN17	5	\$ 520.00	\$	2,600.0
ĺ	[Monthly Maintenance Charge Per Copier (0-45,000 copies)	SHARP		1,080	\$ 41.25	\$	44,550.0
	[Per Copy Maintenance Overage Charge (45,001 and up)			18,000	\$ 0.00430	\$	77.40
	Ţ.	Total for Band 4		<u>'</u>			5	68,662.40

1	Purchase (cont.)	Monochrome							
		Band 5	-			+			
		Copier	SHARP	MX-M564N SYSTEM	5	\$	4,281.00	\$	21,405.0
		Scanning	SHARP	INCLUDED	5	\$	-	\$	-
-		Network Printing	SHARP	INCLUDED	5	\$	-	\$	-
	į	Fax	SHARP	MX-FX11	5	\$	324.00	\$	1,620.
		Staple	SHARP	MX-FN17	5	\$	520.00	\$	2,600.0
		Monthly Maintenance Charge Per Copier (0-65,000 copies)	SHARP		700	\$	73.00	\$	51,100.
	1	Per Copy Maintenance Overage Charge (65,001 and up)			18,000	\$	D.00440	\$	79.
		Total for Band 5				•		\$	76,804.
]				I	Į,			
	1 1	Band 6				\top			
		Copier	SHARP	MX-M654N SYSTEM	5	\$	6,430.00	\$	32,150.0
	ļ	Scanning	SHARP	INCLUDED	5	\$	-	\$	-
	•	Network Printing	SHARP	INCLUDED	5	\$	-	\$	-
		Fax	SHARP	MX-FX11	5	\$	324.00	\$	1,620.0
	ŀ	Staple	SHARP	MX-FN17	5	\$	520.00	\$	2,600.0
		Monthly Maintenance Charge Per Copier (0-80,000 copies)	SHARP		150	\$	100.00	\$	15,000.0
		Per Copy Maintenance Overage Charge (80,001 and up)			18,000	\$	0.00400	\$	72.0
		Total for Band 6				_		\$	51,442.0
		Band 7		_					
		Copier	SHARP	MX-M754N SYSTEM	5	s	6,961.00	é	34,805.0
		Scanning	SHARP	INCLUDED	5	\$	-	\$	34,003.0
i	ĺ	Network Printing	SHARP	INCLUDED	5	S		Ś	
		Fax	SHARP	MX-FX11	5	\$	324.00	<u> </u>	1,620.0
		Staple	SHARP	MX-FN17	5	s	520.00	_	2,600.0
		Monthly Maintenance Charge Per Copier (0-150,000 copies)	SHARP		360	\$	135.25	_	48,690.0
		Per Copy Maintenance Overage Charge (150,001 and up)			18,000	3	0.00420		75.6
		Total for Band 7			1,	*		\$	87,790.6
ľ						П			
				Total Purchase Price of N	lonochrome Bar	ıds 1	through 7	s	576,944.8

No.	Order Type	Item Description	Brand Name	Model No.	Est. Quantity	Unit Price	Total Price
~?	Purchase	Color					
	ĺ	Band 1					<u> </u>
		Copier	SHARP	MX-C301W SYSTEM1	5	\$ 1,828.00	\$ 9,140.
		Scanning	SHARP	INCLUDED	5	\$ -	\$ -
		Network Printing	SHARP	INCLUDED	5	\$ -	\$ -
		Fax	SHARP	INCLUDED	5	\$ -	\$ -
		Per Copy Maintenance Charge (Color)	SHARP		72,000	\$ 0.06000	\$ 4,320.
		Per Copy Maintenance Charge (Monochrome)	SHARP		144,000	\$ 0.01500	\$ 2,160.6
		Total for Band 1					\$ 15,620.0
		Band 2					
		Copier	SHARP	MX-C301W SYSTEM2	10	\$ 1,998.00	\$ 19,980.0
		Scanning	SHARP	INCLUDED	10	\$ -	\$ -
		Network Printing	SHARP	INCLUDED	10	\$ -	\$ -
j		Fax	SHARP	INCLUDED	10	\$ -	\$ -
l	1	Staple	SHARP	n/a	10		\$ -
		Per Copy Maintenance Charge (Color)	SHARP		72,000	\$ 0.04000	\$ 2,880.0
		Per Copy Maintenance Charge (Monochrome)	SHARP		144,000	\$ 0.00700	\$ 1,008.0
ľ		Total for Band 2					\$ 23,868.0
		Band 3		<u> </u>			
- 1		Copler	CHARD	LAV SOCOL SVSTSL4	_	A 4055.00	4 00,000
			SHARP	MX-3050N SYSTEM	5	\$ 4,056.00	\$ 20,280.0
		Scanning Newsonk Polyation	SHARP	INCLUDED	5	\$ -	\$ -
- 1		Network Printing	SHARP	INCLUDED	5	\$ -	\$ -
		Fax	SHARP	MX-FX15	5	\$ 324.00	\$ 1,620.0
-		Staple	SHARP	MX-FN27	5	\$ 573.00	\$ 2,865.0
- 1		Per Copy Maintenance Charge (Color)	SHARP		72,000	\$ 0.04000	\$ 2,880.0
. [Per Copy Maintenance Charge (Monochrome)			144,000	\$ 0.00700	\$ 1,008.0
)		Total for Band 3					\$ 28,653.0
		Band 4		`			
		Copier	SHARP	MX-4050N SYSTEM	10	\$ 5,118.00	\$ 51,180.0
		Scanning	SHARP	INCLUDED	10	\$ -	\$ -
		Network Printing	SHARP	INCLUDED	10	\$ -	\$ -
		Fax	SHARP	MX-FX15	10	\$ 324.00	\$ 3,240.0
		Staple	SHARP	MX-FN27	10	\$ 573.00	\$ 5,730.0
	i	Per Copy Maintenance Charge (Color)	SHARP		72,000	\$ 0.04000	\$ 2,880.0
		Per Copy Maintenance Charge (Monochrome)	SHARP		144,000	\$ 0.00700	\$ 1,008.0
		Total for Band 4					\$ 64,038.0
- 1					chase Price of Co		\$ 132,179.

Item No.		Description	Brand Name	Model No.	Est. Quantity	Unit Price Per Month	Total Price Per Month (Including Maintenance)
3	24 Month Lease	Monochrome			ă.		
	!	Band 1					
		Copier (Including maintenance for 0 - 5000 copies)	SHARP	MX-M266N	1	\$ 101.56	
		Scanning	SHARP	INCLUDED	1	\$ -	\$ -
	ļ	Network Printing	SHARP	INCLUDED	1	\$ -	\$ -
	1	Fax	SHARP	MX-FX11	1	\$ 14.39	\$ 14.39
		Per Copy Maintenance Overage Charge (5001 and up)	SHARP		500	\$ 0.01080	\$ 5.40
	į	Total for Band 1	SHARP				\$ 121.35
	-						
		Band 2					
		Copier (including maintenance for 0 - 15,000 copies)	SHARP	MX-M266N SYSTEM	5	\$ 139.21	\$ 696,05
		Scanning	SHARP	INCLUDED	5	\$ -	\$ -
		Network Printing	SHARP	INCLUDED	5	\$ -	\$ -
		Fax	SHARP	MX-FX11	5	\$ 14.39	\$ 71.95
		Staple	SHARP	MX-FN26	5	\$ 23.09	\$ 115.45
		Per Copy Maintenance Overage Charge (15,001 and up)	SHARP		500	\$ 0.00630	\$ 3.15
		Total for Band 2					\$ 886.60
		Band 3		1	13		
		Copier (Including maintenance for 0 - 30,000 copies)	SHARP	MX-M316N SYSTEM	5	\$ 154.42	\$ 772.10
		Scanning	SHARP	INCLUDED	5	\$ -	\$ -
		Network Printing	SHARP	INCLUDED	5	\$ -	\$ -
ľ		Fax	SHARP	MX-FX11	5	\$ 14.39	\$ 71.95
		Staple	SHARP	MX-FN26	5	\$ 23.09	\$ 115.45
ē.		Per Copy Maintenance Overage Charge (30,001 and up)	SHARP		500	\$ 0.00710	\$ 3,55
		Total for Band 3					\$ 963.05
		<u> </u>					

3 24 Month Lease (cont.)	Monochrome						
	Band 4			1	†		
- 1	Copier (including maintenance for 0 - 45,000 copies)	SHARP	MX-M464N SYSTEM	5	\$ 217.23	\$	1,086.1
	Scanning	SHARP	INCLUDED	5	\$ -	\$	-
	Network Printing	SHARP	INCLUDED	5	\$ -	\$	-
- !	Fax	SHARP	MX-FX11	5	\$ 14.39	\$	71.9
	Staple	SHARP	MX-FN17	5	\$ 23.09	\$	115.4
	Per Copy Maintenance Overage Charge (45,001 and up)	SHARP		500	\$ 0.00430	\$	2.1
	Total for Band 4		i			\$	1,275.7
i	Band 5						
- 1	Copier (including maintenance for 0 - 65,000 copies)	SHARP	MX-M564N SYSTEM	5	\$ 263.10	\$	1,315.5
Į.	Scanning	SHARP	INCLUDED	5	\$ -	\$	-
ŀ	Network Printing	SHARP	INCLUDED	S	\$ -	\$	-
	Fax	SHARP	MX-FX11	5	\$ 14.39	\$	71.9
İ	Staple	SHARP	MX-FN17	5	\$ 23.09	\$	115.4
İ	Per Copy Maintenance Overage Charge (65,001 and up)	SHARP		500	\$ 0.00440	\$	2.2
	Total for Band 5					\$	1,505.1
	Band 6				-	<u> </u>	
ł	Copier (including maintenance for C - 80,000 copies)	SHARP	MX-M654N SYSTEM	5	\$ 385.53	Ś	1,927.6
ľ	Scanning	SHARP	INCLUDED	5	\$ -	\$	-
	Network Printing	SHARP	INCLUDED	5	s -	\$	_
	Fax	SHARP	MX-FX11	5	\$ 14.39	s	71.9
	Staple	SHARP	MX-FN17	5	\$ 23.09	\$	115.4
J	Per Copy Maintenance Overage Charge (80,001 and up)	SHARP		500	\$ 0.00400	Ś	2.0
	Total for Band 6					\$	2,117.0
	8and 7						
	Copier (including maintenance for 0 - 150,000 copies)	SHARP	MX-M754N SYSTEM	5	\$ 444.35	\$	2,221.75
	Scanning	SHARP	INCLUDED	5	\$ -	\$	
	Network Printing	SHARP	INCLUDED	5	\$ -	\$	
Ç.	Fax	SHARP	MX-FX11	5	\$ 14.39	Ś	71.95
)	Staple	SHARP	MX-FN17	5	\$ 23.09		115.45
	Per Copy Maintenance Overage Charge (150,001 and up)	SHARP		500	\$ 0.00420		2.10
	Total for Band 7				4 0.00-120	\$	2,411.2
		Total Monthi	y Lease Price of Monochrome Bands 1	through 7 for 2	4 Month Lease	\$	9,280.10

tem No.	Order Type	ltem Description	Brand Name	Model No.	Est. Quantity	Unit Price Per Month	Total Price Per Month (Including Maintenance)
4	24 Month Lease	Color					
		· · · · · · · · · · · · · · · · · · ·					-
		Band 1					
		Copier	SHARP	MX-C301W SYSTEM1	5	\$ 81.18	\$ 405.9
		Scanning	SHARP	INCLUDED	5	\$ -	\$ -
		Network Printing	SHARP	INCLUDED	5	\$ -	\$ -
		Fax	SHARP	INCLUDED	5	\$ -	\$ -
		Per Copy Maintenance Charge (Color)	SHARP		2,000	\$ 0.06000	\$ 120.0
		Per Copy Maintenance Charge (Monochrome)	SHARP		4,000	\$ 0.01500	\$ 60.0
		Total for Band 1			4,000	3 0.01300	\$ 585.9
		Band 2					
	•	Copier	SHARP	MX-C301W SYSTEM2	5	\$ 88.73	\$ 443.6
		Scanning	SHARP	INCLUDED	5	\$ -	\$ -
- 1		Network Printing	SHARP	INCLUDED	5	\$ -	\$ -
		Fax	SHARP	INCLUDED	5	\$ -	\$ -
- 1		Staple	SHARP	n/a	5		\$ -
		Per Copy Maintenance Charge (Color)	SHARP		2,000	\$ 0.04000	\$ 80.0
		Per Copy Maintenance Charge (Monochrome)	SHARP		4,000	\$ 0.00700	\$ 28.0
ı		Total for Band 2					\$ 551.65
- 1							
ľ		Band 3					
		Copier	SHARP	MX-3050N SYSTEM	5	\$ 180.11	\$ 900.5
		Scanning	SHARP	INCLUDED	5	\$ -	\$ -
		Network Printing	SHARP	INCLUDED	5	\$ -	\$ -
Y I	i	Fax	SHARP	MX-FX15	5	\$ 14.39	\$ 71.95
6		Staple	SHARP	MX-FN27	5	\$ 25.44	\$ 127.20
	Į.	Per Copy Maintenance Charge (Color)	SHARP		2,000	\$ 0.04000	\$ 80.00
- 1	[Per Copy Maintenance Charge (Monochrome)	SHARP		4,000	\$ 0.00700	\$ 28.00
		Total for Band 3					\$ 1,207.70
- 1		Band 4					
	}				ļļ.		
	ł	Copier	SHARP	MX-4050N SYSTEM		\$ 227.26	
	}	Scanning Network Pointing	SHARP	INCLUDED		\$ -	\$ -
	}	Network Printing	SHARP	INCLUDED			\$ -
		France	SHARP	MX-FX15		\$ 14.39	
	-	Staple Staple	SHARP	MX-FN27		\$ 25.44	
-	-	Per Copy Maintenance Charge (Color)	SHARP			\$ 0.04000	
	-	Per Copy Maintenance Charge (Monochrome)	SHARP		4,000	\$ 0.00700	-
		Total for Band 4					\$ 1,443.45
	1						

item No.		Description	Brand Name	Model No.	Est. Quantity	Unit Price Per Month	Total Price Per Month (Including Maintenance)
· -	36 Month Lease	Monochrome					
	ļ	Band 1					
	İ	Copier (including maintenance for 0 - 5,000 copies)	SHARP	MX-M266N	30	\$ 77.76	\$ 2,332.80
	ĺ	Scanning	SHARP	INCLUDED	30	\$ -	\$ -
	1	Network Printing	SHARP	INCLUDED	30	\$ -	\$ -
	ľ	Fax	SHARP	MX-FX11	30	\$ 10.11	\$ 303.30
		Per Copy Ma!ntenance Overage Charge (5,001 and up)	SHARP		500	\$ 0.01080	\$ 5.40
	i	Total for Sand 1	SHARP				\$ 2,641.50
	ľ						
		Band 2				- 3	
	j	Copier (Including maintenance for 0 - 15,000 copies)	SHARP	MX-M266N SYSTEM	5	\$ 105.25	\$ 526.25
		Scanning	SHARP	INCLUDED	5	\$ -	\$ -
		Network Printing	SHARP	INCLUDED	5	\$ -	\$ -
		Fax	SHARP	MX-FX11	5	\$ 10.11	\$ 50.55
		Staple	SHARP	MX-FN26	5	\$ 16.22	\$ 81.10
		Per Copy Maintenance Overage Charge (15,001 and up)	SHARP		500	\$ 0.00630	\$ 3.15
		Total for Band 2					\$ 661.05
		Band 3					
		Copier (including maintenance for 0 - 30,000 copies)	SHARP	MX-M316N SYSTEM	40	\$ 119.05	\$ 4,762.00
		Scanning	SHARP	INCLUDED	40	\$ -	\$ -
		Network Printing	SHARP	INCLUDED	40	\$ -	\$ -
ı		Fax	SHARP	MX-FX11	40	\$ 10.11	\$ 404.40
- [Staple	SHARP	MX-FN26	40	\$ 16.22	\$ 648.80
- 1		Per Copy Maintenance Overage Charge (30,001 and up)	SHARP		500	\$ 0.00710	\$ 3.55
Į	1	Total for Band 3					\$ 5,818.75
_ [
1		Band 4					
2		Copier (including maintenance for 0 - 45,000 copies)	SHARP	MX-M464N SYSTEM	40	\$ 164.90	\$ 6,596.00
		Scanning	SHARP	INCLUDED	40	\$ -	\$ -
		Network Printing	SHARP	INCLUDED	40	\$ -	\$ -
		Fax	SHARP	MX-FX11	40	\$ 10.11	\$ 404.40
j		Staple	SHARP	MX-FN17	40	\$ 16.22	\$ 648.80
		Per Copy Maintenance Overage Charge (45,001 and up)	SHARP		500	\$ 0.00430	\$ 2.15
- 1		Total for Band 4					\$ 7,651.35

5 36 Month Lease (cont.)	Monochrome							
	Band 5	-			+			
- 1	Copier (including maintenance for 0 - 65,000 copies)	SHARP	MX-M564N SYSTEM	40	\$	206.57	Ś	8,262
5/1	Scanning	SHARP	INCLUDED	40	\$	-	\$	
A.	Network Printing	SHARP	INCLUDED	40	\$	-	s	
	Fax	SHARP	MX-FX11	40	\$	10.11	\$	404.
- 1	Staple	SHARP	MX-FN17	40	\$	16.22	\$	648.
	Per Copy Maintenance Overage Charge (65,001 and up)	SHARP		500	\$	C.00440	\$	2.
- 1	Total for Band 5						\$	9,318.
					_			
- 1	Band 6							
ł	Copler (including maintenance for 0 - 80,000 copies)	SHARP	MX-M654N SYSTEM	20	\$	300.61	s	6,012.
	Scanning	SHARP	INCLUDED	20	\$	-	s	
	Network Printing	SHARP	INCLUDED	20	1\$	-	\$	
	Fax	SHARP	MX-FX11	20	\$	10.11	\$	202.
	Stap!e	SHARP	MX-FN17	20	\$	16.22	\$	324.
	Per Copy Maintenance Overage Charge (80,001 and up)	SHARP		500	\$	0.00400	\$	2,1
	Total for Band 6						\$	6,540.
	Band 7				-			_
1	Copler (including maintenance for 0 - 150,000 copies)	SHARP	MX-M754N SYSTEM	10	\$	352.43	Ś	3,524.3
	Scanning	SHARP	INCLUDED	10	\$	_	\$	
	Network Printing	SHARP	INCLUDED	10	5		ŝ	
	Fax	SHARP	MX-FX11	10	5	10,11	<u> </u>	101.1
	Staple	SHARP	MX-FN17	10	s	_	\$	162.2
	Per Copy Maintenance Overage Charge (150,001 and up)	SHARP		500	S		\$	2.1
	Total for Band 7					_	\$	3,789.7

Item No.	Order Type	item Description	Brand Name	Model No.	Est. Quantity	Unit Price Per Month	Total Price Per Month (Including Maintenance)
á	36 Month Lease	Color		1			t.
		Band 1					
	ĺ	Copier	SHARP	MX-C301W SYSTEM1	5	\$ 57.03	\$ 285.1
		Scanning	SHARP	INCLUDED	5	\$ -	\$ -
		Network Printing	SHARP	INCLUDED	5	\$ -	\$ -
	Į	Fax	SHARP	INCLUDED	5	\$ -	\$ -
		Per Copy Maintenance Charge (Color)	SHARP		2,000	\$ 0.06000	\$ 120.0
		Per Copy Maintenance Charge (Monochrome)	SHARP		4,000	\$ 0.01500	\$ 60.0
	[Total for Band 1					\$ 465.1
]						
	ĺ	Band 2					
		Copier	SHARP	MX-C301W SYSTEM2	5	\$ 62.33	\$ 311.6
	f	Scanning	SHARP	INCLUDED	5	\$ -	\$ -
		Network Printing	SHARP	INCLUDED	5	\$ -	\$ -
- 1	!	Fax	SHARP	INCLUDED	5	\$ -	\$ -
		Stap!e	SHARP	n/a	5		\$ -
- 1		Per Copy Maintenance Charge (Color)	SHARP		2,000	\$ 0.04000	\$ 80.00
i		Per Copy Maintenance Charge (Monochrome)	SHARP		4,000	\$ 0.00700	\$ 28.00
- 1		Total for Band 2					\$ 419.65
- 1							
ŀ		Band 3					
[Copier	SHARP	MX-3050N SYSTEM	40	\$ 126,55	\$ 5,062.00
		Scanning	SHARP	INCLUDED	40	\$ -	\$ -
ľ		Network Printing	SHARP	INCLUDED	40	\$ -	ş -
		Fax	SHARP	MX-FX15	40	\$ 10.11	\$ 404.40
0		Staple	SHARP	MX-FN27	40	\$ 17.88	\$ 715.20
) [Per Copy Maintenance Charge (Color)	SHARP				\$ 80.00
~		Per Copy Maintenance Charge (Monochrome)	SHARP				\$ 28.00
		Total for Band 3			,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	V 0.50.05	\$ 6,289.60
		<u> </u>					+ 0,203,00
	Ī	Band 4			-		
	- 1	Copier	SHARP	MX-4050N SYSTEM	40	\$ 159.69	\$ 6,387.60
	1	Scanning	SHARP	INCLUDED		\$ -	\$ -
	- 1	Network Printing	SHARP	INCLUDED		s -	\$ - \$ -
	1	Fax	SHARP	MX-FX15		\$ 10.11	
	ŀ	Staple	SHARP	MX-FN27			
	h	Per Copy Maintenance Charge (Color)	SHARP	1410-11147			
		Per Copy Maintenance Charge (Monochrome)	SHARP			\$ 0.04000	
	-	Fotal for Band 4	PRANT		4,000	\$ 0.00700	\$ 28.00
	F						\$ 7,615.20
-				Lease Price of Color Bands 1		f	

Item No.		Description	Brand Name	Model No.	Est. Quantity	Unit Price Per Monti	Month (Including
-	48 Month Lease	Monochrome					
	ĺ	Band 1					
	ļ	Copier (including maintenance for 0 - 5,000 copies)	SHARP	MX-M266N	30	\$ 65.8	7 \$ 1,976.10
		Scanning	SHARP	INCLUDED	30	\$ -	\$ -
l	İ	Network Printing	SHARP	INCLUDED	30	\$ -	\$ -
	ļ	Fax	SHARP	MX-FX11	30	\$ 7.97	\$ 239.10
	1	Per Copy Maintenance Overage Charge (5,001 and up)	SHARP		500	\$ 0.01080	\$ 5.40
	ì	Total for Band 1	SHARP				\$ 2,220.60
		Band 2					
- 1	l	Copier (including maintenance for 0 - 15,000 copies)	SHARP	MX-M266N SYSTEM	30	\$ 88.30	\$ 2,649,00
J		Scanning	SHARP	INCLUDED	30	\$ -	\$ -
ĺ		Network Printing	SHARP	INCLUDED	30	\$ -	\$ -
- 1		Fax	SHARP	MX-FX11	30	\$ 7.97	
- 1		Staple	SHARP	MX-FN26	30	\$ 12.80	\$ 384.00
ľ		Per Copy Maintenance Overage Charge (15,001 and up)	SHARP		500	\$ 0.00630	
- 1		Total for Band 2			 	-	\$ 3,275.25
ļ					 		3,213.23
ľ		Band 3			1		
- 1		Copier (including maintenance for 0 - 30,000 copies)	SHARP	MX-M316N SYSTEM	80	\$ 101.41	\$ 8,112.80
		Scanning	SHARP	INCLUDED		\$ -	\$ 8,112.80
		Network Printing	SHARP	INCLUDED		\$ -	\$ -
		Fax	SHARP	MX-FX11		\$ 7.97	
		Staple	SHARP	MX-FN26	-	\$ 12.80	
- 1		Per Copy Maintenance Overage Charge (30,001 and up)	SHARP			\$ 0.00710	
		Total for Band 3		 	300	3 0.00710	
-				 	 -		\$ 9,777.95
)	ſ	Band 4		 	-		
10		Copier (including maintenance for 0 - 45,000 copies)	SHARP	MX-M464N SYSTEM	40	\$ 138.79	F F F F F F F F F F F F F F F F F F F
		Scanning	SHARP	INCLUDED			\$ 5,551.60
	Ì	Network Printing	SHARP	INCLUDED			\$ -
	1	Fax	SHARP	MX-FX11		5 -	\$ -
	1	Staple	SHARP	MX-FN17			\$ 318.80
	1	Per Copy Maintenance Overage Charge (45,001 and up)	SHARP	1100-11147			\$ 512,00
		Total for Band 4			500	0.00430	\$ 2.15 \$ 6,384.55
- 1							

		Band 5 Copier (including maintenance for 0 - 60,000 copies) Scanning			1				
				F .		┿		-	
		Scanning	SHARP	MX-M564N SYSTEM	30	+	178.37	-	5,351
			SHARP	INCLUDED	30	\$		\$	
		Network Printing	SHARP	INCLUDED	30	\$		Ś	
		Fax	SHARP	MX-FX11	30	\$	7.97		239
- [Staple	SHARP	MX-FN17	30	\$	12.80	+	384
-		Per Copy Maintenance Overage Charge (60,001 and up)	SHARP		500	\$			2
		Total for Band 5			350	Ť	0.00440	s	5,976
- 1						+-		-	2,270
		Band 6				+		\vdash	
		Copier (including maintenance for 0 - 80,000 copies)	SHARP	MX-M654N SYSTEM	35	s	258.25	s	9,038
- 1		Scanning	SHARP	INCLUDED	35	\$		\$	- 2,030
		Network Printing	SHARP	INCLUDED	35	5		\$	
j		Fax	SHARP	MX-FX11	35	\$	7.97	\$	278
- 1		Staple	SHARP	MX-FN17	35	\$	12.80	s	448.
- 1		Per Copy Maintenance Overage Charge (80,001 and up)	SHARP		500	\$	0.00400	Ś	2.
		Total for Band 6				+	0-00-100	\$	9,767
İ		Band 7				-			
- 1		Copier (including maintenance for 0 - 150,000 copies)	SHARP	MX-M754N SYSTEM	25	\$	306.57		7.551
	Ī	Scanning	SHARP	INCLUDED	25	\$		\$	7,664.
	Ì	Network Printing	SHARP	INCLUDED	25	-		\$	
		Fax	SHARP	MX-FX11	25	\$	7.07	<u> </u>	
		Staple	SHARP	MX-FN17	25	\$	7.97		199.
	Ĩ	Per Copy Maintenance Overage Charge (150,001 and up)	SHARP	WAS NEX	500	.	12.80		320.
	ļ.	Total for Band 7			500	13	0.00420		2.
	1					-		\$	8,185.
	1		Total Monthl	y Lease Price of Monochrome Bands 1:	through 7 for 4	8 Moi	nth Lease	•	45,588.0

Ō

item No.	Order Type	Item Description	Brand Name	Model No.	Est. Quantity	Unit Price Per Month	. ^	Total Price Per fonth (Includin; Maintenance)
خ.	48 Month Lease	Color						
					 	 	+	
		Band 1					1	
	l	Copter	SHARP	MX-C301W SYSTEM1	5	\$ 44.99	9 \$	224.
	1	Scanning	SHARP	INCLUDED	5	\$ -	\$	
	į.	Network Printing	SHARP	INCLUDED	5	\$ -	\$	
	ļ	Fax	SHARP	INCLUDED	5	\$ -	\$	
	ĺ	Per Copy Maintenance Charge (Color)	SHARP		2,000	\$ 0.06000	-	120.
	ľ	Per Copy Maintenance Charge (Monochrome)	SHARP		4,000	\$ 0.01500	_	60.0
	!	Total for Band 1					\$	404.9
							+	1011.
		Band 2			 		┼	
		Copier	SHARP	MX-C301W SYSTEM2	10	\$ 49.17	5	491.7
		Scanning	SHARP	INCLUDED	10	\$ -	s	431.7
		Network Printing	SHARP	INCLUDED	10	\$ -	\$	
- 1		Fax	SHARP	INCLUDED	10	\$	s	
ı,		Staple	SHARP	n/a	10	-	S	
į	[Per Copy Maintenance Charge (Color)	SHARP			\$ 0.04000	\$	
ı	ì	Per Copy Maintenance Charge (Monochrome)	SHARP			\$ 0.00700	\$	0.08
ı		Total for Band 2			4,000	3 0.00700	\$	28.0 599.7
ı	}	Band 3						
- 1	1	Copier	SHARP	LEV GORALI - II-III			└	
	ı	Scanning	SHARP	MX-3050N SYSTEM	$\overline{}$	\$ 99.82	\$	1,996.4
ľ	ľ	Network Printing	SHARP	INCLUDED	20		\$	
- 1	i i	Fax		INCLUDED	20		\$	-
	1	Staple	SHARP	MX-FX15		\$ 7.97	\$	159.40
3.1		Per Copy Maintenance Charge (Color)	SHARP	MX-FN27		\$ 14.10	\$	282.00
6	<u> </u>	Per Copy Maintenance Charge (Monochrome)	SHARP			\$ 0,04000	\$	80.00
	17	otal for Band 3	SHARP		4,000	\$ 0.00700	\$	28.00
	-						\$	2,545.80
- 1	В	and 4						
	Ė	Copler	SHARP					
	- t	Scanning		MX-4050N SYSTEM	50		\$	6,298.00
- 1		Network Printing	SHARP	INCLUDED	50 \$	-	\$	-
	⊢	Fax	SHARP	INCLUDED	50 \$		\$	-
	⊢	Staple	SHARP	MX-FX15	50 \$		_	398.50
		Per Copy Maintenance Charge (Color)	SHARP	MX-FN27	50 \$			705,00
	-	Per Copy Maintenance Charge (Color)	SHARP		2,000 \$		\$	80.00
	17.	otal for Band 4	SHARP		4,000 \$	0.00700	\$	28.00
		TWO IS THE T					\$	7,509.50
\neg				lly Lease Price of Color Bands 11				

<u> </u>	Total Price for All Items	
ltem 1	Total Purchasing Price of Monochrome Bands 1 through 7	\$ 576,944.80
Item 2	Total Purchas Price of Color Bands 1-4	\$ 132,179.00
13	Total Monthly Lease Price of Monochrome Bands 1 through 7 for 24 Month Lease	\$ 9,280.10
Item 4	Total Monthly Lease Price of Color Bands 1 through 4 for 24 Month Lease	\$ 3,788.70
Item 5	Total Monthly Lease Price of Monochrome Bands 1 through 7 for 36 Month Lease	\$ 36,421.35
ltem 6	Tota! Monthly Lease Price of Color Bands 1 through 4 for 36 Month Lease	\$ 14,789.60
ltem 7	Total Monthly Lease Price of Monochrome Bands 1 through 7 for 48 Month Lease	\$ 45,588.05
item 8	Total Monthly Lease Price of Color Bands 1 through 4 for 48 Month Lease	\$ 11,059.95
Total Ove	erall Bid Price for All Items	\$ 830,051.55

Vondor	Information:

Vendor Name: Sharp Electronics Corporation

Contact Name: Nicki Calcagni

Address: 100 Paragon Drive Montvale, NJ 07645

Phone No.: 301-466-6219

Authorized Signature:

Sr. Vice President SIICA Sales

SHARP.

State of West Virginia - Accessory Pricing Solicitation # SWC1700000008-DIGCOP17

Category	Model	Description and Machine Compatibility	Purchase Pricing	24 Month	36 Month	48 Month			
Black &			Tribing	HIGHE	WOILI	WOTHER			
1 & 2	MX-M266N	26 PPM Advanced Digital Duplex Copier							
3	MX-M316N								
	MX-AMX2SPC	Sharp OSA Application Communication Module Requires MX-HD15	\$197.00	\$8.75	\$6.15	\$4.8			
	MX-AMX3SPC	Sharp OSA External Accounting Module Requires MX-HD15	106.00	4.71	3.31	2.6			
	MX-CS12	1 x 500 drawer 4th Tray only (Requires MX-CS13)	106.00	4.71	3.31	2.6			
	MX-CS13	1 x 500 drawer motorized 3rd Tray only	245.00		7.64	6.0			
	AR-DS20	Deluxe Copier Cabinet - (1 Door, for use with MX-CS12/CS13)	101.00	4.48	3.15	2.49			
	AR-DS19	Deluxe Copier Cabinet with Door - (For use with base model)	128.00	5.68					
	MX-FN26	2 - Tray Staple/Stacker Finisher	520.00	23.09	L	3.1			
	MX-FR50U	Data Security Kit (NOT Common Criteria Certified) (requires MX-HD15)	249.00		16.22	12.8			
	MX-FWX1	Internet Fax Kit requires HD15		11.06	7.77	6.13			
	MX-FX11	Facsimile Expansion Kit	218.00	9.68	6.80	5.3			
	MX-HD15	Hard Drive Expansion Kit	324.00	14.39	10.11	7.9			
	MX-PF10	Bar Code Font Kit	154.00	6.84	4.80	3.79			
	MX-PK11SPC	PS3 Expansion Kit	271.00	12.03	8.46	6.67			
	MX-TR17		175.00	7.77	5.46	4.31			
	MX-TR18	Exit Tray Requires FN26 Job Separator Tray	80.00	3.55	2.50	1.97			
	AR-SU1		27.00	1.20	0.84	0.66			
	AR-D5133NT	Stamp Unit (requires AR-SV1 Stamp Cartridge)	82.00	3.64	2.56	2.02			
	AK-D3133N1	15 AMP Power Filter	114.00	5.06	3.56	2.81			
4	MX-M464N	46 PPM Multifunctional Digital Copier/Printer			-				
5	MX-M564N	56 PPM Multifunctional Digital Copier/Printer							
	MX-36ABD	Deluxe Copier Cabinet	\$97.00	\$4.31	\$3.03	\$2.39			
	MX-DE12	1 x 500 Sheet Paper Drawer	276.00	12.26	8.61	6.79			
()	MX-DE13	2 x 500 Sheet Paper Drawer	329.00	14.61	10.27	8.10			
	MX-DE14	3 x 500 Sheet Paper Drawer	516.00	22.91	16.10	12.70			
	MX-DE20	2500 Sheet Tandem Paper Drawer	701.00	31.13	21.87	17.25			
	MX-LC11	3,500 Sheet Large Capacity Tray	552.00	24.51	17.22	13.59			
	MX-LT10	Long Paper Tray (For use with Banner Paper)	85.00	3.77	2.65	2.09			
	MX-FN17	Inner Finisher	520.00	23.09	16.22	12.80			
	MX-FN10	3 Tray Saddle Stitch Finisher Requires MX-RB22	1,210.00	53.73	37.75	29.78			
	MX-FN11	4k Stacking Finisher Requires MX-RB22	1,371.00	60.88	42.78	33.74			
	MX-FN18	4K Saddle Stitch Finisher requires MX-RB22	2,752.00	122.20	85.86	67.73			
	MX-RB22	Paper Pass Unit Required with MX-FN10 / FN11 / FN18	220.00	9.77	6.86	5.41			
	MX-PNX5B	3 Hole Punch Module for MX-FN10	286.00	12.70	8.92	7.04			
	MX-PNX6B	3 Hole Punch Module for MX-FN11 / FN18	286.00	12.70	8.92	7.04			
-	MX-PN11B	3 Hole Punch Module for MX-FN17	286.00	12.70	8.92	7.04			
	MX-TR13N	Exit Tray Unit	80.00	3.55	2.50	1.97			
-	MX-TU12	Center Exit Tray	43.00	1.91	1.34	1.06			
	MX-FWX1	Internet Fax Kit	218.00	9.68	6.80	5.37			
	MX-FX11	Facsimile Expansion Kit with 8MB Memory	324.00	14.39	10.11	7.97			
	MX-PUX1SPC	XPS Expansion Kit (requires MX-565XPS1GB / SHP2GBXPS Memory Upgrad	303.00	13.45	9.45				
	MX-PF10	Bar Code Font Kit	271.00	12.03	8.46	7.46			
_	AR-SU1	Stamp Unit (Requires AR-SV1)	82.00	3.64	2.56	6.67 2.02			
	VIX-EB12N	Mirroring Kit	377.00	_					
	MX-FR45U	Data Security Kit MX-M464N / M564N	249.00	16.74 11.06	7.77	9.28			
	MX-SHP2GBXPS	2 GB Memory Upgrade (required for MX-PUX1) MX-M464N / M564N	213.00			6.13			
	VIX-AMX2SPC	Sharp OSA Application Communication Module MX-M464N / M564N	197.00	9.46	6.65	5.24			
	MX-AMX3SPC	Sharp OSA External Accounting Module MX-M464N / M564N	106.00	8.75	6.15	4.85			
	MX-AM10	Web Browsing Kit MX-M365N / M465N		4.71	3.31	2.61			
—	MX-KB14N	Key Board Kit MX-M464N / M564N	218.00	9.68	6.80	5.37			
	MX-PK11SPC	PS3 Expansion Kit MX-M464N / M564N	298.00 175.00	13.23	9.30	7.33			
	AR-D5133NT	15 AMP Power Filter		7.77	5.46	4.31			
[/	77-50100141	LO VIAN LOWER LINE	114.00	5.06	3.56	2.81			

SHARP.

State of West Virginia - Accessory Pricing Solicitation # SWC1700000008-DIGCOP17

			Purchase	24	36	48		
Category	Model	Description and Machine Compatibility	Pricing	Month	Month	Month		
6	MX-M654N	65 PPM Monochrome Workgroup Document System						
7	MX-M754N	75 PPM Monochrome Workgroup Document System						
	MX-LC15	3,500-sheet Large Capacity Cassette (Letter)	\$552.00	\$24.51	\$17.22	\$13.59		
	MX-LC16	3,000-sheet Large Capacity Cassette (Letter, Letter-R, Legal, Ledger or 12" x 18")	1,350.00	59.95	42.12	33.22		
	MX-LT10	Long Paper Feeding Tray (for use with Banner Paper)	85.00	3.77	2.65	2.09		
	MX-FN17	Inner Finisher (requires MX-RB24) (No Hole Punch Capability)	520.00	23.09	16.22	12.80		
	MX-FN19	50-sheet Staple Finisher (4,000-sheet output capacity; requires MX-RB23)	1,450.00	64.39	45.24	35.69		
	MX-FN20	50-sheet Staple/15-sheet Saddle Stitch Finisher (4,000-sheet output capacity; requires MX-RB23)	2,194.00	97.42	68.45	54.00		
	MX-FN21	100-sheet Staple Finisher (4,000-sheet output capacity; requires MX-RB23 and MX-RB15)	3,121.00	138.59	97.38	76.81		
	MX-FN22	100-sheet Staple/20-sheet Saddle Stitch Finisher (4,000-sheet output capacity; requires MX-RB23 and MX-RB15)	4,401.00	195.42	137.31	108.31		
	MX-CF11	2 Tray Inserter Unit	1,628.00	72.29	50.79	40.07		
	MX-FD10	Multi-folding Unit	6,483.00	287.87	202.28	159.55		
	MX-RB13	Relay Unit	467.00	20.74	14.57	11.49		
	MX-RB15	Curl Correction Unit (required for MX-FN21 and MX-FN22)	467.00	20.74	14.57	11.49		
	MX-RB23	Paper Pass Unit (required for MX-FN19 / FN20 / FN21 / FN22)	220.00	9.77	6.86	5.41		
	MX-RB24	Paper Pass Unit (required for Inner Finisher)	220.00	9.77	6.86	5.41		
	MX-TM10	Trimmer Unit (Optional with MX-FN22 Saddle Finisher)	2,776.00	123.27	86.61	68.32		
	MX-PN12B	3-Hole Punch Unit (for use with MX-FN19 and MX-FN20)	393.00	17.45	12.26	9.67		
	MX-PN13B	3-Hole Punch Unit (for use with MX-FN21 and MX-FN22)	420.00	18.65	13.10	10.34		
	MX-TR16	Right Side Exit Tray	80.00	3.55	2.50	1.97		
	MX-TU15	Center Exit Tray (required if no finishing options are selected)	43.00	1.91	1.34	1.06		
	AR-SU1	Stamp Unit (requires AR-SV1 Stamp Cartridge)	82.00	3.64	2.56	2.02		
	MX-PF10	Barcode Font Kit	271.00	12.03	8.46	6.67		
	MX-PUX1SPC	XPS Expansion Kit	303.00	13.45	9.45	7.46		
	MX-565XPS1GB	1 GB Memory Upgrade (required for MX-PUX1)	213.00	9.46	6.65	5.24		
	MX-FX11	Fax Expansion Kit	324.00	14.39	10.11	7.97		
	MX-FWX1	Internet Fax (i-Fax) Expansion Kit	218.00	9.68	6.80	5.37		
- 1	MX-EB12N	Mirroring Kit	377.00	16.74	11.76	9.28		
ſ	MX-FR47U	Data Security Kit (Commercial version)	249.00	11.06	7.77	6.13		
[AR-D5133NT	15 AMP Power Filter MX-FN21 and MX-FN22	114.00	5.06	3.56	2.81		
	AR-D5143NT	20 AMP Power Filter	125.00	5.55	3.90	3.08		
Neo Seri	es		N 1 1 1 1 1		157			
1C / 2C	MX-C301W	30 PPM B&W / Color - Desktop Color Workgroup Document System						
	MX-25ABD	Deluxe Copier Cabinet	73.00	3.24	2.28	1.80		
ļ.	MX-CS11	500 Sheet Paper Feed Unit	170.00	7.55	5.30	4.18		
	MX-FR46U	Data Security Kit	342.00	15.19	10.67	8.42		
Ī	MX-PUX1SPC	XPS Expansion Kit	303.00	13.45	9.45	7.46		
1-	MX-SHP2GBXPS	1GB Memory (Required for MX-PUX1)	213.00	9.46	6.65	5.24		
	AR-PF1	Barcode Font Kit	271.00	12.03	8.46	6.67		
le le	MX-FWX1	Internet Fax Expansion Kit	218.00	9.68	6.80	5.37		
-	AR-D5133NT	15 AMP Power Filter	114.00	5.06	3.56	2.81		

SHARP.

State of West Virginia - Accessory Pricing Solicitation # SWC1700000008-DIGCOP17

Category	Model	Description and Machine Compatibility	Purchase Pricing	24 Month	36 Month	48 Month
Color						
3C	MX-3050N	30 PPM B&W / 30 PPM Full-Color Workgroup Document System				
4C	MX-4050N	40 PPM B&W / 40 PPM Full-Color Workgroup Document System				
	AR-SU1	Stamp Unit	\$82.00	\$3.64	\$2.56	\$2.02
	MX-60ABD	Deluxe Copier Cabinet	129.00	5.73	4.02	3.17
	MX-AMX2SPC	Sharp OSA Application Communication Module (MX-3050N / 4050N)	197.00	8.75	6.15	4.85
	MX-AMX3SPC	Sharp OSA External Accounting Module (MX-3050N / 4050N)	106.00	4.71	3.31	2.61
	MX-DE25	1 x 550 Sheet Paper Feed Desk Unit	276.00	12.26	8.61	6.79
	MX-DE26	2 x 550 Sheet Paper Feed Desk Unit	329.00	14.61	10.27	8.10
	MX-DE27	3 x 550 Sheet Paper Feed Desk Unit	516.00	22.91	16.10	12.70
	MX-DE28	550+2100 Sheet Tandem Paper Drawer	701.00	31.13	21.87	17.25
	MX-DE29	1 x 550-sheet Paper Drawer (wheelchair access)	276.00	12.26	8.61	6.79
	MX-EB11	Enhanced Compression Kit (MX-3050N / 4050N)	307.00	13.63	9.58	7.56
	MX-EB18	Wireless LAN Adaptor (MX-3050N / 4050N)	207.00	9.19	6.46	5.09
	MX-FN27	Inner Finisher 50 Sheet Stapler 500 Sheet Capacity	573.00	25.44	17.88	14.10
	MX-FN28	1K Stacking Finisher (requires MX-RB25)	998.00	44.32	31.14	24.56
	MX-FN29	1K Saddle Finisher (requires MX-RB25)	1,210.00	53.73	37.75	29.78
	MX-FN30	3K Stacking Finisher (requires MX-RB25)	1,371.00	60.88	42.78	33.74
	MX-FN31	3K Saddle Finisher (requires MX-RB25)	2,646.00	117.49	82.56	65.12
	MX-FR51U	Data Security Kit (Commercial Version) MX-3050N / 4050N)	342.00	15.19	10.67	8.42
	MX-FWX1	Internet Fax Kit	218.00	9.68	6.80	5.37
	MX-FX15	Facsimile Expansion Kit	324.00	14.39	10.11	7.97
	MX-LC17	3,000 Sheet Large Capacity Tray Requires MX-DE25 / DE26 / DE27 / DE28 (Not compatible with MX-60ABD)	552.00	24.51	17.22	13.59
	MX-LT10	Long Paper Tray (For use with Banner Paper)	85.00	3.77	2.65	2.09
2	MX-PF10	Bar Code Font Kit	271.00	12.03	8.46	6.67
	MX-PK13SPC	Post Script Expansion Kit (MX-3050N / 4050N)	175.00	7.77	5.46	4.31
	MX-PN14B	3 Hole Punch Module for MX-FN27	286.00	12,70	8.92	7.04
	MX-PN15B	3 Hole Punch Module for MX-FN28 / FN29	286.00	12.70	8.92	7.04
	MX-PN16B	3 Hole Punch Module for MX-FN30 / FN31	286.00	12.70	8.92	7.04
	MX-PU10SPC	Direct Print Expansion Kit (MX-3050N / 4050N)	456.00	20.25	14.23	11.22
	MX-RB25	Paper Pass Unit Required with MX-FN28 / FN29 / FN30 / FN31	220.00	9.77	6.86	5.41
	MX-TR19	Exit Tray Unit (right side)	80.00	3.55	2.50	1.97
[MX-TR20	Job Separator	27.00	1,20	0.84	0.66
	MX-TU16	Center Exit Tray Unit (Required if Finisher not installed)	43.00	1,91	1.34	1.06
[MX-UT10	Utility Table	80.00	3.55	2.50	1.97
Ĭ,	AR-D5133NT	15 AMP Power Filter (MX-3050N / 4050N)	114.00	5.06	3.56	2.81



Purchasing Affidavit

STATE OF WEST VIRGINIA Purchasing Division

PURCHASING AFFIDAVIT

MANDATE: Under W. Va. Code §5A-3-10a, no contract or renewal of any contract may be awarded by the state or any of its political subdivisions to any vendor or prospective vendor when the vendor or prospective vendor or a related party to the vendor or prospective vendor is a debtor and: (1) the debt owed is an amount greater than one thousand dollars in the aggregate; or (2) the debtor is in employer default.

EXCEPTION: The prohibition listed above does not apply where a vendor has contested any tax administered pursuant to chapter eleven of the W. Va. Code, workers' compensation premium, permit fee or environmental fee or assessment and the matter has not become final or where the vendor has entered into a payment plan or agreement and the vendor is not in default of any of the provisions of such plan or agreement.

DEFINITIONS:

"Debt" means any assessment, premium, penalty, fine, tax or other amount of money owed to the state or any of its political subdivisions because of a judgment, fine, permit violation, license assessment, defaulted workers' compensation premium, penalty or other assessment presently delinquent or due and required to be paid to the state or any of its political subdivisions, including any interest or additional penalties accrued thereon.

"Employer default" means having an outstanding balance or liability to the old fund or to the uninsured employers' fund or being in policy default, as defined in W. Va. Code § 23-2c-2, failure to maintain mandatory workers' compensation coverage, or failure to fully meet its obligations as a workers' compensation self-insured employer. An employer is not in employer default if it has entered into a repayment agreement with the insurance Commissioner and remains in compliance with the obligations under the repayment agreement.

"Related party" means a party, whether an individual, corporation, partnership, association, limited liability company or any other form or business association or other entity whatsoever, related to any vendor by blood, marriage, ownership or contract through which the party has a relationship of ownership or other interest with the vendor so that the party will actually or by effect receive or control a portion of the benefit, profit or other consideration from performance of a vendor contract with the party receiving an amount that meets or exceed five percent of the total contract amount.

AFFIRMATION: By signing this form, the vendor's authorized signer affirms and acknowledges under penalty of law for false swearing (*W. Va. Code* §61-5-3) that neither vendor nor any related party owe a debt as defined above and that neither vendor nor any related party are in employer default as defined above, unless the debt or employer default is permitted under the exception above.

WITNESS THE FOLLOWING SIGNATURE:

Vendor's Name: Shar	p Electronics Cor	rporation	
Authorized Signature:	aungslack	12/	Date:/4/17
State ofNew Jers	ey		
County of Bergen	, to-wit:		
Taken, subscribed, and sv	worn to before me this $rac{4}{}$ d	ay of January	, 20
My Commission expires _	October 21	, 20 _21.	
AFFIX SEAL HERE		NOTARY PUBLIC _	Lucy A. Jarvis Purchasing Amedian (Revised 08/01/2015)

LUCY A JARVIS
Commission #50047555
Notary Public, State of New Jersey
My Commission Expires
October 21, 2021



Designated Contact

DESIGNATED CONTACT: Vendor appoints the individual identified in this Section as the Contract Administrator and the initial point of contact for matters relating to this Contract.

Nicki Calcagni
(Name, Title) Industry & Government Account Manager
(Printed Name and Title)
100 Paragon Drive, Montvale, NJ 07645
(Address)
301-466-6219
(Phone Number) / (Fax Number) calcagnin@sharpsec.com
(email address)

CERTIFICATION AND SIGNATURE: By signing below, or submitting documentation through wvOASIS, I certify that I have reviewed this Solicitation in its entirety; that I understand the requirements, terms and conditions, and other information contained herein; that this bid, offer or proposal constitutes an offer to the State that cannot be unilaterally withdrawn; that the product or service proposed meets the mandatory requirements contained in the Solicitation for that product or service, unless otherwise stated herein; that the Vendor accepts the terms and conditions contained in the Solicitation, unless otherwise stated herein; that I am submitting this bid, offer or proposal for review and consideration; that I am authorized by the vendor to execute and submit this bid, offer, or proposal, or any documents related thereto on vendor's behalf; that I am authorized to bind the vendor in a contractual relationship; and that to the best of my knowledge, the vendor has properly registered with any State agency that may require registration.

Sharp Electronics Corporation
(Company)
Taunfblackner
(Authorized Signature) (Representative Name, Title)
Laura Blackmer, Sr. Vice President SIICA Sales
(Printed Name and Title of Authorized Representative)
1/4/17
(Date)
201-52-8529
(Phone Number) (Fax Number)